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� �������	� �� N > 0 �	
 2��

‖xm − xn‖ ≤ ε" ��� m, n ≥ N,

�������� �3���� �� �
� ���� x ∈ X �	
 2��

ĺım
n→∞ ‖x− xn‖ = 0.

�&
� �����
��� {xn} 
� �
 ������� ������� X �� �
� ����� 
� '���(" �� ������ !�� ����
����!���� ε > 0 ������ �
 N > 0 ��� !�� d(xn,xm) < ε ���� ����!���� m, n > N �
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�
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��8�	�	�� $�< 94����	� 
� 1����=: �� �����
� �
���� ������� ��������
�� �����
�� �����
� �� /����.�

��8�	�	�� $�% 94����	� 
� >	�����: �� �����
� �
���� ������� ��������
��� �� �������� 
������ �� �����
�� �����
� �� 0
�%����

�
����� �1� �
�� 
� ���	��� 
� (�
���� ����

)
 ���1���� 
� ��
	� 
	� ��������	� 
� ������	 !���	
∑

i |xi|2 < ∞" ���

	� ����	������ 0	����	
�� 
� �� 	 ' ���
���� ���	
	� ' ��� �
 ���
����
������� 
�!��
� ��� 〈x,y〉 =

∑
i xiyi" ��������'� �� ���	��� 
� (�
����" '

�� 
����	 �� � l2 �

)
 ���1���� 
� ��
	� 
	� #�������� 
�!��
	� �� �
 �����%	
� [a, b]" ��	=

�����	 ���� ������	�
��" ��� �
 ���
���� ������� 
�!��
� ��� 〈f, g〉 =∫ b

a
f(x)g(x)dx ' 
	 ��� 	 ‖f‖2 = 〈f, f〉 =

∫ b

a
|f(x)|2dx" ��������'� ��

���	��� 
� (�
����" ' �� 
����	 �� � L2 [a, b]�

���� �����	�
�	�
 	
������
�	�
 � �����
��

)
 ��	�	 ����� 
�
  ������� 
��
� �
 ����� 
� %���	 
� �������
	���� 'T�
	���3� 	���� 0	�� �����	��� �����
���� ��	 ����� 
� 
�!�������� 2�� 	�
	��� 
	
��� ���
���	 	 ���
��	� 	 
� 
	��� 
� ���	 ������
)
 ����
� 	 
� 
	 	���3� 	���� #������	
 �������� �� �������	� ��	 #������

P (x) 
� 
	 #�� 	

P (x) =
n∑

k=0

akΦk(x)

2�� �� .�	����	/ 
�  �� �����
� 	 ��	 #������ f(x) 
	
	 �3�
����	 ����" ��'�
%	
��" ' �����
� ���� �
 
� ��� 
���%	
	�" �� ������
� �� ��
� ����� 
�
 �����%	
�
[a, b]� )
 �	����
� ����� 
	 #������ ��1���%� f(x) ' 
	 ��
����� P (x) �� �%	
�	
�� #������ 
� �����	  9����	" 2�� 
���� ��	�� 
	 �9����	 
� 	���3� 	���� 	
���
��	�� )� 
	 7����	 4�H�	 �� ���
� �����%	� �� ��
��� �� 
� ������ ��
�� 2��
	���3� 	 	 
	 #������ tan (x)�
��� ���� 
	
�" 
	 �������
	���� �������� �� �������	�" �	�����
� 
� �� ���=

1���� 
� N �	��� 
� %	
���� (xi, yi)" ��	 #������ P (x) 
� 
	 #�� 	

P (x) =
n∑

k=0

akΦk(x)

2�� �� �
	
P (xi) = yi, i = 1, 2, . . . , N. :4�H;
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a) b) c)

.	���� $�#� 	; ����3� 	����" �; �������
	���� ' �;  �
�
	
��

)��� ������� �� ���
� �����%	� �� 7����	 4�H��" 
��
� �� ��
��� �� 
�
������ ��
�� �������
	 ��	��� ������� )� 
	 �������
	����" �
 �� ����	 �����

� 
	 ��
����� ����� 
�� ������ 
� �������
	���� 
����
� 
� 
	 #������ �	��
��	
	 :��
��� ��� �� �
 �1� �
�;�
��� �
 �9� ���  �
�
	
� ��� ��#����� �� 	
 ������� 2�� �� 
	 
����	���	

�	 ��9� �� 
��� ��	 	���3� 	���� 
������	 � 	���3� 	���� 
� 
	���� �	�����
�

� �� ���1���� 
� N �	��� 
� %	
���� (xi, yi)" �� ����	 ��	 #������ P (x) 
� 
	
#�� 	

P (x) =
n∑

k=0

akΦk(x)

2�� 	���3� � 	 
�� 
	���" �� 
����"

P (xi) = yi + εi, i = 1, 2, . . . , N ;

����
� �
 ����� 
�  �
�
	
�" εi"  ��� � :�� #������ 
� ��	  9����	 
���� ��	=

	;�
)� 
	 7����	 4�H�� ��  �
�
	 �� ���1���� 
� ������ ���
���� :��'� �� ���

�� �������� 	 
�� ��	
�� 
� 
�����	
 
� 
	 ��
�����;  �
�	��� �� ��
��� �� 
�
������ ��
���
���
� �� ����� 
� %���	 ��������	
" 
	 ����	 
�#������	 ����� 
	 	���3� 	=

���� ' �
  �
�
	
�" �	
 ' �� � �� 
�!��� �� ���	 �����" �� 2�� �� �
  �
�
	
� ��

�������� �
 %	
�� 
� 
	 #������ #���	 
� 
�� ������ 
	�� 
� 2�� �� 
������" 
��
��	
��" 	
� ��" ���
�� ������ ������ ��%�
 
� ���
�� )� ��	��� 	 
	 	���3� 	=
���� ' 
	 �������
	����" �� �����
� ���	�
���� �� �����  	��� ������� �	�	
� ��
���	���� 
� (�
���� 2�� ���
��� 	 ��� ���������" �� � �� %��� ��������� �����
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������ ������	��
 ��	� ���
��������

 � ������	����



� 
� 
	��� 
� ���� �	����
� �� ��	�	1	�� ��� �
 ���	��� :
���	
; 
� 
�� ��
�=
�� ��� 
� ��
�� n ��� ���!������� ��	
�� 
�!��
� �� �

Pn =

{
pn(x) =

n∑
i=0

cix
i; c0, . . . , cn, x ∈ R

}
.

)3�����  �
���
�� �	�����" 	 �
�	 ���� ��	�	
	� �� 
	 ���
����	#�	 :���
�1� �
�" P��0� 	E��OH" ,	
����JOQ;" 2�� 1����!�	� 
	 �������%	 ���
��	���� 
�

�� ��
��� ��� �� � #�������� �������
	
��	�" 	���3� 	
��	� �  �
�
	
��	��
)� ���� ������
� 2�� ��	 
���	 ���
� 0	����� �	�	� ��� 
�� ������" ��	

�	����
	 ��� ���� ������" �� ��
��� �� ������ ��� ��	���" ' 	�� ������%	 �����
)��� 0��0� �� �3����	  �� #�� 	
 ���� �� �� 	������ ����� 	 P�	%��JLQ�

�����
� $�# 9����������	�� 6��	��
	��: 1
 �� ����
����� n + 1 ������
�
��
���� x0, . . . , xn � n + 1 	������ y0, . . . , yn �"
��� �� $�
�� ���
���
� ��
&���� n� pn(x) ∈ Pn� ���� �� ����

pn(xi) = yi, i = 0, 1, . . . , n;


� ��	
 ������� 
	 ���
��	���� 
� #�������� ��
��� ��	� �� � �������
	
��	�"
���� ��� ��� ���� �����
� �������	� �
 ��
��� �� 
� ��	
� n 2�� �	�	 ��� n+1
�������
��� ���� 
	
�" �
 ����� 	 
� 	���3� 	���� 
� G�������	�� ���	�
��� 2��

��� ��� �� �����
� ��	
��	� ��	 	���3� 	���� ��
��� ��	 
� ��	 #������ ���=
����	 �	� �3	��	 �� � �� 
���� ���  �� 2�� 	� ���	� �
 ��	
� 
�
 ��
��� ��
�������
	
�� �	��� �� � ��	 �����	���� �� #�� 	  �� �������	�

�����
� $�$ 9-���5	
��	�� 
� ?�	��������: 1�� ��� (���
)� ����
���
�� �� 
����	��� [a, b]� �� ���
�� f(x) ∈ C[a, b]� ���� �� ε > 0 �� ���
%�� ���������
�� ���
���
� pn(x) ��� &���� �� �
��������� ����� ���� �� ����

|f(x)− pn(x)| ≤ ε, a ≤ x ≤ b.

��� � �	���" ���� ����� 	 
��� ��� �����
��	
� ��� �	���
	 ����" ��� ��

	
�" �
 ��	
� 
�
 ��
��� �� �� �����	
 ����  �' 	
�� :���
��� �	�	 ������� ��
��%�
 
� ��������� ��
	��%	 ���� �	1�; '" ��� ���� 
	
�" �� ������!�	 �
  9��
�
�	�	 �������	� �
 ��
��� �� ���� ��
8	 �3��	��
��	��	 
�#����� 
� 
�� ��
��� ��� �	 ��9� �� 
���" �� ��	�  �=


�
	" 	 
	 ������
�
	
 2�� ����
	� �	�	 �%	
�	� �
 %	
�� �� �� ����� 
� ��	
#������ 	�	
����	 	�����	��	 �� �	�� 	 �� 
��	���

� �� ����� 
� �	'
��" �
 ��	
"
�� � �� ���� ������
�" �� �	�	 �� #�������� ��
��� ��	��
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�����
� $�& 9������: ���� ��� (���
)� ����
��� � ��� ���
	���� ����
����
.���� ����� n + 1 �� �� 
����	��� [a, b]� �� ���
�� f(x) ∈ Cn+1[a, b]� � �� �����
x0 ∈ [a, b] �������� ���� ���� a ≤ x ≤ b�

f(x) =f(x0) + f (1)(x0)(x − x0) +
f (2)(x0)

2!
(x− x0)2 + · · ·

+
f (n)(x0)

n!
(x − x0)n +

1
n!

∫ x

x0

f (n+1)(t)(x − t)ndt.

*��	 �	�	���������	 �������	��� 
� 
�� ��
��� ��� �� 2�� �� 
���%	����" ��
������	���� ' �
 ���	
	
� � 
���
	�	 ����� 
� 
	 %	��	�
� ��
����
����� ���=
�������	� �� � ����
�	
� ��
��� ���� ��� �������	 ����" �� p(x) ' q(x) ���
��
��� ���" �������� �	 ��9� 
� ��� p(x + α)" p(αx)" dp(x)/dx"

∫
p(x)dx '

p(q(x))�
�� 	�	
� �� 
	 #	��
�
	
 ��� 
	 2�� 
	� #�������� ��
��� ��	� ���
�� ��� �%	=


�	
	� :�� �
� ����  �
�	��� ����	������ 	��� 9���	� 2�� �� ��	
��	� 
� #�� 	

�����	 �� �� ���	
���� 
����	
��; '  	����
	
	� :��� �1� �
�" 
���%	���� �
������	����;" �� �	���	�
� �����
��	� 
��0	� #�������� �� � �	�
�
	�	� �	�	
��� ��
��	
	� �� �������
	����" 	���3� 	���� �  �
�
	
�� �  �
� 
� �1� �
�"
�� �
 � ���� 
�
 ��	�	 ����� 
� ���	
 
�� ��
��� ��� �� 0	� � �
�	
� �� 	�
�=
�	������ 
� �
	��!�	����" 	��'��
��� �� �
 ����� 	 
� ��%�� P(	'E��K6Q" �	�	
��	
��	� ��  	��� �� 
���	
 
�
 ���	��� 
� ����	
	 	 �� ���%� ���	��� 
�  	'��

� ������ ��� �
 !� 
� ��
�� 

�%	� 	 �	�� 
	 �
	��!�	���� 
� #�� 	  �� �� �
��
������	� 2�� 
�� !
���� 
���	
�� ��� 
� ���
�
	
 �� ��	� �� ��� 
� 	�
��	������
' ����
�	� �� �
�� �	��� 
��
� �
 ����� 
� %���	 ��������	
 �� � 
� 
	 � �
�=
 ���	����" �3����� �����	� ����	������ �������	� 2�� ������	� 
�
 ������	
� ��

���	
 
� 
	� ���	
�� 2�� �����%������ )� P�	�0�D�KH" �	��	
���KL�Q �� �������=
�	� ��
��� ��� 	 !
���� 	
	��	��%�� �� 
���	
�� ' 	
  �
�
	
� �� 
���	
� ���" ��
�������� ����� 	� �� 
���	
�� �	�	
�� �� ����� 
� <�
����	 P��0�����O5Q ����=
�	
	 � �� ���	������ �� 
�#������	� �� 
���	
�� �������%	�� )� �����
� �������	�
���	� 	�
��	������ 
� 
�� ��
��� ��� �� P�	�0�D�55Q�
)� 
	� ���3� 	� ��������� �� 

�%	�� 	 �	�� �� ���	�� 
� 
	� 
������	� �9����	�


� 	���3� 	����" �������
	���� '  �
�
	
�" ��� ������	
 9�#	��� �� 	2��

	� 2��
� �
�	� ��
��� ����

��!� �����	�
�	�


�	
	 ��	 #������ ������
	" �
 ����
� 	 
� 	���3� 	���� �������� �� ��=
�����	� ��	 #������ . �� �� �
�/ 2�� 
	 ������	
 2�� ��� ��	 
���� ��	� :��=
���
� ���� ��� ������ �����; %	
���� 
� 
	 #������ 
	
	� 8	 �� �
���
	
 
� 
	
��
����� �� ���
� ��#���� 	 
	 #	��
�
	
 �	�	 ��� �%	
�	
	" �	�	 ��� ������	
	
� 
���%	
	 � ��	
2���� ���	 �	�	���������	 2�� ���
	 ����
�	� �������	���� 8	
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	���3� 	���� �����" #��
	 ���	
 ����" �� �����9� �������" ����" �� � �� 0	
�� ���	
�" �� ������� ������� �3�
����	 ���� 
	 #������ 	 	���3� 	�� $� �1� =
�
� 
� 	�
��	���� �� 
	 ������	���� � 
���%	���� �� 9���	 � 
	 �%	
�	���� 
�
#�������� ��  �2���	� �	
��
	
��	�� ��9�����" ��� �1� �
�" �� �
 ��
��
� 
�

%	
�� 
� 
	 #������ cos(x) �� �� ����� x0� �� �� ��������	 ��	 #������ ��
���=
 ��	 2�� 	���3� �" ��� �� ����� 
���� ��	
�" 
	 #������ �� �
 ������� 
� x0"
��
�� �� ������� �� %	
�� ��	
��	�
� ����	 ����  �
���
��	������ ' �� 	��
� ���	� 
� ���	� 
� ��	������" 
	 	���3� 	���� ����� �� �����9� 	
�����	
"

���� �� ��	 #	 �
�	 
� #�������� :��
��� ��	�" �	����	
��" ����� 
� 7������" ����;
����������	 ��	 	���3� 	���� 	
���	
	" ��������"  �' ����	�
� ����" ����
��	 #	 �
�	 
� #�������� 2�� ����������� ����	� �����	������ 	 
	 0��	 
�
�������
	� �  �
�
	� 
	����
�� ��	  	���	 #�� 	
" �� ������
� ��� 	���3� 	����" �	 ��9� 
��� ��	
	

	���3� 	���� #������	
 �� 
	 
����	���	  	�� ����	" 	
 ������� ��� �
 ��	
 
	
	
��	 #������ f(x) 
� #�� 	 �3�
����	" �� ����	 ��	 #������ P (x)" �������������
	 
	 �
	�� 
� #�������� {Φk(x)}" 2�� �� ����-�� 
�  �� �����
� 	 f(x)" �� 
�����

P (x) =
n∑

k=0

akΦk(x) ≈ f(x). :4�4;

+�� ��#����� �� ����	 ���� 	 	���3� 	������ 
� ���� 
���	
" �� �
	��� 	 
	
�3������� :4�4;" �� 
	� 2�� 
	 	���3� 	����" P (x)" �� ��	 �� ���	���� 
���	
 
�

	� #�������� 	���3� 	
��	�" {Φk(x)}� )
 	��
���� 
� 	���3� 	������ �	�	
	�
�� �� ���	������ �� 
���	
�� 
� 
	� #�������� �	�� �� 
� ��	 �� �
�1�
	
  �'
�������� 	 
	 
�
 �	�� 
���	
" ' �� ����
�� �� 	�	��	 
�
 ��1���%� 
� ���	 ������
)
 �	����
� ����� 
	 #������ ��1���%�" f(x)" ' 
	 ��
�����" P (x)" �� �%	
�	 ��
#������ 
� �����	  9����	" 2�� 
���� ��	�� �
 ���� 
� 	���3� 	�����
�
� �� 
� ��	 �
������ 	�����	
	 
� 
	� #�������� �	�� {Φk(x)}" �
 �����

�����	
 	 
	 0��	 
� ����
%�� �� ����
� 	 
� 	���3� 	���� �� �
 �������� 	 ��	�
�	�	 ������� 
	� �����	���� ak �� :4�4;� )� �	�� 	 
��0� �������� �� �����
�
��	
��	� ��	 �
	��!�	���� 
�
 ���� 
� 	���3� 	����� )���� ���	�  ��0	�" ��� 
�
	

�� 
�� �����  �� � ����	���� ��� 
	 	���3� 	���� 
�  ��� � ����� ��	
������
' 
	 	���3� 	���� ���#�� ��

������ ������	����� �
 	���	� 
���� ����������

)� 
	 	���3� 	���� 
�  ��� � ������ ��	
������ �
 ��1���%� ��  ��� ��	�

	 ������	
 
�
 ��	
�	
� 
� 
	 
�#������	 ����� f(x) ' �� 	���3� 	���� �� ��
�����%	
� [a, b]" �� 
����" ����	� �
  ��� � 
� 
	 �3������� 
�
 �����

ε =
∫ b

a

(f(x)− P (x))2 dx. :4�I;



HO �	����
� 4� ��������� ��������

)��� ������� 
� 	���3� 	���� #������	
 �2��%	
� 	 
	 ���2��
	 
� 
	 #������
������������� 	
 ���	��� 
� ���	
 
�!��
� ��� {Φk(x)}  �� ���3� 	 :�� ��� 	
L2; 	 
	 #������ 	 	���3� 	� f(x)" �� 
����"  ��� ��	� :4�I; �2��%	
� 	  ��� ��	�

	 ��� 	 L2� ��!��
� 	�� �
 �����" �	�	 ������� 
�� n+1 ���!������� ak 
� :4�4;
�� 
����� ����
%�� �
 ����� 	 �� ������ ��� 
	� n + 1 ���	������ ��� 	
��

∂ε

∂ak
= 0, k = 0, 1, . . . , n. :4�6;

)� ��	������ �� �������	���  ��� ��	� �
 ����� 
� #�� 	 ���
��	
	" ���
��	�=

� �	�	 �

� ��	 #������ 
� ����" ��'� �� ���
� ���� 	����	� 
�������� ��	
��

� � ����	���	 	
 ����� 
� 	���3� 	���� �� 
	� 
������	� ���	� 
�
 �����%	
��

��8�	�	�� $�#0 9.���	�� 
� ����: ��� (���
)� 
���&��%��� w(x)� �� ���
(���
)� �� ���� �� �� 
����	��� I �
 w(x) ≥ 0 ���� ���� x �� I � ����*� w(x)
�� �� 
�+��
������� ���� �� �
�&$� ��%
����	��� �� I�

���" ���
�'��
� �� :4�I; 
	 #������ 
� ���
��	���� w(x) �� ������� ��	
�3�������  �� �����	
 
�
 ����� ��	
�������

ε =
∫ b

a

w(x) (f(x)− P (x))2 dx.

)� ���� ����� �� ���%������� �����
���� �
 �������� 
� �������	
�
	
 
�
#��������" ������
	
 �������	��� '	 2�� ��� ��� �	
��
	� 
	 	���3� 	���� 
�
 ���� ����� ��	
������ 	�
��	�
�

ak =
1
αk

∫ b

a

w(x)f(x)Φk(x)dx,

��� ������
	
 
� ����
%�� �
 ����� 	 
� ���	������ ��� 	
�� :4�6;�

��8�	�	�� $�## 9@��������	
�
: ��� (���
���� f(x) � g(x) ��� ����&���

��� �� �� 
����	��� [a, b] ��� �������� � �� (���
)� �� ���� w(x) �
 �� ��������
������� �� ����� �� ���
�� �


〈f, g〉 =
∫ b

a

w(x)f(x)g(x)dx = 0.

��8�	�	�� $�#$ 9���A���� @�������� 
� .���	����: 1� �
�� ��� �� ���

����� �� (���
���� {Φ0, . . . , Φn} �� �� �������� ����&���� �� (���
���� �� ��

����	��� [a, b] ��� �������� � �� (���
)� �� ���� w(x) �
∫ b

a

w(x)Φj(x)Φk(x)dx =
{

0, j �= k;
αk > 0, j = k.

1
� ����*�� αk = 1 ���� ���� k = 0, 1, . . . , n� �������� �� �
�� ��� �� ���

����� �� (���
���� �� �����������
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�
����� �1� �
�� 
� ���1����� �������	
�� 
� #�������� ����

6��	��
	�� 
� /����
��" 
����	
�� ��� {Pn(x)}" ��� �������	
�� ��
[−1, 1] ��� �������� 	 
	 #������ 
� ���� w(x) = 1" ����
� �� %	
��

P0(x) = 1,

P1(x) = x,

Pk+1(x) =
(2k + 1)xPk(x) − kPk−1(x)

k + 1
.

6��	��
	�� 
� ��=����=�B" ��� ������� 	
�� �� [−1, 1] ��� �������� 	

	 #������ w(x) = 1√

1−x2 � �� 
����	� ��� {Tn(x)} ' �� ��������  �
�	���

	 ���������

T0(x) = 1,

T1(x) = x,

Tk+1(x) = 2xTk(x) − Tk−1(x), k = 2, 3, . . . ;

� ����" 
� #�� 	 �3�
����	" ����� 
	 �3�������

Tk(x) = cos (k arc cosx), k = 1, 2, . . . .

�
� �� 
� ���
��	��� �� � #�������� �	�� 	���3� 	
��	�" ����� ��
���=
 ��� �� � �
�	� �	�	 
���� ��	� 
	 
��	
��	���� ���� 	 
� 
�� ������ 
�
�������
	���� :������
���
� ��� 
	� �	���� 
� 
�� ��
��� ��� 
� ��0��'=
�0�F; ��� �
 !� 
� ������� ��	 ��
����� ����	�	 	 
	 	���3� 	����  ���=
 	3�

6��	��
	�� 
� >��
	��" {Hn(x)}" ��� ������� 	
�� �� (−∞,∞) ���
�������� 	 w(x) = e−x2

"

H0(x) = 1,

H1(x) = 2x,

Hk+1(x) = 2xHk(x) − 2kHk−1(x), k = 1, 2 . . . .

6��	��
	�� ��	����
���	���" ��� ������� 	
�� �� [−π, π] ��� ������=
�� 	 
	 #������ w(x) = 1� �� 
����	� ��� {Φn(x)} ' ������ 
	 �3�������

Φ0(x) = 1,

Φk(x) =
1√
π

cos kx, k = 1, 2, . . . , n,

Φn+k(x) =
1√
π

sin kx, k = 1, 2, . . . , n.
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�	
	 ��	 #������ f(x) �������	 �� [−π, π]" 
	 	���3� 	���� 
�  �=
��� ����� ��	
������ ��	�
� 
�� ��
��� ��� ������� 9������ �� Sn(x) =∑2n−1

k=0 akΦk(x)� )� �
 
� ���" ��	�
� n → ∞" Sn(x) �� �
 
��	���

� ��
����� 
� 7������ 
� f(x)" 
� ��	����
���	
 � ����	���	 �� �
 � ���� 
�

������	
� 
� ���	
�

.���	���� �	��" �
 ���1���� 
� #�������� sinc (x− k) �� ������� 	
 ��
(−∞,∞) ��� �������� 	 w(x) = 1" ����
�

sinc (x− k) =
sin (π(x − k))

π(x − k)
k ∈ Z.

V��� �� �
 ���1���� 
� #�������� �	�� 
�!��
	� �� �
 ����� 	 
� ���������

������ ������	����� ������	
 � 	���	��

)� 
	 	���3� 	���� ���#�� � ��  ��� ��	 �
 %	
��  �3� � 
� 
	 
���	���	
����� 
	 #������ 	 	���3� 	�" f(x)" ' 
	 ��
����� �� �� �����%	
� [a, b]" �� 
����"
��  ��� ��	 
	 �3������� 
�
 �����

ε = máx
x∈[a,b]

|f(x)− P (x)| ,


� 2�� �2��%	
� 	  ��� ��	� 
	 ��� 	 L∞� (	����	
 ����" ���� ���� 
� 	���=
3� 	���� �	 ��9� �� ������
	 �� � 	���3� 	���� 
�  ��� � �����  �3� � �
	���3� 	����  ��� 	3�
���
� �
 ����� 
� %���	 
�
 ������	
� 
� ���	
" 
	 ��� 	 L2" 2�� �� ������=

���
� ��� 
	 	���3� 	���� 
�  ���� ����� ��	
������" �� 
	  �� ���
��	
	 	 
	
0��	 
� �� �	�	� �
 �	����
� ����� ���	
�� :�������	
 ���� ���2�� 
� �� 
�!=
������ �� 
���%	� �3��������� 	�	
����	 ���� ��	�	�
��;� +� ����	���" 
	 ��� 	
L∞" 2�� 
�!�� 
	 	���3� 	���� ���#�� �" �	 ��9� ����� ��	� �����9�" ����
����������	 ��	  �
�
	 
�
 %	
��  �3� � 
� 
	 
�#������	 ����� 
�� ���	
���
�	
	 ��	 #������ �������	" 
	 �3�������	 
� ��	 	���3� 	���� ���#�� � �	�

����	 �� � �� 
���� ���� 	�����	
	 ��� �
 ����� 	 
� G�������	�� :����� 	
4�4;" 	��2�� �� ��������� �� ����
�	" �� �����	
" �����

	� �� 0��0�" �� 
	 ����=
���	 �� ������� 	 ��
������� ������� 	�" ����� 
	� 2�� 
	  �� ���
��	
	 ��" ���

�
	" 
	 	���3� 	���� �	�	
	 �� 
	 �������
	���� �� 
�� ������ 
� ��0��'�0�F"
�� � ���	�
��� �
 ��������� ����� 	 :P�0���'O4Q ' P�	%��JLQ;�

�����
� $�' 9.�A��: 1��� x1, x2, . . . , xn ��� ����� ��� ���
���
� �� 2�.�%�

�.�� �� ����� n� Tn(x)� �� ���
��

{
xj = cos

(
2j−1
2n π

)}
� 1�� f(x) ����
��� ��

3
4�45 � Pn(x) �� ���
���
� �� &���� n ��� ��� Pn(xk) = f(xk)� 6�������
limn→∞Pn(x) = f(x) ��
(��������� �� 3
4�45�



4�L �������
	���� 4H

)
 �������� #��
	 ���	
 
� ���� ����� 	 �� 2�� 
	 	���3� 	���� �� 
��
������ 
� ��0��'�0�F ����������	 �� ��
��� ��  �' ���3� � 	
 ��
��� ��
 ��� 	3" �
 ��	
" 
� ����� ��
�� 
�� ��
��� ��� 
� ��
�� n" �� �
 2�� �������	

	  ���� 
��%�	����  �3� 	 �������� 	 
	 #������ 
���	
	� )
 �����
� ���=
�� �������� P�����OKQ �������� �� ������� 
�� N ���!������� �������
	������ 
�
��0��'�0�F" cj ��� j = 1, . . . , N " �	
�� 2��

cj =
2
N

N∑
k=1

f(xk)Tj−1(xk),


� �	
  	���	 2�� 
	 #�� �
	 
� 	���3� 	����

f(x) ≈
[

N∑
k=0

ckTk−1(x)

]
− 1

2
c1 :4�L;

�� �3	��	 �� ������ 
� x ���������
������ 	 
�� N ����� 
� TN (x)� )��	 ��=

����� ������
	 �� ����� 2�� ���" �����	��	 ����" 
	  �1�� 	���3� 	���� 
�
��
�� N 
� 
	 #������ f(x) �� �
 �����
�  ��� 	3� ���� �� ������ �� N ��!=
������ ���� ��	�
�" ��������" �� %����
 
� ����� 	 4�6" 
	 �3������� �� :4�L;
�� %����	
 ���� ��	 	���3� 	���� ���#���	 
� f(x)�
)
 0��0� 
� 2�� 
�� ���!������� ck 
������	� ����
	 ����" 
� ��	
 �� �


�	�� ������" ���%��	 2��" 	
 �����	� 
	 	���3� 	���� 	 m 
 N �9� ����" �

����� ���9 
� ��	
� ��� �
 �9� ��� cm+1Tm(x)" ��	 #������ ����
	����	 ���
m + 1 %	
���� �3��� �� 
��������
�� ���#�� � ���� �� �
 �����%	
� [−1, 1]� ��
	0� 2�� 
	 	���3� 	���� 
� ��0��'�0�F �� ���������  �' ���3� 	 	 
	  �1��
	���3� 	���� ���#�� �" 2�� �������	 
	 �	�	���������	 
� ��� �2������
	����

��"� �
������
�	�


8	� �9����	� 
� �������
	���� ������ ��� ��1��� 
	 ���2��
	 
� ��	 #������
2�� �	�� ��� ��	 ����� 
� ������ 
	
��� 8	 �3�������	 � �� 
� ��	 #������
:���	
; ���'	����� 
� 
	 2�� ���%����� 
�� 
	��� : �����	�; 
����
��� 
� �	
	
	�
��	���� �������	" ���� �� �
	�� 2�� �
 ������ ����� 
� �����	 ��#�� 	����
��
	��%	 	
 �� ����	 ����� 
���	
� 
� 
	 ��
����� ����� 
�� ������ 
� �����=
��
	���� :'	 ��	 ��� 
	� �	�	���������	� �����	� 
� 
	 ���	
 ���'	����� � ���
������������ ��
	��%	� 	 2�9 �� 
� 2�� �� �����
��	 �� � ���� �� ����	 �����

� 
	 ��
�����; ����
�	 
� ��	� � ����	���	 	 
	 0��	 
� ��
������	� 
	 �9����	 ��=
�����
	����	 	 ��	�� ���0� 
� ���	 #�� 	" ��� ��	 ��#�� 	���� ��
	� 
	� �9����	�
�������
	����	� ����������	� ����
�	
�� %�
�
��" �	�	�
� 	  	��	� 
�#������	�
	������� ��#������� 	 
	 � �
� ���	���� �������	�
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������ �� �
��
	� �
 ��

��
�

)� HK6K" �� )� �0	���� ���
��� �
 	�����
� .������
���
�� 
� ������

�� �( ��
��/" ����	�
� 
	� �	��� 
� 
	 �����	 
� 
	 ��#�� 	���� P�0	����6K"
�0	����KOQ� ��� �
 !� 
� #�� �
	� �� �����	" ��	 �����	��� ��  ��	��� � 2��
��� �����	 ���%����� ��	 ���	
 �������	 	�	
����	 �� ��	 ��������	 
� �� ����"

� 2�� 
� ���
�1� 	 ���	�
���� �
 �
����� ����� 	 
�  �������" �	���
���" ��
��	�  �
�
	" �� �
 ��	�	1� ���%�� 
� (� +'2����� P +'2����4OQ�

�����
� $�* 9�����
� 
� ��������: ��� (���
)� f(x) ��� �� ������&�
(�������
�� 
&����� � �����
���� � ωmax����7�� ����� ������������� ������


���� ���� �� 	���� �� ��� ���
� �� ������ ���
�����
���� T = π/ωmax ����

�� � �� �
� ���� 	
 ����� 	 
� ��������" 
	 #�� �
	 
� ��������������
:�������
	����;

f(x) =
∑
k∈Z

f(kT ) sinc(x/T − k), :4�M;

��� ��� ������� 
	 #������ ������	
" f(x)" 	 �	���� 
� ���  �����	� �2�����	��	=

	�" f(kT )� ���0	 �������������� ���� �3	��	 �� ' ��
� �� 
	 ���	
 ������	
 ����

� ��	
	 �� �	�
	" �� 
����" �� �� #��������	  �3� 	 �� ωmax ≤ π/T " ����
�
���� 
� ��� ������
� �� � 
	 (�������
� �� ����
���

������ �������
 �
 ���
��������� ������	���


�� � �� ������ �� P���1�����54Q" 
�� ��
��� ��� �� 0	� ���
��	
� 
��
� 	�=
����� �	�	 �������
	� 
	��� � -���� ��	 
	 �������
	���� 
� 8	��	��� 
	  ��
�� �� 
� ��
	� ���	� �9����	� :�	�	
	 �� 
�� ��	�	1�� ���%��� 
� +�D��� '
G	����;"  �����	� 2�� 
	 �������
	���� 
� (�� ��� �� 	�
��	 
� #�� 	 0	����	

��	�
� �� ����	 �� ��
��� �� 2�� �������
� �	��� �
 %	
�� 
� ��	 #������ �� �
��� 
���%	
	��
)
 ����
� 	 
� 
	 �������
	���� ��
��� ��	 
� 8	��	��� �������� ���

��8�	�	�� $�#& 9����������	�� 
� /�������: ���� ��� (���
)� ���� f(x)
�� �
�� �� 3��%5 � n + 1 ������ �
��
���� x0, x1, . . . , xn �� �
�.� 
����	����
������
��� �� ���
���
� Pn ∈ Pn ��� ���

Pn(xk) = f(xk), k = 1, 2, . . . , n.

��� ������ '� �� $(�

�
 ������ �
 �� ���	���� ��� ��
��������
�� 
� )� *(����+��
,*(����+��-./� 0� �"!���� ,�"!����-1/ " 2� 3���� ,3����4�/� �
 ,5������/ �� ���� �
� �����

� ������� !��� �
��#� 
� ��� "� ����
��
��� �������
 � ���� ��
 �
�������
�
 �����6�� ����7
����� � �� ����	� 
�� ��������� ���� 8� 9� '���("� *� 9� :����� ,:�����-�/ " ;� 8� <����
�+��
,<����
�+��==/



4�L �������
	���� 4I

)
 ����
� 	 
� �������
	���� 
� 8	��	��� ����� ��
����� ����	 
� 
	 #�� 	

Pn(x) =
n∑

k=0

f(xk)Ln,k(x), :4�J;


��
� �
 k=9�� � ��
��� �� 
� 8	��	��� 
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e(x) =
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x=ξ(x)
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�� �� [a, b] � �� �������� ��
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���� S
(k)
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(k)
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S(x) =
n+m−1∑
i=−m+1

c[i]βi,m (x) , :4�H5;
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� βi,m (x) 
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(xi+j − xi+k)
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(x− c)m
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(x− c)m, x ≥ c;
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���%���� 0	��� ���	� 2�� �� :4�H5; �� � ���	��%� �����
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βi,m (x) ≥ 0, ∀x.
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βi,m (x) = 0, x /∈ [xi, xi+m].
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β
(1)
i,m (xi) = β

(1)
i,m (xi+m) = 0, l = 0, . . . , m− 2.
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βi,m (x) =
x− xi

xi+m−1 − xi
βi,m−1 (x) +

xi+m − x

xi+m − xi+1
βi+1,m−1 (x) ; :4�HH	;

βi,1 (x) =

{
1, x ∈ [xi, xi+1];
0, x /∈ [xi, xi+1].

:4�HH�;
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β
(1)
i,m (x) = (m− 1)

[
βi,m−1 (x)

xi+m−1 − xi
− βi+1,m−1 (x)

xi+m − xi+1

]
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n+m−1∑
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βi,m (x) = 1, x ∈ [a, b].
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����" �� xn = n, ∀ n ∈ Z"

' 
�� %	
���� 
� 
	 #������ 	 �������
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S(x) =
∑
n∈Z

c[n]βm (x− n) , :4�H6;
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βm (n) z−n.
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S(m)(x)

)2

dx. :4�HL;

V��� �� �� ����
� 	 ����
	���	
� 
�  ��� �� ��	
�	
�� �� �
 2�� �
 ��� ��
�9� ��� ��	���!�	 �
 ����� ����� �
  �
�
�" S(x)" ' 
�� 
	���" f(xj)"  �����	�
2�� �
 �����
� �9� ��� � ���� ��	 ����������� 
� ��	%�
	
 ����� 
	 ��
������
8	 �
������ 
� �� %	
�� �������� 
�
 #	���� 
� ����
	���	���� λ 
����
� 
�

	 ��#�� 	���� 
�������
� � ��
��
 � �� �	�� 	
 ������ ����� 
� 
	 %	��	��	 
�
���
� �� 
�� 
	���" � 
� 
	 ��	%�
	
 
� 
	 #������ ������	
 :�� �� 2�� �� ������=

	;� 8	 ��
����� 	
 ����
� 	 �
	���	
� �� :4�HL; �� 
��� ��	 ��
��� ��	%��	
�
:�����.
�& ���
��;" ���� 

�%	 	 �	�� �� ��	%��	
� 
� 
�� 
	����



I5 �	����
� 4� ��������� ��������

��#� �������� � ����
������	�
 �
 ���
�	�� ��
$	�%���

�������� �� �
 ������� ����������� �� ���������	� #�������� 
� ��	 %	��	�
�
�������	  �
�	��� ��������	� 
� �� ����� )� ���� �����
�" �
 ����� 	 
� ����=
���� :����� 	 4�L; ����������	 �
 ��#�2�� �
����� 
� ������	
� 
� ���	
 	 ����
����
� 	@  �����	� 2�� ���	� �9����	� 
� �������
	���� :�" 
� #�� 	 �2��%	
����"

�  ������� ' ��������������;" ����� 
	� 2�� �� ��������	� 
	 �������
	���� 
�
8	��	���" 
� (�� ��� ' 
	� �	�	
	� �� ��
����" �� 0	� �������	
�" 0	��	 �
  �=
 ����" ��	 	 �
�	 
�#����� �� �
 ��	�	 ����� 
� ���	
� )� �%�
���� 2�� �3�����
������ �� �� �� ����� 
	� 
�%���	� �9����	�" ' 2�� �� 
���	�
� ��  	��� #�� 	

2�� 
	� ���
���� )� ���	 ������� �� ��%��	 �
 ����� 	 
� �������� ��� �
 !� 
�
������	�
� �� �9� ���� 
� ���	��� 
� ���	
 ' 
� ���'�������� �	�	" ���������=
 ����" �������	� ��  	��� �����	
 
�  ������� ' �������������� �� ���	���� 
�
���	
 ��%	��	���� ��� 
�� 
���
	�	 ������� )� ��
� �	��" �� �����
��	�� ����	=
 ����  ������� 
� ���� ���#�� �" �� �
 2�� 
	�  �����	� �� �� 	� 	 �����%	
��
�2�����	��	
��� ���  �� �" �� ���
��	�� �� � %	��	�
� ��
����
����� �
 ��� ��"

����	
� ��� t :n �	�	 �
 �	�� 
� 
	 %	��	�
� ��
����
����� 
������	;" ��� �

!� 
� � �
�	� ��	 ���	���� �����	 
� ������	
� 
� ���	
� )3����� �� ����	�
��#������	� �� 
�� �
�� �� 	��� ��
	��%	� 	 ����� ��������� 2�� 0	� �������� ��
���� � � �	��� �� �
 ���	 
�
 ������	
� 
� ���	
" ���������
��� ����� 
	�  ��

���	�	
	� P�����JJ" (������KM" $����KO" $����55" <	�
'	�	�0	�5H	Q�

��$��� %
!�
��� �
� �
��
	� �
 ��

��
�

)
 ����� 	 
� �������� ���	�
��� 2�� ��	 #������ 
� ��	
	 �� �	�
	" x(t)"
����
�	 �� �
��	 ���� �	�	������	
	 ��� ���  �����	�" x[n]" �� 	
	� 	 ��	

���� ��	
	 #��������	 P�0	����6K" �����JJQ� ����� ��� �
 �����
� ����� 
�
 ������� 
� 
	 ���	
 �������	" 
�
 ����� 	 �	 ��9� �� 
������
� �
  9��
�

� ��������������" 2�� ������
��	 
	 �������	����" ��� �����" 
� 
	 ���	
 ������	

	 �	���� 
� ���  �����	�� )��� ����� 	 �� 	�
��	�
� ��� ��� 2�� 
	 ���	
 ��	

� ��	
	 �� �	�
	� )� �	�� �����	���" 
	 �������	 0	����	
 �������� �� 	�
��	�
�� !
��� �	�� �	1� ���%�� 	
  ������� ��� �
 !� 
� �%��	� �
 ��
	�	 ����� �����=
��	
� 8	 ��
����� ���� 	 �� �
 !
��� �	�� �	1� �
�	
 :��� ��������	 #��������	

H(Ω) = rect(ΩT ) ' ��������	 	
 � ��
�� h(t) = sinc(t/T )/T ; 2�� �
� ��	 �� =
�
��	 ���� �
 ��
	�	 ����� ��� �����
���� 
��������� �� 
	 �	�
	 
� �����9��
)� ���� 	�	��	
� �� ����������	 ��	 ���������	���� ��� 9����	 �� �
 ���	���

� (�
���� 
�
 �	�	
�� 	 
�  ������� ��	
�����	
� �	�	 �� ����
�� ���� ���%�
����� 
� %���	 �� �����
��	" ��� �� �
���
	
 ���	����	
" �� �����
� 
�  �������
���
	
" T = 1" ' �� ��	�	1	 ��� ���	
�� �������������� 	
 ���	��� 
� (�
���� L2

����������� �� ��
	� 
	� #�������� ��	
�����	 ���� ������	�
�� �� �
 �����
� 
�
8������� :�� 
����" 
	� ���	
�� 
� ������	 !���	;� 8	 ���������
����� ��� 	 L2



4�M �������� ' �������������� �� ���	���� 
� (�
���� IH

��

‖x(t)‖ =

(∫ b

a

|x(t)|2dt

)1/2

=
√
〈x(t), x(t)〉 =

√
)�����	(x(t)),

��
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x(t)y(t)dt.
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��� T = 1 �� �
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c[n]ϕ(t− n),
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〈ϕ(t− n), ϕ(t− k)〉 =
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−∞
ϕ(t− n)ϕ(t− k)dt = sinc (n− k) = δ[n− k].
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� �������� ��� �� ���!
��� �	=

�� �	1� �
�	
 ������
� ��� 
	 	���3� 	���� x̃(t) = PV (x(t))" 2�� ����
�	 ���

	 ���'������ �������	
 
� 
	 ���	
 
� ����	
	 ����� V :�
 ���	��� 
� 
	� ��=
�	
�� 
� ��	
	� �� �	�
	;� )� ���	� �	
	��	�" x̃(t) �� 
	 	���3� 	����  ���=
 � ��	
�����	 
� x(t) �� V � � 
	 
�� 
� ���	 ���������	���� ��� 9����	" ��
��%�� 2�� x(t) ∈ V �� ' ��
� �� x(t) = PV (x(t))� 7��	
 ����" ' �	
 �� � ��=
�������	 �
 ��2�� 	 
� 
	 7����	 4�4" �
 ��2�� 	 
�  �������=��������������
���
� ����� �
	��� �� ���� ��	�	�� ��� ��	 ����" 
	 ���	
 �������	 
� ����	=

	" x(t)" �� ���!
��	
	 ��� �� !
��� 	�����
	�	 ����� ��� ��������	 	
 � ��
��
h(t) = ϕ(−t)@ �����
	 ����" �
 ������� 
�  ������� ����������	 
	 ��������=
�	���� 
������	 c(t) =

∑
n∈Z

c[n]δ(t − n)@ '" ��� �
�� �" 
	 ���	
 ����������
	
x̃(t) =

∑
n∈Z

c[n]ϕ(t − n) �� �������  �
�	��� �
 !
��	
� 
� c(t) ��� �
 !
���
ϕ(t)� )� �	�� 
� ��	�	1	� 
� 	����
� 	
 ����� 	 
� ��������" �	��� �
 ���!
���
�� � �
 ����!
��� ��� �	�� �	1� �
�	
��" h(t) = ϕ(t) = sinc(t)��

�� 
	 #������ 	 ������	� �� ���� 
� ��	
	 �� �	�
	" ��� �1� �
�" �� x(t) ���=
������ 	 L2 " �
 �����
� ����� �������� �� ���
��	� �� ���!
��� :!
��� �	�� �	1�
�
�	
; 2�� �%��� �
 ��
	�	 ����� �������	
 :�� �  �����	 
	 7����	 4�4;� �� ���	
#�� 	" 
	 ���	
 ����������
	" x̃(t)" �� ��  �� 2�� 
	 ���'������ �������	
 
� x(t)
�� �
 ������	��� 
� 
	� #�������� 
� ��	
	� �� �	�
	" 
� 2�� ������� ��������=
�	� �
 ����� 	 
� �������� �� � �� 
� �� �����
� ����� 
� 	���3� 	���� ��
��	�	�	� )��� ����� 
� %���	 ���
��� 	 
	 #�� �
	���� 
� 
	 �����	 
�  �������

�$�
 �������� 
��
� �
 ��
�� 
� ����� �#� ������� ��� %����� ���
�
 �������� �������
�� ��

�#� !�� ��
��
���� �� ����������
 
� ��������
���
�
� �� 
����� 〈ϕ(t − n), h(k − t)〉 = δ[n−k]�
��� " ���� �� ����
���# �����������
���
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� 
�� ��
���� 
�  ���� ����� ��	
������ P$����K4Q" 	�� �� � 
� �� ���1���� 
�
���	
��  �� 	 �
��" 
	� �����	
	�  �
�	��� ��	�
	������ �����	� 
� ��	 �	��
� ���
�� �����	
��" ϕ(x) P�

�����K6Q� �� #�� 	 �� �
	�" *�	D	 
��	���

	 ��
�����	 
�  ������� �����	
��	
	 �	�	 	���3� 	� #�������� �� ���	���� %����=
��	
�� 
� 
� ������ !���	 P*D	�	OMQ� )
 ��������� 
� 	���3� 	���� #������	

���  ��� � ����� :���'������ �������	
; �� ���
��	
� �	 ��9� �� 
	 �����	 
�
8�	������ ��
	� ���	� ���������	������ �� �	���� 
	 �	�	���������	 
� 2�� 
��
���!������� 
�������� 
� 
	 �3�	����� �� ��������  �
�	��� �
 ���
���� �����=
�� :���%�
�����; 
� 
	 #������ :���	
; 
� ����	
	" x(t)" ' ��	 #������ :!
���;

� 	��
���� 	�����	
�@ 
� 2�� �� �2��%	
���� 	 ���!
��	� 
	 ���	
 '  ������	�
	
��������� ����� �� ���	 #�� �
	���� �� ����	 �
 ��������� 	�	��	
��

��$��� ��

��
� 
� 

�����
 ��!������

 ��
��
 � �

���&

'�	�
���


)� �����
� 	 �
�	� �
  	��� 
������� �� 
	 ������� 	������� �	�	 ���
��� ���	�
�
	��� 
� #�������� �����	
��	�� � ���	� 
� 2�� �� �����
� �����
��	� ��	
2����
���1���� 	�����	��� 
� ���	
�� �� � #�������� �	��" �� 
���	�
� ������� ��
��2�� 	 
�  ������� ' �������������� 2�� ����
�� �������� ' 2��  	�����	 �

��������� 
� ��%	��	��	 	��� 
���
	�	 ������ 
�
 ����� 	 
� ��������� )���
�� �������� ��� �
	�	�
� 
	 #������ sinc(t) ��� ��	 (���
)� &���������" ϕ(t)"
2�� 
�!�� �� ������ ���	��� 
� ���	


V (ϕ) =

{
s(t) =

∑
n=∈Z

c[n]ϕ(t− n) : c[n] ∈ l2

}
.

)��� �����!�	 2�� ��	
2���� #������ s(t) ∈ V (ϕ) ���
� �3����	��� �� �
�� ���	���� 
���	
 ��'�� ���!�������" c[n]" �� ������ 2�� ��� �����	��	 ����

	�  �����	� 
� 
	 ���	
@ �� 
����"

s(t) =
∑
n∈Z

c[n]ϕ(t− n). :4�HJ;

��� ���� 
	
�" 
	 (���
)� &��������� ϕ(t) ���
� ��� 
������	 
� sinc(t)" ��
 ��" �� �����
� ��	�	1	� ��� #��������  �� �� �
�� '  �� �!������� 
��
� �

����� 
� %���	 �� ���	����	
 :��� �1� �
�" 
	� �	��� ��
���;�
�	�	 2�� ����  �
�
� 
� ���������	���� 
� ���	
�� ����	 �����
� �� �����	���

� ����� 	
  ���� ���� ���
������� P$����55Q� )� ��� �� 
��	�" 
	 ��������	 
�
���!������� 
��� ������ ������	 !���	@ �� 
����" c[n] ∈ l2�∑

n∈Z

|c[n]|2 = ||c||2l2 <∞;
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'" �� �����
� 
��	�" 
	 ���������	���� :4�HJ; ����� 2�� ��� ���	�
� ' �� 	 ����	�
)��	� 
�� ��� ��	� ���
������� ��� �2��%	
����� 	 2�� 
	 #	 �
�	 
� #��������
{ϕ(t− n)}n∈Z

#�� � ��	 �	�� 
� ,���� 
�
 ���	��� V (ϕ)�

��8�	�	�� $�#* 91��� "	��!: 6� �������� �� ��<���� {ϕ(t− n)}n∈Z
�� ���

%��� �� �
��- �
 �"
���� ��� ���������� ����
�������� ���
�
	�� 0 < A, B < +∞
����� ���

∀ c[n] ∈ l2, A||c||2l2 ≤
∥∥∥∥∥∑

n∈Z

c[n]ϕ(t− n)

∥∥∥∥∥
2

≤ B||c||2l2 , :4�HO;

�� �� (���� ���
	������� �


A ≤
∑
k∈Z

|Φ(Ω− 2πk)|2 ≤ B, :4�HK;

����� Φ(Ω) = TF {ϕ(t)}�
$�	 �����������	 
�����	 
� 
	 
�����	

	
 ��#����� 
� :4�HO; �� 2�� �� 
	

���	
 �� ��
	 :sα(t) =
∑

n c[n]ϕ(t− n) = 0; �������� �����	��	 ���� 
�� ���!=
�������" c[n]" 
���� ��� ��
��� ��� 
� �	���" 
	� #�������� �	�� ��� 
���	
 ����
��
����
������" 
� 2�� �	 ��9� �����!�	 2�� ��
	 ���	
 s(t) ∈ V (ϕ) ���� ��=
�	
 ���� 
���� ��	
	 ��� ��� ���!������� c[k] ∈ l2� 8	 ���	 �������� 
� :4�HO;
� �
��	 2�� 
	 ��� 	 L2 
� 
	 ���	
 s(t) �� !���	" ��� 
� 2�� V (ϕ) �� �� �����=
�	��� %�
�
� 
� L2� +����� 2�� 
	� �	��� ��� ������� 	
�� �� ' ��
� �� A = B = 1"
�� ��'� �	�� �3���� ��	 �2��%	
����	 ����� 
	 ��� 	 �� �
 
� ���� �������� '

	 ��� 	 �� �
 
� ���� 
������� :��
	���� 
� �	���%	
;�
)� ������� � ����� ��	 ������	 ' �
�� 	 ���
����� 	 
	 (���
)� &���������"

����������� �� 2�� :4�HJ; ��	 �	�	� 
� 	���3� 	� ��	
2���� ���	
 
� #�� 	 �	�
������	 �� � ��	 �����	��� ���  �� 2�� ��
������	� �� �����
� 
�  ������� ��!=
������ ���� ��2����� �� � �� 
� �����	 �� P$����55Q" ���	 ���
����� �2��%	
�
	 2�� 
	� #�������� �	�� #�� �� ����
�
)� �� �� ��
����

��8�	�	�� $�#) 96���	�	�� 
� �� ��	
�
: 6� �������� {ϕ(t− n)}n∈Z
(��


�� ����
�
)� �� �� ��
��� �
∑
n∈Z

ϕ(t− n) = 1, ∀ t ∈ R.

)� 
	 �������	" ���	 �
�� 	 ���
����� �� 
	  �� 
�#���
 
� �� �
�� �� 
	
���2��
	 
� (���
���� &����������� )1� �
�� 
� #�������� �	�� 	
 ����
�� ���

	 �����	 
�
 ����� 	 
� ��������" sinc(t)@ 
	� #�������� �	�� ��
���" β (t)@ '

	� #�������� 
� ���	
	 
� 
	 �����	 
� 8�	������
)
 ��������� �	�� �������� �� ������� 
�� ���!������� c[n] �� :4�HJ; 
� #�� 	

2�� �
  �
�
� 
� ���	
 ��	 ��	 ���������	���� 	
���	
	 
� ��	 ���	
 
� ����	
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x(t) ∈ L2� 8	 ��
����� ���� 	" �� �
 �����
� 
�  ���� ����� ��	
������" �� 
	
���'������ �������	
 
	
	 ���

PV (ϕ)(x(t)) =
∑
n∈Z

〈
x(t),

◦
ϕ (t− n)

〉
ϕ(t− n), :4�45;


��
�
◦
ϕ (t − n) �� 
	 #������ �	�� 
�	
 
� ϕ(t − n)� )��	 �3������� ��  �'

�� �
	� 	 :4�HM; �	
%� ��� �
 0��0� 
� 2�� 
	� #�������� 
� 	��
���� ' ��������

:
◦
ϕ (t− n) ' ϕ(t− n)" ��������%	 ����; �� ��� �
9����	�� )
 ���1���� 
� �	���

�	
�� {◦

ϕ (t− n)
}

n∈Z

���
◦
ϕ (t− n) ∈ V (ϕ)

�� ����� ' 2��
	 
���� ��	
� ��� 
	 ���
����� 
� ���������	
�
	
〈 ◦
ϕ (t− n), ϕ(t− k)

〉
= δ[n− k].

�� 0��0�" 
	� #�������� �	�� 
�	
�� ���
�� �%	
�	��� 
� #�� 	 �� �
� �� �


� ���� 
� 
	 #��������	 �� �

◦
Φ (Ω) =

Φ(Ω)∑
k∈Z
|Φ(Ω + 2πk)|2 , :4�4H;

����
�
◦
Φ (Ω) = TF

{ ◦
ϕ (t)

}
' Φ(Ω) = TF {ϕ(t)}� +����� 2�� 
	 ���
����� 
�

�	�� 
� ,���� :4�HK; �	�	����	 2�� ���	 ��
����� ��� ��� ���9 ���� 
�!��
	�
�� #�� 	 �� �
	� 	 
� �� ���	
� �� 
	 ���������	���� ��� 9����	 
�
 ���=

�� 	 
� ��������" �
 	
����� � 
�  ������� ' �������������� 
	
� ��� :4�45;
	
 ��� ��	 ���������	���� �	�	
	 �� ��������� 
� ������	
� 
� ���	
" �	
 '
�� �  �����	 
	 7����	 4�I�	� )� �#����" �
 �����
� ����� �� �� �
	� 	
 
���	
�
��� �
 ����� 	 
� �������� �3����� ��� �
 0��0� 
� 2�� �
 !
��� 
� 	��
����

:!
��� 	�����
	�	 �����; ���� � �� �
 �����
� 
�  ��� �� ��	
�	
��"
◦
ϕ (−t)"

�
x(t) ◦

ϕ (−t) � ����
��

�∑
n δ(t− n)

� ϕ(t) �
x̃(t)

���

�
x(t)

����
��

�∑
n δ(t− n)

� ϕ(t) �
x̃(t)

���

.	���� $�&� )�2�� 	� 
�  �������� 	; 	���3� 	����  ��� ���	
�����	@ �;
�������
	�����
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	 �� �
��	 ���� ������!�	
� ��� 
	 �
������ 
� 
	 (���
)� &��������� :�
!
��� �������������;" ϕ(t)@ ���� �� ��������	 #��������	
 %���� 
	
	 ��� :4�4H;�
�� ϕ(t) #���	 ������� 	
" ������� 9
  �� � ����	 �� �����	 #������ 
� 	��
����

:�� 
����"
◦
ϕ (t) = ϕ(t);" ��� 
� 2�� �
 ���!
��� �������	 ��	 ��������	 	
 � ��
=

�� ����������� �� ��	 ��%������ �� ���	
 
�
 !
��� �������������� )� ��	
2����
�	��" ���	 ���
����� 
� ������� 	
�
	
 ��
� �� �� �
� �� �����	� ��	������ :���
�1� �
�" 	
 �����
��	� �� � (���
)� &��������� 
	 #������ sinc(t)" � 
	 #������
��
�� ����	���
	� 
� 
��	���� ����	��	;" 	��2�� �� ���	�  ��0	� �� ������" ���
���
�� ���
�
	
 ��� ����  ���%� :�� �1� �
� �%�
���� ��� 
	� #�������� �	��
��
���;�
)� 
�!����%	" ��	 %��� &���������" ϕ(x)" 
�!�� �
 ������	��� 
� ���	
 
��=

���� ' 
���� ��	 
� #�� 	 ���%��	 ���
 
��� ��� �
 ���!
���"
◦
ϕ (x)" 	 	�
��	� 	


	 ���	
" 
� #�� 	 2��" �� 9��	 �� ��������� 	
 ������	��� �����
��	
�" �
 �����
��	
������ 2�� �� �� ��	 ��	 �
  ���� �����
�� �� �
 ���!
��� �� �� �
 	
���	
�
	�	������� ������� 	
�����	
�� �� #�� 	 
� 
��������� ' ��
	�	 ����� :��
��
�&;�
)� ���� �����
�" �� �� �� ���
��	 ���!
��� ���	�� �� 	��� ��	 ����	���� 
� �����=
��
	���� �������	 :7����	 4�I��;" 
� �	
  	���	 2��" �� 
	 ���	
 x(t) �� ���������
	
 ������	��� 
�!��
� ��� 
	 (���
)� &���������" �
 ����
�	
� �� ���� �
 ���� �"
�� 
����" �3������ ���	 ���	
 ������������� 	
 ������	��� Vϕ  �� ���3� 	 	 x(t)
2�� 
	 ������
	  �
�	��� 
	 �������
	���� 
� ���  �����	��

��&� �����
��

)
 ����
� 	 
�
  �
�
	
�" �	 ��9� ������
� �� � 	1���� 
� ���%	 :���	�
 ��
�&;" ���
� ��� �
	���
� 
� 
	 ��������� #�� 	� 
	
� �� ���1���� 
� %	
����
yi" i = 1, . . . , N " 
� 
	 %	��	�
� 
����
����� y" ���������
������ 	 
�� %	
���� 5i"
i = 1, . . . , N " 
� 
	 %	��	�
�" � %�����" ��
����
����� 5" 
���� ��	� ��	 #������
f̂(5) ≡ f(5; Θ) 
� #�� 	 ������
	 ' ��� �� %����� 
� n �	�� �����" Θ" 2��
�� 	1���� 	 
�� yi 
� �	
 #�� 	 2�� f̂(5i) ≈ yi� )��	 �
�� 	 ���
����� 
��� ���
������!�	
	 �� #������ 
� ��	 �����	  9����	�
)3����� 
�%�����  ���%�� 2�� 1����!�	� 	�� ���� �� ����
� 	 
�  �
�
	
�"

����� 
�� 2�� �� ��������	� 
�� �����������

4��	
��	�� 
� ��� 
������ 
	 #�� 	 
� 
	 #������  �
�
	
��	 f(x)
���
� ���	� 
���� ��	
	 ��� 
	 	�
��	���� � �
 ������� 	  �
�
	�" �� ��'�
�	��" 
�� �	�� �����Θk" k = 1, . . . , n �����
� ���� ���
��� �� �����!�	
�
#������ )
 ��1���%� ���������� �� ���� 	� 
��0�� �	�� ����� 
� #�� 	 �	�
������	 �� � ��	 �����
� 	 �	���� 
� 
�� 
	��� 
�������
���

���3	!�
� 
� 
����� �� �
 ���1���� 
� 
	��� 
� �	���
	 yi #���	 ��!����=
�� ���� �������" ��
��	 �	��	� ��� 
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	�	
	 :��
��
�&; �� ������� �� �

Pa = 2
∫ ∞

fs
2

Sx(f)df,

��� 
� 2��" �����
��	�
� ���	
�� ��� �)� �� � �� :I�H;" 
	 	������� �3�������
����
�	

Pa =

{
0, fc ≤ fs

2 ;
1− fs

2fc
, fc > fs

2 .
:I�4;

)�  ��0	� 	�
��	������ �������	�" �3���� ������ 
�������� ����� 	����	 
� 
	
 �3� 	 #��������	 
� 
	� ���	
�� 
� ����	
	" �" 
��0� 
� ����  �
�" 
	 #������=
��	  �3� 	 
� 
	 ���	
 ���
� %	��	� �� �� ������ �	���� ��� �

�" �����
��	�� ��
2�� 
	� ���	
�� ��� 
	� 2�� �
 ����� 	 
�  �������=�������
	���� 
��� ��	�	1	�
������ ��	 
����
	
 �������	
 
� �������	 �
	�	 :I�H; ��� ��	 #��������	 
�
����� fc  �
�
	
	 �� � ��	 %	��	�
� 	
�	����	" 	 
	 2�� 
����	�� �� Φ" ���
��	 
���� ��	
	 #������ 
����
	
 
� ����	��
�
	
" fΦ(φ) ��� φ ∈ [0,∞)�
�	
� �
  �
�
� 
� ���	
 �������	
� 	������� ����" 
	 �������	 
� ��
	�	=

 ����� �������	
 ��" 	 �� %��" ��	 %	��	�
� 	
�	����	" Pa" 2�� �� 	 %	
���� ��
#������ 
� 
	 #��������	 
� �����" Φ@ �� 
����" Pa �� ��	 #������ 
� %	��	�
�
	
�	����	�

Pa = g (Φ) , :I�I;


��
�" ������
� �� �����	 :I�4;"

g(φ) =

{
0, 0 < φ ≤ fs

2 ;
1− fs

2φ , φ > fs

2 .

8	 �������	  �
�	 
� ��
	�	 ����� �������	
 %��
�� 
	
	 ��� 
	 �����	��	
 	�� ����	 
� :I�I;" �� 
����"

Pa = ) [g (Φ)] =
∫ ∞

0

g(φ)fΦ(φ)dφ =
∫ ∞

fs/2

(
1− fs

2φ

)
fΦ(φ)dφ.

7��	
 ���� �� �������

Pa = 1− FΦ(fs/2)− fs

2

∫ ∞

fs/2

fΦ(φ)
φ

dφ. :I�6;
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)
 ������� 
� �������
	����=��������������  �
�	��� 
	 #������ sinc(t) � =
���� 
	 
� ��	���� �� 	��0� 
� �	�
	 
� 
	� ���	
�� 	  ������	�" 
� 2�� ������
�� �
  �
�
� 
� ���	
 �����
��	
� fΦ(φ) = 0 �	�	 ��
� φ > fs/2" ����
�	�
�
��	 �������	 
� ��
��
�& ��
	" ����� :I�6;�
���2�� �� �� �����
� 0	�
	� 
� ��	 
����
	
 �������	
 
� �������	 �����=

����	��%	 
�
 ���1���� 
� ���	
�� �
	���	
	�" ���� �� �� �� �
� 
	 ���
�����

� ���	����	���
	
" �� 2�� �� �����
� ���� 	� �� � �� 
�������'� ��  �
�	 
	
�������	 
� ���	
 ��� 
	 #��������	 	 �	���� 
� �� 
����
����	 ��� 
	 #��������	

� �����" Φ� �	�	 �

�" �	�����
� 
� :I�H; ' �����
��	�
� ��	 #��������	 
�
����� fc = φ�

Sx(f, φ) =

{
1
2φ , |f | ≤ φ;
0, |f | > φ.

:I�L;

)��	 �3������� ��� ��
��	 2�� 
	 �)� 	 ��	 #��������	 
���� ��	
	" f "
�� ��	 %	��	�
� 	
�	����	" �"  �� �������	 ����" ��	 #������ 
� 
	 %	��	�
�
	
�	����	 Φ@ ��� 
� �	���" �� �����
� ������� �� %	
��  �
���

Sx(f) = ) [Sx(f,Φ)] =
∫ ∞

−∞
Sx(f, φ)fΦ(φ)dφ =

∫ ∞

|f |

fΦ(φ)
2φ

dφ. :I�M;

� �	���� 
� ���	 �3������� �� �����
� �	
��
	� 
	 �������	 
� 	
�	���� 
�
 	���	 	
����	��%	 	 :I�6; ���  �� 2�� �%	
�	� 
	 �������	 ��� ���� 	 
� 
	
 ��	
 
� 
	 #��������	 
�  �������" �� 
����"

Pa = 2
∫ ∞

fs/2

Sx(f)df =
∫ ∞

fs/2

(∫ ∞

|f |

fΦ(φ)
φ

dφ

)
df, :I�J;

����
�	
� 2��" ��%�	 ����" ������
� ��� �
 ������
�  �
�	��� :I�6;�

&�$�#�$� 4A�
���� 
� ������� ������� ��� ,�������	� 
 5	
� 3��	����

�� C�	,��
�

8	 #��������	  �3� 	 
� 
	 ���	
" φ" ��  �
�
	  �
�	��� ��	 %	��	�
�
	
�	����	" Φ" ���#�� � ���� 
��������
	 �� [0, φ���]� )� ���� �	��" 
	 #��=
���� 
����
	
 
� ����	��
�
	
 ' 
	 #������ 
����������� �� 	� 
	 #�� 	

fΦ(φ) =

{
1

φ���
, 0 ≤ φ ≤ φ���;

0, �� ���� �	��;
:I�O;

FΦ(φ) =

⎧⎪⎨
⎪⎩

0, φ < 0;
φ

φ���
, 0 ≤ φ ≤ φmax;

1, φ > φ���.

:I�K;



I�4 �������
	���� ���� #����� 	 
	 �������
	���� ��
��� 6L

$��
��	�
� :I�6; ' 
	� �3��������� �����
����� 
� 
	 #������ 
����
	
 
�
����	��
�
	
 ' #������ 
����������� ���#�� �� �� ������� 
	 �������	 
�
��
��
�&

Pa =

{
1− fs

2φ���

(
1− ln fs

2φ���

)
, φ��� > fs/2;

0, φmax ≤ fs/2.
:I�H5;

�����
��	�
� 2�� 
	  �3� 	 #��������	 
� 
	 ���	
 
� ����	
	 �� φ��� '

����	�
� ��� R 	
  ��� � #	���� 
� ����� �������

R =
fs

2φ���

,

�������� 
	 �3������� 
� 
	 �������	 
� ��
��
�& ���
� ���������� �� #��=
���� 
� R �� �

Pa =

{
1−R (1− ln R) , R < 1;
0, R ≥ 1.

$��
��	�
� :I�M; ' :I�O; �� ������� �
 �������� ��� �
��

Sx(f) =
1

2φ���

ln
φ���

f
, f ≤ φ���;

� ����
Sx(f) = −R ln (2Rf), f ≤ 1

2R
.

?� 45������	��

�� �� �����
��	 2�� 
	 #��������	  �3� 	 
� 
	 ���	
" φ" ����� ��	 
�����=
������ �3�������	
 
� �	�� ���� c" ��������

fΦ(φ) =
1
c
e−

φ
c , φ ≥ 0; :I�HH;

FΦ(φ) = 1− e−
φ
c , φ ≥ 0. :I�H4;

��� 
� 2��" ���
��	�
� :I�6;" 
	 �������	 
� 	
�	���� ����
�	

Pa = e−
fs
2c − fs

2c
)i

(
fs

2c

)
, :I�HI;


��
� )i ���������	 
	 #������ ������	
 �3�������	


)i(x) =
∫ ∞

x

e−t

t
dt.
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������
� �� �����	 2�� 
	  �
�	 
� 
	 %	��	�
� 	
�	����	 �3�������	
 ��
c ' 
����	�
� ��� R 	
 %	
��  �
�� 
� ����� �������"

R =
fs

2c
,

�������� 
	 �3������� 
� 
	 �������	 
� ��
��
�& 2��
	

Pa = e−R −R)i(R).

��� ���	 �	���" �
 �������� ��� �
�� �� ������� ���
��	�
� :I�M; ' :I�HH;

Sx(f) =
1
2c
)i

(
f

c

)
= R)i(2Rf).

&�$�#�&� ����� 
� 2�!

)� %	���� 
� 
�� �1� �
�� 2�� �� �������	� 	 �������	���� �� � �
�	 
	 ��=
�	
 
� %��� )� 	�
��	������ �	
�� �� � 
	 ��
�#���	" ���	 ���	
 ��  ������	
	
��� O ���� 
� ����
����� 	 O555  �����	� ��� �����
�� 8	 %�� �� ��	 ���	
 ��
���	����	��	 :%��	
��" ������	���� ' ��
������ �� ����
�� �� �
 ��� �� ��� �	=
�	���������	� ���	
�����	� ���	
 ���� 
������	�;" ��� 
� 2�� 0	�
	� 
� 
����
	

�������	
 
� �������	 �	���� 
� �����!�	
�� ��� � �	���" 	
 ��� �
�	� 
	 
����=

	
 �������	
 
� �������	 
�  �
����
 
� ���	
�� 
� %�� 
� 
�������� ' %	��	
��

�������� �� ������� �� ��������  �
�� :�� 
	 �	�
	 [0, 11025] (�; �� � �

 ����	
� �� 
	 7����	 I�H�	� ��� ���� 
	
�" ��	�
� �� ��	�	1	 ��� ���� ���� 
�
���	
�� �� �����	��� ����� �� �����	 
	 #�� 	 �� 
	 2�� �
 ��
� 0� 	�� �������

�� ����
��" ����
�	�
� 2�� ��� �������
�� 
� #�� 	  �' 
������	 �� #������ 
�
�� #��������	� �	�	 ����� �� �����	 ����� �#����� �� ���
��	 �
 

	 	
� !
��� 
�
���
��	���� ��#� 9����	" 2�� �����
��� 
	 �������
�
	
 
�
 ��
�" ��'	 ��������	
�� #��������	 ���� 
�!��
	 �� 
	 ���� ��
	���� ��$=� >44I ' �� ���������	
�� 
	 7����	 I�H���
�� � �� ���
� �����%	�" 
	 %�� �� #��
	 ���	
 ���� �	�� �	1�" 	��2��

�������� �������	 �� 
�������	�
� 	 #��������	�  �
�	� ' 	
�	�" �� 
����" �� ��
	
���	
� �����
��	� ���	 ���	
 �� � �������	 ���� 
� ��	
	 �� �	�
	" 
� 2��
� �
��	 2��" �� �� �� ���
��	 �� !
��� 	�����
	�	 �����" �� ���
����� �� ������
��
	�	 ����� �������	
�

������ #�	�������



8	� �� �
	������ 

�%	
	� 	 �	�� �	�	 �� �	�	� 
	� �����	������ 
� 
	 ��=
�����
	����  �
�	��� 
	 #������ ���� ' 
	 �������
	���� ��
��� �����	 ������ �

��2�� 	 
� 
	 7����	 I�4" �� �
 ��	
 �� 
������ 
� M  �����	� ��� �����
�

� 
	 ���	
 	 �������
	�" x[m]" ����
� M �� %	
�� �
�%	
� :M > 100;� ���0	
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	���� ���� #����� 	 
	 �������
	���� ��
��� 6J
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.	���� &�#� 8	 ���	
 
� %��� 	; �������� ��� �
��" �; !
��� 
� ���
��	����
��#� 9����	�

���	
 �� !
��	
	 ��� �� !
��� �	�� �	1� �
�	
 ��� #��������	 
� ����� ωc = π/M
:� �
� ���	
�  �
�	��� �9����	� 77�=�77�; ' ��������� ���� 
��� 	
	 ���
�� #	���� M " ������9�
��� 	�� ��	 ��������	" xs[n]"  ������	
	 	 fs = 1� 8	
��������	 ������	
 x[m]"  ������	
	 	 fs = M " ���%��� 
� ��#������	 	 
	 0��	

� �� �	�	� 
	� 
������	� �9����	� �������
	����	� 	�
��	
	� ����� xs[n]�
)
 ������� 
� ��	���!�	���� ��  �
�
	  �
�	��� �� ���
� 	
���%� ���#��=

 � ' �
	���" nq[n]" 
�  �
�	 ��
	 ' %	��	��	 �2��%	
���� 	 
	 ���%��	
	 ���
�� ��	���!�	
�� ��� b ���� 
� ����
������ �	�	 �
 �	�� 
� ���	
�� ��'	 	 �
�=
��
 ���	 ��	 
����������� >	����	�	 
�  �
�	 ��
	 ' �������	 σ2

x" �
 ���
� 
�
��	���!�	���� ������� ��	 �������	 � P�	'	��O6Q

σ2
n = σ2

x10
7−6b
10 , :I�H6;

 �����	� 2�� ��	�
� �� ��	�	1� ��� ���	
�� ��� 
����������� 8	�
	��	�	 :���=

��	
	 0	����	
 ���� �	�	  �
�
	� 
	 ���	
 
� %��;" 
	 %	��	��	 
�
 ���
� 
�
��	���!�	���� �����

σ2
n = σ2

x10
12−6b

10 . :I�HL;

7��	
 ����" 
	 �������
	���� ���� �� ��	
��	  �
�	��� �� ������� 
� 77�"
��

��� ��� ����� � �77�"  �����	� 2�� 
	 �������
	���� ��
��� �����	 �� 

�=
%	 	 �	�� �����
��	�
� ���
������� 
� �������� 2�� � �
�2��� �����
���
	
"
���� �	��� 
	 ���	
 
� ��#������	" x[m]" �� � 
	 ���	
 �������
	
	" x�	
�[m]" ���
�����
��	��

�$� ��
��
��� �
� ���������
�
 
� ���������� 
� P (|X| > xsc) = 5 · 10−5� �� !�� ��������
���� �� ���� 3������
�� !�� �� ����� 
� ���������� 
�� ���
��%��
�� �� x�� = 4σx�

�>��� �
� ��D�� 9�������
� ��
 P (|X| > x��) = 5 · 10−5 ������� x�� = 7σx�
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�
x[m] 7�
��� �
�	


�	�� ?	1�
ωc = π/M

�
xf [m]

↓M �
xs[n]

��
���

nq[n]

xq [n]

� 77�(L) � �77�(LM) �
x�	
�[m]

� �������
	���� ��
��� �����	
�����
��	

�
x��
	
�[m]

.	���� &�$� )�2�� 	 
� 
	 �������
	���� 
� ���	
�� �������	 ���� 
� ��	
	�
�� �	�
	�

&�$�$�#� "������
�� ��� ������� ������� ����	���
���� �	
	��
�� ��
���
�

)� ��� �� 
��	�" �� �����
��	 2�� 
	 ���	
 	 �������
	�" x[m]" �� ��	 ��=
������	 �
	��	 �������	 ���� 
� ��	
	 �� �	�
	 ' ��� �� ������ #	���� 
� ��=
��� �������" R" 2�� ���������	 
	 ��
	���� ����� 
	  �3� 	 #��������	 ��������
�� 
	 ���	
" fc" ' 
	 #��������	 
� +'2����" fs/2@ �� 
����"

R =
fs

2fc
. :I�HM;

)��� ���� 
� ���	
�� �� �����	�  �
�	��� �
 !
��	
� �
�	
 �	�� �	1� :���
#��������	 
� ����� fc = fs

2R ; 
� ��������	� >	����	�	� ' �
	��	�� ���������=
 ����" 
	 ���	
 x[m] 	��	%���	 �
 !
��� 	�����
	�	 ����� �
�	
 :2�� �� ���� �	��
�� ���
�� �#���� 	
���� ��� ��� 2�� R ≥ 1;" ��  ������	 ' �� ��	���!�	" ����=
��9�
���  �����	� ���
��	� 
� 
	 ���	
 ������	
" xq[n]" 2�� ����� �������
	
	�
 �
�	��� 
�� 
��  9��
�� �����
��	
�� :���� ' ��
���; ��� �
 !� 
� ������� �

����� �� ���
� ��� �	
	 ��� 
� �

�� �	�	 
�������� %	
���� 
� ����� ��������
)� 
	� �� �
	������ ��	
��	
	� �� 0	� � �
�	
� N = 100 ��������	� 
�

LM  �����	� :��� L = 1000 ' M = 100; �	�	 �	
	 %	
�� 
� ����� �������"
R ∈ [1, 32] ' �	�	 �	
	 ����
����� �����
��	
	" b ∈ [2, 16]� )� 7����	 I�I �� ��=
�������	 
	 ���%	 �� �
 �
	�� R−b 
��
� 
	� �����	������ 
� 
	 �������
	���� ����
' 
	 �������
	���� ��
��� ��� �
9����	� �� �9� ���� 
� ����� ��	
������  �
���
������ 
�
 �
	�� R−b 	 
	 ��2����
	 
� 
	 ���%	 �������	�  �1���� �����	������
�	�	 
	 �������
	���� ��
���� �  �
� 
� �1� �
�" �	�	 ��	 ����
����� �����	 
�
b = 8 ����" 
	 �������
	���� ��
��� ������� ��	 ��
�����  �� ������	 ��� ��� 2��
�
 #	���� 
� ����� ������� ��	 �������� 	 R = 2,2@ 0��0� 9��� �	��	��� 0	����	

�� 
	 �������	" 
	
	 
	 �� �
�	
�
	
 
� 
�� !
���� 	�����
	�	 ������
)� �����	��� �� ���	� 2��" �� 
	 ������ R− b 
��
� 
	 �������
	���� ��
���

�����	 	 
	 �������
	���� ����" 
	  �1��	 �� ��  �' ����	���	
 :����� 0,5 ' 1 
?;"
 �����	� 2�� 
	� �����	������ 
� 
	 �������
	���� ��
��� �� 
���	
	� �����
�=
�	�
� ���� �� ��	��� �����
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 ��1���%� �������� �� �	
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y[n] = xi[n−D] = h[n] ∗ x[n] =
+∞∑

k=−∞
h[k]x[n− k]. :I�HJ;
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� ��������

h	���
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xi[n−D] = h	���
[n] ∗ x[n] =
+∞∑

k=−∞
sinc [k −D]x[n− k]. :I�HK;
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xi(t) =
N∑

k=0

x(tk)LN,k(t),
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� �
 k=9�� � ��
��� �� 
� 8	��	��� 
� ��
�� N ��

LN,k(t) =
N∏

i=0
i�=k

t− ti
tk − ti

, k = 0, 1, . . . , N.
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	 ���#�� � ����" �
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y[n] = xi[n−D] =
N∑
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hL[k]x[n− k], :I�45;
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	 ��
�	�
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N � � � �

hL[0] � 1 − D (D − 1)(D − 2)/2 −(D − 1)(D − 2)(D − 3)/6
hL[1] D D(D − 2) D(D − 2)(D − 3)/2
hL[2] (D − 1)(D − 2)/2 −D(D − 1)(D − 3)/2
hL[3] D(D − 1)(D − 2)/6
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e[n] = xi[n−D]− xL[n−D] = x[n] ∗ (hi[n]− hL[n]),


��
� hi[n] �� �
 !
��� ���	�
	
�� �	�� �	1� �
�	
 :I�HO; ' hL[n] �
 !
��� 
�
���	�
� #�	�����	��� 
� 8	��	��� :I�4H;�
)
 ����� 
� �������
	���� 
����
� 
� 
�� #	������� 
	 ���	
 
� ����	
	 ' 
	


�#������	 ����� �
 !
��� �
�	
 ' �
 ���
��	
�" ����
� ���� �
�� � #	���� 
����
���=
�� 
�
 ���	�
� #�	�����	
 ' 
� 
	 #��������	 :�" 
� #�� 	 �2��%	
����" 
�
 #	����

� ����� �������;� �	
� 2�� 
	 ��������	 
�
 !
��� �������
	
�� �� 	�	��	 
� 
	
�
�	
 
� #�� 	  ������	 ���#�� � 	� ���	 
	 #��������	" �� � �� 
� �����	
�� �
 ��9�
��� ��H" �
 �����  �3� � ����� 
��	� ��	�
� 
	 ���	
 
� ����	
	 ��
��	 �������
� ��'	 #��������	 �� 
	  �3� 	 ��� ���
	 P,	 ��	
O6Q

x[n] = A cos (ω0n).

)
 �	�� ����" �� 
� 2�� �������	 	
 ���	�
� #�	�����	
" �� ���
��� ��	�
� 
	

���	���	 ����� �
 ����� 
� �������
	���� ' 
	  �����	  �� ����	�	 ��	  �3� 	
P8		E��KMQ" �� 
����" ��	�
� d = 0 �	�	 N � �	� ' d = 0,5 �	�	 N �	�� ���
� �	���" ' ��� �� �
���
	
" �� 
	� ���������� �3��������� ��  	����
�� D �� �
�	�� �����
)� ���	� ���
�������" �
 ����� 
� �������
	����" eI " �� ���
� �������� �� �

eI [n] = A

(
cos [(n−D)ω0]−

N∑
k=0

hL[k] cos [(n− k)ω0]
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eI [n] = AeI cos (ω0n + φe).
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|eI [n]| =
∣∣x(N+1)(ξ(t))

∣∣
(N + 1)!

N∏
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|t− tk|, :I�44;
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|eI [n]| ≤ A

(N + 1)!
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2πf0

fs

)N+1 N∏
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AeI ≤ A

(
π

RCN (D)
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log 2(2R/π)
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k
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q

l
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k

)(
q
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(−1)k+le−jΩ[k−(p+1)/2+α(l−q/2)]Xp+1+q

+ .
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 ��	��	
� 4�M�4" �� ������� � ����� ��	 ���
�����
	
�����	
 	 
	� �	��� α=��
���" ����������� �� 2�� :6�M; ��	 �	�	� 
� 	���3� 	�
��	
2���� ���	
 
� #�� 	 �	� ������	 �� � ��	 �����	��� ���  �� 2�� ��
������	�
�� �����
� 
�  ������� ��!������ ���� ��2����� �	
 ' �� � �� 
� �����	 ��
P$����55Q" ���	 ���
����� �2��%	
� 	 2�� 
	� #�������� �	�� #�� �� ��	 ����
�
)�
�� �� ��
����

6�����	�	�� '�$ 96���	�	�� 
� �� C�	
�
 α(���	��: 6� �������� �� (��

�
���� %��� α
���
�� {βα (t− n)}n∈Z

(����� ��� ����
�
)� �� �� ��
����

��
������	�� '�$ 0��
���� ��� �� �� ()����� ���*���� ��� �������
� ��
@�
���� ∑

n∈Z

x(n) =
∑
k∈Z

X(2πk),



J5 �	����
� 6� α=��
����

����� X(Ω) = TF {x(t)}� � ���
���� �� ������ �A�B�� �� �%�
���∑
n∈Z

β[p→p+q]
α (t− n) =

∑
k∈Z

B[p→p+q]
α (2πk) e−j2πkt

=
∑
k∈Z

[
sin (πk)

πk

]p+1 [ sin (απk)
απk

]q

e−j2πkt = 1,

������ ��� sin (πk)/(πk) = δ[k]�

)���� ����
�	
�� 	�����	� 2�� 
	 ���������	���� :6�M; �� ���	�
� ' 2�� �

���	��� :6�J; 
�!��
� ��� 
	� �	��� α=��
��� �� �� ������	��� ����	
� 
� L2" '
���	�
���� 
	 �	�� ������	 ����� 
	 2�� �� #��
	 ���	 �
 ����� 
�
 �	����
��

!��� .
�� α+���	
�

��� 
�
	" 
�� ��
���� 
���	
�� ' 
�� ��
���� ������� ���" 
� ��
�� 
�� ��
����"

��  �� � �
�	
��� ��� ���	 �	���" �� ���	 ����� �� �����	�� ������	
 	�������
	 
�� α=��
���� 2�� ��	�������	� ����� �
 ��
��� 
���	
 ' �
 ������� ���" 
� #�� 	
�����	
" �� �����
��	�� 
	 �	�� α=��
���" 
����	
	 βα (t)" �� � 
	 ���%�
�����

� 
�� ��
��� ����	���
	��� 
� 
��	���� ����	��	 ' 
�� ��
��� ����	���
	��� 
�

��	���� 0 ≤ α ≤ 1" �� 
����" �� ��	�	 
� ��	 �	�����
	���	���� 
� 
�� α=��
����
�������	
�� �� 
	 	������� ������� �	�	 p = 1 ' q = 2

βα (t) = β[1→3]
α (t) = β0 (t) ∗ pα (t) ∗ β0 (t) ∗ pα (t) . :6�O;

�	�����
	���	�
� :6�L; �� �����

βα (t) =
1

6α2

2∑
k=0

2∑
l=0

(
2
k

)(
2
l

)
(−1)k+l (t− k + 1− α(l − 1))3+ , :6�K;

' 
��	���

	�
� �� �������� 
	 ���������� �3��������� 
� 
	 �	�� α=��
���"

βα (t) =

⎧⎪⎪⎪⎪⎪⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎪⎪⎪⎪⎪⎩

1− |t| − 1
3α2 (α− |t|)3, t ∈ T1;

1− |t|, t ∈ T2;
(α+1)(3−(α−2)2−3t2)

6α2 + (α−1)2+t2

2α2 |t|, t ∈ T3;
1− |t|+ 1

6α2 (α− 1 + |t|)3, t ∈ T4;
1

6α2 (α + 1− |t|)3, t ∈ T5;
0, t ∈ T6;

:6�H5;


��
� T1 = {|t| < mı́n(α, 1 − α)}" T2 = {α ≤ |t| < 1− α}" T3 = {1− α ≤ |t| <
α}" T4 = {máx(α, 1−α) ≤ |t| < 1}" T5 = {1 ≤ |t| < 1+α} ' T6 = {|t| ≥ 1+α}�
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.	���� '�$� ?	�� α=��
���" βα (t)" �	�	 
�������� %	
���� 
�
 �	�� ���� α�

��� ���� 
	
�" �� ��	��#�� 	
	 
� 7������ ��

Bα (Ω) = TF {βα (t)} =
[
sin (Ω/2)

Ω/2

]2 [ sin (Ωα/2)
Ωα/2

]2
. :6�HH;

�� ���
� �� ����	� #���
 ����" �	��� �� 
	� �3��������� :6�O; ' :6�H5; ��=
 � �� 
	 7����	 6�4" 2�� 
	 �	�� α=��
��� ��������	 �� �
9����	 	 
	 �	�� 
���	
"
β1 (t)" ��	�
� α = 0@ � ���	
 	
 ?=��
��� ������" β3 (t)" ��	�
� α = 1� �	�	 %	=

���� ����� �
��� 
�
 �	�� ���� α �� �������� #�������� �	�� 2�� �� ��������	�
����� 	 �	� ��
�������" ������	 ��	�
� 
	 ���%	���	 ���� 	 
� 
	 �������
	����
 �
�	��� ��
���� ������� ��� ��	 ��
�����  �� ���3� 	 	 
	 �������
	���� 
���	

	 ��	 ��@ ���� ��� ���" �3����� �	�	 �
 %	
�� 
� ��� 
� α = 0"  	�������
� 
	
��������
	
 
� 
	 ��� ��	 ' �����
	 
���%	
	��

)� ��������" 
	 �3������� 
� 
	 ��� ��	 
���%	
	 
� 
	 �	�� α=��
��� ��

β(1)
α (t) =

⎧⎪⎪⎪⎪⎪⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎪⎪⎪⎪⎪⎩

sgn (t) (α−|t|)2−α2

α2 , t ∈ T1;
− sgn (t), t ∈ T2;

− sgn (t) 4α−(α−|t|+1)2+2x2

2α2 , t ∈ T3;

sgn (t) (α+|t|−1)2−2α2

2α2 , t ∈ T4;

− sgn (t) (α+|t|−1)2

2α2 , t ∈ T5;
0, t ∈ T6;

:6�H4;



J4 �	����
� 6� α=��
����

 �����	� 2�� 
	 �����
	 
���%	
	 �� ������� �� �"

β(2)
α (t) =

⎧⎪⎪⎪⎪⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎪⎪⎪⎪⎩

−2(α−|t|)
α2 , t ∈ T1;

0 t ∈ T2;
−α+3|t|−1

α2 , t ∈ T3;
α+|t|−1

α2 , t ∈ T4;
α−|t|+1

α2 , t ∈ T5;
0, t ∈ T6.

:6�HI;

�� ���
� 	�����	�" �	��� �� :6�HI; �� � �� 
	 7����	 6�I�" 2��" �� � ��
�
 �	�� 
�
 ��
��� ������" ��
	 
	 #	 �
�	 α=��
��� ����� ��	 
���%	
	 �����
	
�������	 ' 
���	
 	 ��	 ��� )��� 0��0� ����
�	 �%�
���� 	
 �3����	� 
��0	 #������
�� � �� 	 
� ��
��� ���	���
	���" �� 
����"

β(2)
α (t) =

1
α

[
∆
(

t + 1
α

)
− 2∆

(
t

α

)
+ ∆

(
t− 1

α

)]
.

��� �
�� �" 
	 ������	 
���%	
	 
� 
	 #������ �	�� α=��
��� %���� 
	
	 ���"

β(3)
α (t) =

⎧⎪⎪⎪⎪⎪⎪⎪⎪⎨
⎪⎪⎪⎪⎪⎪⎪⎪⎩

2 sgn (t)/α2, t ∈ T1;
0, t ∈ T2;
3 sgn (t)/α2, t ∈ T3;
sgn (t)/α2, t ∈ T4;
− sgn (t)/α2, t ∈ T5;
0, t ∈ T6.

:6�H6;

V��	 �� ��	 #������ ���	
��	
	 :%�� 7����	 6�I��;" �� 
����" 
	 
���%	
	 ���=
���	 
� 
	 �������
	���� α=��
��� �� �����	��� 	 ��	 ��� ��� �

�" ���
� ����
�	�
�
	��!�	
�� �3����	�
	 �� �9� ���� 
� #�������� ��
�� ����	���
	���"

β(3)
α (t) =

1
α

[pα (t + 1 + α/2)− pα (t + 1− α/2)− 2pα (t + α/2)

+2pα (t− α/2) + pα (t− 1 + α/2)− pα (t− 1− α/2)] .
:6�HL;

���%���� ���	
�	� 2�� 
	 �	�� α=��
��� 0���
	 
	� ������
	
�� 
� 
	 #	 �
�	
α=��
���" β[p→p+q]

α (t)" ������ 2�� �� ��  �� 2�� �� �	�� �	�����
	� 
� 
	  �� 	�
)� ��������" �
 ���1���� 
� �	��� α=��
���" {βα (t− n)}n∈Z

#�� 	 ��	 �	�� 
�
,���� 
�
 ���	���

V (βα) =

{
sα(t) =

+∞∑
n=−∞

c[n]βα (t− n) : c[n] ∈ l2

}
,
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�������� %	
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�
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J6 �	����
� 6� α=��
����

���� �� �� �
� 2��

A||c||2l2 ≤
∥∥∥∥∥∑

n∈Z

c[n]βα (t− n)

∥∥∥∥∥
2

≤ B||c||2l2 , ∀ c[n] ∈ l2;

���

A =
(

2
π

)4

sinc4
(α

2

)
,

B =
4
3
.

���  �� �" 
	� �	��� α=��
��� ��������'�� ��	 �	������� 
� 
	 ���
	
" 
� 2��"
���
� 	 
� 	�������" 	�����	 �� 	
���	
� �� ����	 ����� 
� 
	 �������
	����
α=��
����

!�!� �
������
�	�
 α+���	
�

8	 �������
	���� α=��
���" sα(t)" 
� ��	 ���	
 x(t) �� ���
� �������� �� �

sα(t) =
∑
n∈Z

c[n]βα (t− n) , :6�HM;


��
� βα (t− n) �� 
	 �	�� α=��
��� �����	
	 �� t = n" ' c[n] ��� 
�� ���!�������
α=��
��� 2�� �� �
�� 
	 ���
����� 
� �������
	����

sα (n) = x(n), ∀ n ∈ Z. :6�HJ;

)��	 �3������� 0	�� ��#������	 	 ���	
��" � #��������" 
� 
��	���� ��!���	�
�	
� 2�� �� 
	 �������	 
	� ���	
��  	��1	
	� :��9�����" ��� �1� �
�" �� � �=
�����; ������ 
��	���� !���	 :x(n), n = 1, . . . , N; �� 0	�� �����	��� � �����
�� ���1���� 
� ���
������� 
� ��������� 8	 ����
����� 
� ���� ����
� 	 ���
�
	#����	��� 
� ��	 #�� 	 �� �
	� 	 
	 ��	
�����	
 �������
	����  �
�	��� ��
�=
��� ������� P?���JOQ" �� 
����" �
	���	�
� �� ����� 	 
� ���	������ ���
�	���	

2�� �� �����
%� ��	�
� �9����	� �� 9���	� �����
	�" ��� �
 !� 
� ������� 
��
���!������� c[n] 
� :6�HM;�
���  �� �" ���
� ���
��	��� 
	  ���
�
���	 : �� �!������; �
	���	
	 ��

P$����KI	Q ' P$����KI�Q �	�	
	 �� !
��	
� 
����	
" 	��2��" �%�
���� ����" ���
�����	�  �
�!�	������ 2�� �� �������	��� ��������� �����

������ #������� 	��������

(	����	
 ����" 
�� ����
� 	� 
� �������
	���� ' 	���3� 	����  �
�	���
��
���� �� �����
%�� ���
��	�
� #�� �
	������  	�����	
�� P?���JOQ� �� #�� 	



6�6 �������
	���� α=��
��� JL

���	
 ���� �2��%	
���� �� ���
� 	#����	� �
 ����
� 	 
� �������
	����  �
�	���
α=��
�����
�� �����
��	 
	 �������
	���� 
� + ������" �� 
����"

sα (n) = x(n), ∀ n = 1, 2, . . . , N. :6�HO;

�	�	 �� �
�!�	� 
	 ���	����" 
�� %	
���� 
� 
	 �	�� α=��
��� �� 
�� ����	����

�  ������� :%	
���� ������� 
� t; �� 
����	� �� �

a = βα (t)|t=0 =
3− α

3
,

b = βα (t)|t=+1 = βα (t)|t=−1 =
α

6
;

����
� �
 ����� 
� %	
���� :βα (n) , ∀ |n| ≥ 2; ��
��� )
 ������� �� �	��� 
� 
	�
#�������� �	�� α=��
��� ���%��	 2�� �� �	
	 ��	 
� 
	� ���
������� 
� �������
	=
���� 
� :6�HO; �����%���	� ����	 ���� ���� #�������� �	��� 
	� ���������
������
	
 ����� �� ��������" 	
 	������� ' 	
 ���������@ ����
�	�
�

x(n) = sα (n) =
+∞∑

k=−∞
c[k]βα (n− k)

= bc[n− 1] + ac[n] + bc[n + 1], 2 ≤ n ≤ N − 1. :6�HK;

)� 
�� �3��� �� 
�
 �����%	
� �� 
���� �����
��	� 
	� ���
������� 
� #������	�
��� ���
� 2�� 
	 ���	
 ������	
 �� �����
��	 
� �����
� N

x(t) = x(t + kN), ∀ k; :6�45	;

'" ��� �	���" �	 ��9� 
�� ���!������� α=��
���

c[n] = c[n + kN ], ∀ k; :6�45�;

��������" �� 
�� �3��� �� 
� 
	 �������
	���� 
���� �� �
���� 
	� ���
�������

x(1) = bc[0] + ac[1] + bc[2] = bc[N ] + ac[1] + bc[2],
x(N) = bc[N − 1] + ac[N ] + bc[N + 1] = bc[N − 1] + ac[N ] + bc[1].

)3����	
� �� #�� 	  	�����	
" �
 ����� 	 	 ����
%�� ��	�
� �� �����
��	�
���
������� 
� #������	 �����
��	� ��⎡

⎢⎢⎢⎢⎢⎣
a b 0 0 . . . 0 b
b a b 0 . . . 0 0
0 b a b . . . 0 0
���
���
���
���
� � �

���
���

b 0 0 0 . . . b a

⎤
⎥⎥⎥⎥⎥⎦

⎡
⎢⎢⎢⎢⎢⎣

c[1]
c[2]
c[3]
���

c[N ]

⎤
⎥⎥⎥⎥⎥⎦ =

⎡
⎢⎢⎢⎢⎢⎣

x(1)
x(2)
x(3)
���

x(N)

⎤
⎥⎥⎥⎥⎥⎦ . :6�4H;



JM �	����
� 6� α=��
����

8	 �� ����	 ������
	� �� 
�� �3��� �� :����	���� 9��	 0	����	
 �� ������	
�

� � 	���; #����	 2��

x(t) = x(2N − t), N ≤ t ≤ 2N − 1;
c[n] = c[2N − n], N ≤ n ≤ 2N − 1;

' 2�� �	��� 
	 ���	
 ������	
 �� � 
	 ��������	 
� ���!������� 
� 
	 �������
	����
��	� �����
��	� 
� �����
� 2N − 1" �� 
����"

x(t) = x(t + k(2N − 1)), ∀ k;
c[n] = c[n + k(2N − 1)], ∀ k;

����
�	�
� 2��" 	
� �� 
� 
	� ���
������� 
	
	� ��� :6�HK;" �� 
�� �3��� ��

��� �� �
����

x(1) = bc[0] + ac[1] + bc[2] = bc[1] + ac[1] + bc[2],
x(N) = bc[N − 1] + ac[N ] + bc[N + 1] = bc[N − 1] + ac[N ] + bc[N − 1].

��� 
� �	���" �
 ����� 	  	�����	
 ���������
����� 	 
	 �������
	���� α=��
���
��� ���
������� 
� #������	 ������
	��� ��⎡

⎢⎢⎢⎢⎢⎣
a + b b 0 0 . . . 0 0

b a b 0 . . . 0 0
0 b a b . . . 0 0
���

���
���
���
� � �

���
���

0 0 0 0 . . . 2b a

⎤
⎥⎥⎥⎥⎥⎦

⎡
⎢⎢⎢⎢⎢⎣

c[1]
c[2]
c[3]
���

c[N ]

⎤
⎥⎥⎥⎥⎥⎦ =

⎡
⎢⎢⎢⎢⎢⎣

x(1)
x(2)
x(3)
���

x(N)

⎤
⎥⎥⎥⎥⎥⎦ . :6�44;

)� �����
� � ����� ���	� ���
������� 
� #������	" �	
�� �� � !1	� �
 %	
�� 
�

	 
���%	
	 :� 
� 
	 
���%	
	 �����
	; �� 
�� ������ �3��� �� 
�
 �����%	
�� )�
��	
2���� �	�� �
 ����� 	 
� ���	������ ���
� ��� �����
��  �' �!������ ����
 �
�	��� �
� ��	���� >	����	�	 � #	������	���� 8$ P>�
��OKQ�

������ #������� 	
�����
 .������ ��"����

� �	���� 
� 
	 �3������� :6�HM;" �� �����
� �����
��	� 
	 �������
	���� �� �
��	 ���%�
����� :!
��	
�; 
� 
�� ���!������� 
� �������
	���� c[n] ��� 
	 #������
�	�� α=��
���

sα(t) =
∑

n=∈Z

c[n]βα (t− n) = c[n] ∗ βα (t) . :6�4I;

)��� ������� 
� �������
	����" 
��
� �
 ����� 
� %���	 
� !
��	
� 
����	
"
��  �����	 �� 
	 7����	 6�6� ����
�	 �%�
���� 2��" �	�	 �� �
�� 
	� ���
�������

� �������
	���� :6�HJ;" �� ������� 2�� �
 
��� ��	
� !
��� 
������ α=��
���"

����	
� ��� dα[n]" ��	 �
 ��%���� 
�
 !
��� ��
������" βα (t)" 
��������	
��



6�6 �������
	���� α=��
��� JJ

�
x(t) ���%�

�T�
�

x[n] 7�
���
�������
α=��
���

� �� �
� �

�
dα[n] = (bα [n])−1

�
c[n] ���%�

�T�
�

c(t) 7�
���
��
������
α=��
���

�
sα(t)

βα (t)

.	���� '�'� )�2�� 	 
� �������
	���� α=��
����

�������	�
� 
	 �	�� α=��
��� �� 
�� ����	���� t = n ∈ Z" �� �������

bα [n] = (αδ[n + 1] + (6− 2α)δ[n] + αδ[n− 1]) /6, :6�46;

��'	 ��	��#�� 	
	 z ��

Bα(z) =
(
αz + (6− 2α) + αz−1

)
/6.

��� 
� �	���" �	�	 ������� 
�� ���!������� c[n] �� �����	��� !
��	� 
	 ��������	
x[n]  �
�	��� �
 !
��� ��%���� 
� bα [n]" �� 
����" �� !
��� 
����	
 ��� 
	 ���������
#������ 
� ��	��#������	

Dα(z) = (Bα)−1 (z) =
6

αz + (6− 2α) + αz−1
=

6
α

1
1− z1z−1

−z1

1− z1z
, :6�4L;

2�� ����� �� �	� 
� ��
�� ��	
�� ���������� {(z1, z
−1
1 ), |z1| < 1}" �� 
����" z1


����	 �
 ��
� ����	
� 
����� 
�
 �����
� ���
	
 ' ��'� %	
�� ��

z1 =
α− 3 +

√
9− 6α

α
∈ R. :6�4M;

�	
� 2�� 0 ≤ α ≤ 1" �������� z1 �� 	 %	
���� ���	��%�� �� �
 �	���

−2 +
√

3 = −0,26795 ≤ z1 ≤ 0.

��� ���� 
	
�" �� �����
� ������� �
 %	
�� 
� α 	 �	���� 
� z1" ���  �� 2��

����1	� 
� :6�4M;"

α = − 6z1

(1− z1)2
. :6�4J;

�����
��	�
� ���	 �3������� ' ��	
��	�
� 
	 ��	��#�� 	
	 z ��%���	 
�
:6�4L;" �� ������� 
	 ��������	 	
 � ��
�� 
�
 !
��� 
������ α=��
���

dα[n] =
−6z1

α
(zn

1 u[n]) ∗ (z−n
1 u[−n]

)
=

(1 − z1)
(1 + z1)

z
|n|
1 , :6�4O;



JO �	����
� 6� α=��
����

�
x[n]

d+
α [n] �

c+[n]
d−α [n] �

c−[n]
(1 − z1)2 �

c[n]
βα (t− n) �

sα(t)

.	���� '�*� �������
	���� α=��
���  �
�	��� !
��	
� 
����	
�

2�� ���������	 �� !
��� 
����	
 �� 9����� 2�� 
��	� �3�������	
 ���� ' 2��
���
� ��� � �
� ���	
�  �
�	��� �� 	
����� � �������%� P$����KI�Q  �� �!=
������" �� ��	��� 	 �� ��� 
� ����	������ ��2����
	�" 2�� 
	 ����
����� 
�

����� 	  	�����	
 �2��%	
����� )� ��������" ���	 ��
����� 	
����	��%	 �� �	�	 ��

	 
���� �������� 
�
 !
��� 
������ ��
��� �� 
�� !
����� ��� �	��	
 ' ���� 	���=
�	��	
� �� �  �����	 
	 7����	 6�L" 
�� ���!�������" c[n]" 
� 
	 �������
	���� 
�
��	 ��������	" x[n]" �� ���
�� �������  �
�	��� �
 !
��	
� 
� 
��0	 ��������	
��� �
 !
��� 
����	
 dα[n] 
� :6�4O;" �� 
����"

c[n] = x[n] ∗ dα[n] = x[n] ∗ d+
α [n] ∗ d−α [n],


��
� �
 !
��� �	��	
" d+
α [n]" ' �
 	����	��	
" d−α [n]" �� 	� 
	 #�� 	

d±α [n] = z±n
1 u[±n],

��� ��	��#�� 	
	 z

D±
α (z) =

1
1− z1z∓1

. :6�4K;

��� 
� �	���" :6�4O; ���
� ��� ��������	 �� �

dα[n] =
−6z1

α
d+

α [n] ∗ d−α [n] = (1− z1)2d+
α [n] ∗ d−α [n]. :6�I5;

)��	  ���
�
���	 #�� 
��	���

	
	 ��� �� $���� ' ����� 	������ P$����KI�Q
�	�	 ��	
��	� 
	 �������
	���� ��
��� 
� ��	
2���� ��
�� � ������
� ���
�������

� #������	 ������
	��� :�����	 ���� ���
��	
	� �� �
 ������	
� 
� � ������;�
)� ���	 �����" ����� �� 0	 
������� �� �
 �������� 	�	��	
�" �� 	
	��	 
��0�  9=
��
� �������%� 	 
	 �������
	���� α=��
��� ' �� �3����
� 
�  	���	 2�� ��� ��	
���
��	� ���
������� 
� #������	 �����
��	� : �� 	
���	
	� �	�	 �
 ������	
�

� ���	
�� ���
� ������	
��;" �	
 ' �� � �� �������	 	 �������	�����

'�'�$�#� ���
	�	���� 
� ,������� ���	�
	���

8	 �������
	���� α=��
��� 
� ��	 ��������	 x[n] 
� N ������ ��� ���
�������

� #������	 �����
��	�" �� 
����" 
� ��	 ���	
 2�� �� �
�

x(t) = x(t + kN), ∀ k;



6�6 �������
	���� α=��
��� JK

���
� ����
%���� �������%	 ���� 
� #�� 	  �' �!������" ���� ��2����� ����	=
 ���� (5N − 2) ����	�������
)� ��� ��" 
��	� �� ������� ��	
��	� �
 !
��	
� 
� 
	�  �����	� x[n]  �
�	���

�
 !
��� �	��	
 ��, d+
α [n] :%�� 
	 7����	 6�L; ��� �
 !� 
� ������� 
�� N %	
����


� 
	 ��������	 c+[n]� ����� :6�4K;" �� �%�
���� 2�� c+[n] = x[n] + z1c
+[n− 1]@

��� � �	��� �� �����	��� ������� �� %	
�� �����	
 �	�	 �� ���	� 
	 ����������
(	����
� ��� 
� 
	 ���
����� 
� �����
���
	
 �� �������

c+[1] = x[1] + z1c
+[0] = x[1] + z1c

+[N ],

'" �������
� 
	 ���������"

c+[1] = x[1] + z1c
+[N ] = x[1] + z1(x[N ] + z1c

+[N − 1]) = · · ·

= x[1] +
N−1∑
n=1

zn
1 x[N − n + 1] + zN+1

1 c+[1],

����
�	�
� �� %	
��

c+[1] =
1

1− zN
1

(
x[1] +

N−1∑
n=1

zn
1 x[N − n + 1]

)
, :6�IH	;

2�� ��� ��� �����	� �
 !
��	
� �������%�

c+[n] = x[n] + z1c
+[n− 1], n = 2, 3, . . . , N. :6�IH�;

)� �����
� 
��	�" �� ��	
��	 �
 !
��	
� 
� 
	 ��������	 c−[n] ��� �
 !
���
	����	��	
 ��, d−α [n]� )� ���	 ��	���� �� ������� �	
��
	� �
 %	
�� c−[N ] 2��
������
��� �����	� 
	 ��������� c−[n] = c+[n] + z1c

−[n + 1] 
	
	 ��� :6�4K;� ���"
������ 2�� c−[N + 1] = c−[1]" �� �����

c−[N ] = c+[N ] + z1c
−[N + 1] = c+[N ] + z1c

−[1]

= c+[N ] + z1(c+[N − 1] + z1c
−[2]) = · · ·

= c+[N ] +
N−1∑
n=1

zn
1 c+[n] + zN

1 c−[N ],

������9�
��� �
 %	
�� �����	


c−[N ] =
1

1− zN
1

(
c+[N ] +

N−1∑
n=1

zn
1 c+[n]

)
, :6�IH�;


� 
	 ���������

c−[n] = c+[n] + z1c
−[n + 1], n = N − 1, N − 2, . . . , 1; :6�IH
;
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� 6� α=��
����

7��	
 ����" �� 	�
��	 
	 �����	���  �
���
��	��%	 	 
	 ��������	 c−[n] �	�	
������� 
�� ���!������� α=��
���

c[n] = (1 − z1)2c−[k], n = 1, 2, . . . , N ; :6�IH�;

' �%	
�	� :6�HM; �	�	 ������� �
 %	
�� 
� 
	 �������
	���� α=��
��� �� 
�� ������

���	
���

'�'�$�$� ���
	�	���� 
� ,������� �����������

)� 	�
��	������ 
� ������	
� 
� � 	���" ����
�	 0	����	
 � ����� ���
�=
������ 
� #������	 ������
	��� 2�� �%���� 
����������
	
�� �� 
�� ���
�� 
� 
	
� 	��� �������
	
	" �	�	 
� ��	
 �� �3����
� 
	 #������ x[n] ��� 	 ��� 
	
��
���
��	�
� �� � 	��� ������
	�" �� 
����"

x(t) = x(2N − t), N ≤ t ≤ 2N − 1;

����
�	�
� ��	 ���	
 �����
��	 
� �����
� 2N − 1" �� 
����"

x(t) = x(t + k(2N − 1)), ∀ k.

)� ���	� ��������	���	�" P$����KI�Q 
��	���

	 �
 	
����� � �������%� �	�	
������� 
�� ���!������� 
� 
	 �������
	���� ��
���� ,���
�	 �� �
�	�	 ��  �
�=
!�	���� �	�	 	
	��	�
� 	 
	 �������
	���� α=��
��� ��� �� ����	 ������
	�

c+[1] =
1

1− z2N−2
1

2N−3∑
n=0

zn
1 x[n];

c+[n] = x[n] + z1c
+[n− 1], n = 2, 3, . . . , N ;

c−[N ] =
1

1− z2
1

(
c+[N − 1] + z1c

+[N − 2]
)
;

c−[n] = c+[n] + z1c
−[n + 1], n = N − 1, . . . , 1;

c[n] = (1− z1)2c−[n], n = 1, 2, . . . , N.

)
 	
����� � �� �
9����� 	
 �������	
� �	�	 �
 �	�� 
� ���
������� �����
��	�
�	
%� ��� 
�� %	
���� �����	
�� 
� 
	� ����������� :c+[1] ' c−[N ];�

������ /��
��������� ������ 	
�����
 α&
����
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���
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�" �
 ��� 
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������ �	�	 ������� 
�� ���!������� 
� 
	� #��������
�	��@ ' �� ����
� 	 ��
������ 2�� �����	 
	 ���	
 �������
	
	 	 �	���� 
� 
��0��
���!�������� 8	 �������
	���� 
���	
 �������	 
	 
��
� %���	1	 
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����� 
�
 ����
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������ :
�� 
	��� ��� �� ��  �� �� 
�� ���!������� 
�

	� �	��� ���	���
	���; ' 
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	 �� �
���
	
 ' �!������	 	 
	 0��	 
� �����	� 
	�
 �����	� 
� �	
�
	�
��	�
� �� ������	 �� 	
�� ��	
� 
� ��	%�
	
" 
	 ��
�����  �� 0	����	
 ���


�� ��
���� �������� ��� �1� �
�" �� ��
� ������	 ����� ' ��	��#�� 	������ ���=
 9����	� 
� � ������" ��	 �������
	���� 
���	
 �����	 � ������ �� �����	� ���
�
	��� ' 	����	�"  �����	� 2�� 
	 �������
	���� ��
��� �����	 ���
��� � ������
��� ���%	� ' ��	��������� ��	%��� )� 
	 �������
	���� ��
��� �����	 �� �������
��
�����	� �
 ����
� 	 
������ :���� ��	  �
�	��� ��%������  	�����	
 P?���JOQ
� !
��	
� 
����	
 P$����KI�Q;" �	�	 
� ��	
 ��� �����	��	�  �
���
��	������ '
�� 	� �� 	��� 9���	 
� ����� C��	���"  �����	� 2�� �
 ����
� 	 ��
������ ��
���
� � �
� ���	� �� ����� !1��
)� P7���	��KKQ �� �������	 ��	 �9����	 2�� ��� ��� �	
��
	� 
�  	���	 �!=

������ 
�� ���!������� 
� 
	 �������
	���� ��
���  �
�	��� �� 	� ' 
���
	�	=
 ������ �� 	��� 9���	 
� ����� !1�" 
� 2�� �� �
�!�	 :' �� 	
����� �	��� ����=
��
��	; 
	 � �
� ���	���� 0	�
D	��" ����� ��
� �� 	�
��	������ �� ��� �� ��	

� �� �
	����
)� ��������" �� �
 !
��� 
����	
 �������
	����� ����� ��	 �	�� 
�
 ����

zj = −
(

1
2

)m

, :6�I4;

�������� 
�� ���!������� 
� 
��0� !
��� ��� 
� 
	 #�� 	

d[n] =
(

1
2

)mn

, :6�II;

��
�9�
��� � �
� ���	�  �
�	��� �� 	�" 
�#������	� ' 
���
	�	 ������ :�2��=
%	
����� 	 
�%������� ��� �������	� 
� 4; �� ����� !1�� ��� ���� !�" P7���	��KKQ
������� �� ���1���� 
� �	��� ��
����" 2�� 
��� ��	 (1/2)m=��
����" 2�� �� =
�
�� ��� �
 ��2������ :6�I4;" 2�� ������ �	�	���������	� ���3� 	� 	 
�� ��
����
������� ' 2�� ������
��	� ��	 � �
� ���	���� �� ���	����	
 ����  �� �!����=
��� ������ 
� 
	 #	 �
�	 
� α=��
���� �������	
	 �� ���	 �����" ���	 � �
� ��=
�	���� ����� 
� #�� 	 �	���	
" ���� �3����� ��!����� %	
���� 
�
 �	�� ���� 
�
��	%�
	
 α 2�� ����������	� �������
	������ ��'� !
��� 
������ ����� �	����
�� � �� :6�I4;�
���" ���
��	�
� 
	� �3��������� :6�4M; ' :6�4J; 2�� ��
	����	� α ��� 
	 �	��

z1 
�
 !
��� α=��
��� �� �����

z1 = −
(

1
2

)m

⇔ α =
3

1 + 2m−1 + 2−m−1
, m = 2, 3, 4, . . . :6�I6;
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 ���� z1 ��� 
���� α 8���� dα[n]

4 − 1
4 0,9600 5

3

(− 1
4

)|n|
I − 1

8 0,5926 9
7

(− 1
8

)|n|
6 − 1

16 0,3945 17
15

(− 1
16

)|n|
L − 1

32 0,1763 33
31

(− 1
32

)|n|
����� '�#� 7�
���� 
������� α=��
��� ��� ���!������� �������	 
� 
���
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� �������
	���� α=��
���" ��� 
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� α=��
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�
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	 �������
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	 ��� �
 �	�� ���� 
�
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 α" 2�� ��� ��� ������� 
��
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 ��
��� ��=
���� :m = 2; 0	��	 ��
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	 �������
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:��	�
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n∈Z

x(n)ηα(t− n),


��
� ηα(t) ���������	 �
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%� ��	 ��2���	 ������

� %	
���� ���3� �� 	 
	 #��������	 
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� �������� �����
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X [k] =
N−1∑
n=0

x[n]e−j2πkn/N ,
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�S (sα(t)) =
1

N2

N−1∑
k=0
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�� �������	  �
�	 
� �������
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S
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1
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∫ ∞

−∞
∆
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∆
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∫ ∞
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∆
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	 �������
	���� α=��
��� ' �� 
����
����	 ��� �
 �	�� ���� α
�����
��	�
� �� � ����	
	 ��������	� 
� 
��	���� !���	 ' �������� �������=
�����" �	�����
	���	�
�" �� ���� �
�� � �	��" �	�	 ���	
�� 	
�	����	� �
	��	� '
�������
	
���

6�����	�	�� '�& 1�� x[n] ��� �������
�  �
�� �� N �������� 1 ≤ n ≤ N �
��� �����(������ �
������ �� ����
�� ���2� X [k]� �� 
���������
)� α
���
�� ���
����
�
���� �� (������� ���
)�
��� �� �
�.� �������
� �������
��� ��� ��<��

sα(t) =
N∑

n=1

c[n]βα (t− n) ,



KM �	����
� 6� α=��
����

���� 	��
��-� ��

>�� (sα(t)) =
1

N2

N−1∑
k=1

|X [k]|2 >�� (α, ω = 2πk/N) , :6�LM;

�
����

>�� (α, ω) =
9 (I0 + 2 cos (ω)I1 + 2 cos (2ω)I2 + 2 cos (3ω)I3)

[3 + α(cosω − 1)]2
, :6�LJ;

� ����� �� 
���&�����

In =
∫ ∞

−∞
βα (x)βα (x− n) dx, :6�LO;

��� ���
���
�� ��� ���*����� �� ���	
��� α

I0 =

{
31α3−70α2+140

210 ,
−35α7+238α6−672α5+980α4−280α3+84α2−14α+1

630α4 ,

0 ≤ α ≤ 1
2 ;

1
2 ≤ α ≤ 1;

I1 =

{
−62α3+105α2+105

630 ,
400α7−2296α6+4704α5−3080α4+1960α3−588α2+98α−7

5040α4 ,

0 ≤ α ≤ 1
2 ;

1
2 ≤ α ≤ 1;

I2 =

{
31α3

1260 ,
−97α7+448α6−672α5+560α4−280α3+84α2−14α+1

1260α4 ,

0 ≤ α ≤ 1
2 ;

1
2 ≤ α ≤ 1;

I3 =

{
0,
(2α−1)7

5040α4 ,

0 ≤ α ≤ 1
2 ;

1
2 ≤ α ≤ 1.
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������	�� '�& ,� ���������
)� �� ��������� �� �� ��+��
�� ��C�

6�����	�	�� '�' 1�� �� ������� �����*��
�� �
������� X[n]� �����
����
� � ���
������������
)� RX[n]� �� 
���������
)� α
���
�� ��� ����
�
���� �� (�������
���
)�
��� �������
��� ��� ��<��

Sα(t) =
+∞∑

n=−∞
C[n]βα (t− n) ,

���� 	��
��-� ��

>�� (Sα) = RC[0]I0 + 2RC[1]I1 + 2RC[2]I2 + 2RC[3]I3, :6�LK;

����� �� 	���� �� ��� 
���&����� In 	
��� ���� ��� �A�D:� � �� ������������
)�
�� ��� ��� �
����� α
���
�� ��

RC[n] = RX[n] ∗ ρα[n], :6�M5;



6�J <	��	��	 
� 
	 �������
	���� α=��
��� KJ

�
���� ρα[n] �� ������������
)� ������
�
��� ���  ���� dα[n]�

ρα[n] =
(1 − z1)z

|n|
1 (|n|+ 1 + (1 − |n|)z2

1)
(z1 + 1)3

.

��
������	�� '�' ,� ���������
)� �� ��������� �� �� ��+��
�� ��B�

6�����	�	�� '�* 1�� �� ������� �����*��
�� �
������� X[n]� �����
����
� � %���

�� ��� ������������
)� RX[n] = σ2

Xδ[n]� �� 
���������
)� α
���
�� ��� ����
�
�

��� �� (������� ���
)�
��� �� �
�.� �������
� �������
� �������
��� ��� ��<��
���� 	��
��-� ��

�
 0 ≤ α ≤ 1
2 � ��������

>�� (Sα) = −2σ2
X

35z5
1 + 488z4

1 + 1079z3
1 + 595z2

1 + 70z1 − 35
105(z1 − 1)2(z1 + 1)3

; :6�MH	;

�
 1
2 ≤ α ≤ 1� ��������

>�� (Sα) =
−σ2

X

1632960z4
1(z1 − 1)2(z1 + 1)3

[
z16
1 + 71z15

1 + 2175z14
1

+ 37387z13
1 + 391727z12

1 + 2530731z11
1 + 9591043z10

1

+ 19088975z9
1 + 21519117z8

1 + 15050501z7
1 + 4966381z6

1

−1908879z5
1 − 1772155z4

1 − 68663z3
1 − 4143z2

1 − 139z1 − 2
]
.

:6�MH�;

����� z1 �A�CE� �� �� ���� ���  ���� �
����� α
���
���

��
������	�� '�* ,� ���������
)� �� ��������� �� �� ��+��
�� ��B�4�

6�����	�	�� '�) 1�� �� ������� �����*��
�� �
������� X[n]� �����
����
� ����


��� �� (�������
� ω0 � (��� �������
� ��� ������������
)�

RX [n] = σ2
X cos (ω0n) ∀n ∈ Z, 0 ≤ ω0 ≤ π,

�� 
���������
)� α
���
�� ��� ����
�
���� �� (������� ���
)�
��� �� �
�.� ��

�����
� �������
� �������
��� ��� ��<�� ���� 	��
��-� ��

>�� (Sα) = σ2
X

9 (I0 + 2 cos (ω0)I1 + 2 cos (2ω0)I2 + 2 cos (3ω0)I3)
[3 + α(cos ω0 − 1)]2

, :6�M4;

����� �� 	���� �� In 	
��� ���� ��� �A�D:� �

��
������	�� '�) ,� ���������
)� �� ��������� �� �� ��+��
�� ��B�C�
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	 #������ �������
	����	
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	 ��
����� 
���	
 	 ��	 ��� )� ���	 ������� �� �����
�� ��	 �3������� 
� 
	

����
����	 
� 
��0	  �
�
	 ��� �
 �	�� ���� α�
)
 ���	 ����
�	
" �r (x(t))" 
� ��	 ���	
 x(t) �� �	
��
	 �� � 
	 ������	



�
 ��	
�	
� 
� 
	 
�#������	 ����� 
	 �����	 #������ ' 
	 �������
	���� 
���	
 	
��	 �� ���������
�����" �� 
����"

�r (x(t)) =
∑

n

∫ n+1

n

[x(t)− Ln(t)]2 dt, :6�MI;


��
� Ln(t) �� 
	 �3������� 
� 
	 ����	 2�� ��� 
�� ������ x(n) ' x(n + 1)�
8	 ���
��	���� 
� �� �������� �	�	
� �� �
 ���	 ����
�	
 #�� �������	
� ��

PR	�0'	�KMQ ��� �
 !� 
� �%��	� �
 ����
� 	 
�
 �����
���	�� ���%��	
� ��� 
	
�������
	���� ��
��� �����	� ?����	 ����" �
 �����
� ����� ��������� �� 
��0�
	�����
� �������� �� ���
��	� ��
���� 
� ��
��  	'�� 2�� �
 ������ ��� �
 !�

� 
������� 
� �	�� ����� 
����� 2�� ��� ���
��	
�� �	�	  ��� ��	� �
 ���	
����
�	
�
�	
� 2�� 
	 #	 �
�	 α=��
��� ��������	 �� ���	 ����� ��� ��� ������� ��
�=

������ ����� �
�	� ����� 
	 ��
����� �������
	����	 ��� ���	 ����
�	
 ��
	 :��=
�����
	���� 
���	
 	 ��	 ��� α=��
��� ��� α = 0; ' 
	 ��
�����  �� ��	%� :��=
�����
	���� �����	� α=��
��� ��� α = 1; ����
�	 
� �����9� ������� ���
 �� 
	

����
����	 
�
 ���	 ����
�	
 
� 
	 �������
	���� ��� �
 �	�� ���� 
� ������
 α
�	�	 
�������� ����� 
� ���	
�� 
� ����	
	" �	��� 
���� �����	� �� � 	
�	����	��

6�����	�	�� '�+ 1�� x[n] ��� �������
�  �
�� �� N �������� 1 ≤ n ≤ N �
��� �����(������ �
������ �� ����
�� ���2�� X [k] ���� k = 0, . . . , N − 1� ��

���������
)� α
���
�� ��� ����
�
���� �� (������� ���
)�
��� �� �
�.� �������
�
�������
��� ��� ��<��

sα(t) =
N∑

n=1

c[n]βα (t− n) ,

���� *��� ���
���� ��

�r (sα(t)) =
1

N2

N−1∑
k=1

|X [k]|2 �r (α, ω = 2πk/N) , :6�M6;

�
����

�r (α, ω) =
9 (I0 + 2 cos (ω)I1 + 2 cos (2ω)I2 + 2 cos (3ω)I3)

[3 + α(cos ω − 1)]2

− 6 (IA0 + 2 cos (ω)IA1 + 2 cos (2ω)IA2)
3 + α(cos ω − 1)

+
2 + cosω0

3
,
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�	
 
� 
	 �������
	���� α=��
��� KK

����� In 	
��� ���� ��� �A�D:� � IAn ����������

IAn =
∫ ∞

−∞
βα (x) ∆ (x− n) dx = IA−n, :6�ML;

����� 	������ �� ����� ���

IA0 =
3α3 − 10α2 + 40

60
,

IA1 =
−2α3 + 5α2 + 10

60
,

IA2 =
α3

120
.

��
������	�� '�+ ,� ���������
)� �� ��������� �� �� ��+��
�� ��A�

6�����	�	�� '�< 1�� �� ������� �����*��
�� �
������� X[n]� �����
����
� � ���
������������
)� RX[n]� �� 
���������
)� α
���
�� ��� ����
�
���� �� (�������
���
)�
��� �������
��� ��� ��<��

Sα(t) =
+∞∑

n=−∞
C[n]βα (t− n) ,

���� *��� ���
���� ��

�r (Sα) = >�� (Sα) + >�� (Sα)|α=0 − 2 RX[n] ∗ ηα(τ) ∗∆ (τ)|τ=0 , :6�MM;

����� ηα(τ) �� �� α
���
�� ����
��� �A�BD� � ��� 	��
��-�� �� �� 
���������
)�
α
���
�� �� �������� ��&$� �� @�����
�
)� A�A�

��
������	�� '�< ,� ���������
)� �� ��������� �� �� ��+��
�� ��D�

6�����	�	�� '�% 1�� �� ������� �����*��
�� �
������� X[n]� �����
����
� � %���

�� ��� ������������
)� RX[n] = σ2

Xδ[n]� �� 
���������
)� α
���
�� ��� ����
�
�

��� �� (������� ���
)�
��� �� �
�.� �������
� �������
� �������
��� ��� ��<��
���� *��� ���
���� ��

�
 0 ≤ α ≤ 1
2 � ��������

�r (Sα) = 2σ2
Xz2

1

35z6
1 − 35z5

1 − 376z4
1 + 380z3

1 + 1985z2
1 + 895z1 + 140

105(z1 − 1)4(z1 + 1)3
;

:6�MJ	;



H55 �	����
� 6� α=��
����

�
 1
2 ≤ α ≤ 1� ��������

�r (Sα) =
−σ2

X

1632960z4
1(z1 − 1)4(z1 + 1)3

[
z18
1 + 69z17

1 + 2034z16
1

+ 33108z15
1 + 319128z14

1 + 1784664z13
1 + 3832668z12

1

+ 2437620z11
1 − 8374158z10

1 − 25010630z9
1 − 31920144z8

1

− 23353956z7
1 − 10406256z6

1 − 2787792z5
1 − 550332z4

1

−60516z3
1 − 3867z2

1 − 135z1 − 2
]
;

:6�MJ�;

����� z1 �A�CE� �� �� ���� ���  ���� �
����� α
���
���

��
������	�� '�% ,� ���������
)� �� ��������� �� �� ��+��
�� ��D�4�

6�����	�	�� '�#0 1�� �� ������� �����*��
�� �
������� X[n]� �����
����
� ��

��
��� �� (�������
� ω0 � (��� �������
� ��� ������������
)�

RX [n] = σ2
X cos (ω0n) ∀n ∈ Z, 0 ≤ ω0 ≤ π,

�� 
���������
)� α
���
�� ��� ����
�
���� �� (������� ���
)�
��� �� �
�.� ��

�����
� �������
� �������
��� ��� ��<�� ���� *��� ���
���� ��

�r (Sα) = σ2
X

9 (I0 + 2 cos (ω0)I1 + 2 cos (2ω0)I2 + 2 cos (3ω0)I3)
[3 + α(cos ω0 − 1)]2

− σ2
X

6 (IA0 + 2 cos (ω0)IA1 + 2 cos (2ω0)IA2)
3 + α(cos ω0 − 1)

+ σ2
X

2 + cosω0

3
,

����� ��� 
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�� �� α ����� ��� �A�D:� � �A�ED�
�������
	�������
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 �	�� ���� α� ���" ��	�
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 ��%���� 
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; 
������  ������	 ���� ���
α"  �����	� 2�� 
	 %	��	��	 :6�MH; ' �
 ���	 ����
�	
 :6�MJ; ������  ������	=
 ����� )��� �� ����	 �����  ������� ��  �����	 �� 
	 7����	 6�HH" �� 
	 2��
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� ������� :��
	�;"
%	��	��	 :������;" ���	 ����
�	
 :
�0	�; ' 
	� ���������
������ 
���%	
	� :	�	1�;

� 
	 �������
	���� α=��
��� 
� ���	
�� �
	��	� 
� %	��	��	 ���
	
�

�� �
� ���� �� 
���1	 �
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� �	
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��� �
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 ��	��	
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� #��������	 ω ∈ [−π, π] ' #	�� 	�����	��	 ��
�� �����	 2�� �	��� 
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" �� � 
	 %	��	��	 ' �
 ���	 ����
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�������
	���� α=��
��� ������  ������	 ���� �������� 	 α �	�	 ��	
2���� %	
��

� #��������	 �����
��	
�� [���	 ���� �	�	 %	
���� 
� 
	 #��������	 
������	
 �' ���3� �� π ' ������� %	
���� 
� α �� ����
�
�� �� [0,5, 1] :���������	
��
�� 
	 7����	 6�H4; 
	� �	�	���������	� ����
�	
	� �� ����	� 
�����������" 	��2��
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� �
	'����

(	��	 �
  � ����" �� ���	 ����� �� 0	 �������	
� ��	 ���%	 #	 �
�	 
�
��
����" 
�� α=��
����" �����
��	�
� �
  ������� ���#�� � 
� 
	 ���	
 � #������
	 �������
	�� )� ���	 ������� �� �����	
��	�� 
	 #	 �
�	 α=��
��� �	�	 �
 �	�� ��
�
 2�� 
	�  �����	� �� �� ���������� �2�����	��	
	��

���0��� 1�

 α&
����
 �� ������	


��	 �� %����� 
� ����� ��
�� :=����; �� 
����������� [t0, t1, t2, t3, t4]@ �
 ��=
1���%� 
� ���� 	�	��	
� �������� �� �������	� 
	 ���������
����� �	�� α=��
����
�	�	 �

� �� � ���
��� ��	 ����� 
� ���
������� 2�� ��� ��	� ������� �� �3=
������� 	�	
����	� 8	 �	�� 	�� ������
	 
����� ������ ��	 
���%	
	 �����
	
�������	 ' 
���	
 	 ��	 ��" ��� 
� 2�� 
	 
���%	
	 ������	 ���� 
� ���� ���	
�=
�	
	�
)� �
 �	�� �� ���#�� �" 
	 
���%	
	 ������	 
� 
	 �	�� α=��
��� �� 	 
	 #�� 	

β(3)
α (t) = Apα

(
t + α/2
t1 − t0

− t1

)
−Bpα

(
t− α/2
t2 − t1

− t1

)

− Cpα

(
t + α/2
t2 − t1

− t2

)
+ Dpα

(
t− α/2
t3 − t2

− t2

)

+ Epα

(
t + α/2
t3 − t2

− t3

)
− Fpα

(
t− α/2
t4 − t3

− t3

)
,

:6�MO;


��
� 
�� ���� %	
����A" B" C"D" E ' F ��� 
����
������ 
� 
�� ��
�� t0" t1" t2"
t3" t4 ' 
�
 �	�� ���� α� �	�	 
���� ��	� �
 %	
�� 
� 
��0	� �����	���� �� �������
� ����� �����	� ���
�������" 2�� �� 
���%	� 
�����	 ���� 
� 
	� �	�	���������	�
�����	� 
� 
	 �	�� α=��
���� )� 
	 7����	 6�HI �� ���������	�" 	  �
� 
� �1� �
�"

	 �	�� α=��
���" βα (t)" ' �� 
���%	
	 ������	" β(3)

α (t)" ���������
������ 	
 %�����

� ��
�� [−2,−0,4, 0,8, 1,4, 2] �	�	 α = 0,2 ' α = 0,7�
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.	���� '�#&� ?	�� α=��
��� :	����	; ' �� ������	 
���%	
	 :	�	1�; ���������=

������ 	
 %����� 
� ��
�� [−2,−0,4, 0,8, 1,4, 2] �	�	 α = 0,2 :��
	�; ' α = 0,7
:
�0	�;�

)� ��������" 
� 
	 ��������
	
 
� 
	 �����
	 
���%	
	 �� �3��	�� ���� ���=

��������

A(t1 − t0)−B(t2 − t1) = 0, :6�MK	;

C(t2 − t1)−D(t3 − t2) = 0, :6�MK�;

E(t3 − t2)− F (t4 − t3) = 0; :6�MK�;


� 
	 ��������
	
 
� 
	 
���%	
	 ��� ��	

A(t1−t0)2+B(t2−t1)2−C(t2−t1)2−D(t3−t2)2+E(t3−t2)2+F (t4−t3)2 = 0;
:6�MK
;

 �����	� 2�� 
	 ��������
	
 
� 
	 �	�� α=��
��� � �
��	

A [α/3(t1 − t0) + (t2 − t1)] (t1 − t0)2

+B(1− α/3)(t2 − t1)3 − Cα/3(t2 − t1)3

+Dα/3(t3 − t2)3 − E(1− α/3)(t3 − t2)3

−F [α/3(t4 − t3) + (t3 − t2)] (t4 − t3)2 = 0.

:6�MK�;

��� �
�� �" �� 0	�� �����	��	 ��	 ��3�	 ���
����� 2�� ������
��� 
	 ���������

� 
�� ���� %	
���� ����	
��� ���0	 ���
����� %���� � �����	 ��� 
	 ������
	
 
�



H56 �	����
� 6� α=��
����

2�� 
	� �	��� α=��
��� ��������'	� �	������� 
� ���
	
 �	�	 ��	
2���� ���1����

� ��
�� �����
��	
� ∑

n

βn,α (t− tn) = 1. :6�MK#;

�	
� �
 ����� 	 
� ���� ���	������ ' ���� ��������	� 
�!��
� ��� :6�MK; '
�����
��	�
� 
	 
���	���	 ����� ��
��

hn = tn − tn−1, n ∈ {1, 2, 3, 4} ;
�� �������� 
�� ���������� %	
�����

A =
6

α2h1(h1 + h2)(αh1 + (3 − 2α)h2 + αh3)
, :6�J5	;

B =
6

α2h2(h1 + h2)(αh1 + (3 − 2α)h2 + αh3)
, :6�J5�;

C =
6[α(h1 + h4) + (3− α)(h2 + h3)]

α2h2(h2 + h3)(αh1 + (3 − 2α)h2 + αh3)(αh2 + (3 − 2α)h3 + αh4)
,

:6�J5�;

D =
6[α(h1 + h4) + (3 − α)(h2 + h3)]

α2h3(h2 + h3), (αh2 + (3 − 2α)h2 + αh3)(αh2 + (3 − 2α)h3 + αh4)
,

:6�J5
;

E =
6

α2h3(h3 + h4)(αh2 + (3 − 2α)h3 + αh4)
, :6�J5�;

F =
6

α2h4(h3 + h4)(αh2 + (3 − 2α)h3 + αh4)
. :6�J5#;

�������'��
� 
�� %	
���� 
� :6�J5; �� :6�MO; � ������	�
� ���� %���� �� ��=
������ 
	� �3��������� 
� 
	 �	�� α=��
���" βα (x)" 2�� 	�	����� �� �
 ��9�
���
��H�

���0��� /��
��������� α&
����
 �� ������	


�	�	 ������� 
	 ���������	���� α=��
���" sα(t)" 
� ��	 ���	
 x(t) �� 
�� ��
��
t1, t2, . . . , tN ��� �����	��	� N �	��� α=��
��� :�	
	 ��	 
� �

	� �����	
	 ��
�	
	 ��� 
� 
�� N ��
��;" �	�	 
� ��	
 �� ������� 
�!��� 
�� ��
�� 	
�����	
��
	 	 ��� 
	
�� 
�
 �����%	
� 
� �������
	����� t−1, t0 ' tN+1, tN+2@ 
�  	���	
2�� 
��0	 ���������	���� α=��
��� �� ���
� �������� �� �

sα(t) =
N∑

n=1

c[n]βn,α (t) ,


��
� βn,α (t) �� 
	 �	�� ���������
����� 	
 %����� 
� ��
�� [tn−2, . . . , tn+2] '
c[n] �� �
 ���!������ α=��
��� 2�� ������
��	 �
 �� �
� ����� 
� 
	 ���
����� 
�
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.	���� '�#'� �������
	���� α=��
��� :	����	; ���������
����� 	
 %����� 
� ��=

�� t1, . . . , tN ' �	��� α=��
��� :	�	1�; ���������
������ 	
 ���1���� 
� ��
��
t−1, . . . tN+2�

�������
	���� �� 
�� ��
��

sα (tn) = x(tn), ∀ n = 1, 2, . . . , N. :6�JH;

)� 
	 7����	 6�H6 �� ���������	 
	 �������
	���� α=��
��� 
� N = 7  �����	�
�� 
�� ����	���� t1, t2, . . . , t7 ' 
	� ����� �	��� α=��
��� �����	
	� �� 
��0�� ��
���
�� ���
� �����%	� �� � �� ������� �����
���� 
�� ��
�� t−1 ' t0 �	�	 ��
��

�!��� 
	 ��� ��	 #������ �	��" β1,α (t)" ��'� ������� �� t−1 ≥ t ≥ t3� �� ���	

 	���	" βN,α (t) ������	 
� 
�� ��
�� 	
�����	
�� t8 ' t9�

)
 %	
�� 
� 
	 �	�� α=��
��� �� 
�� ��
�� �� ������� 
�����	 ���� 
� 
	�



H5M �	����
� 6� α=��
����

�3��������� 
�
 ��9�
��� ��H@ ����
�	�
�

βn,α (tn−1) =
αh2

n−1

(hn−1 + hn)(αhn−1 + (3− 2α)hn + αhn+1)
, :6�J4	;

βn,α (tn) =
αhn−1 + (3− α)hn

(αhn−1 + (3− 2α)hn + αhn+1)
:6�J4�;

− αh2
n(αhn−1 + (3− α)hn + (3 − α)hn+1 + αhn+2)

(hn + hn+1)(αhn−1 + (3− 2α)hn + αhn+1)(αhn + (3− 2α)hn+1 + αhn+2)

βn,α (tn+1) =
αh2

n+2

(hn+2 + hn+1)(αhn+2 + (3− 2α)hn+1 + αhn)
. :6�J4�;

)� �
 �	�� 
� 2�� �� 
���� ������� ��	 ��
�����" sα(t)" 2�� ����	 �����
���=

	
 �� �����	��� !1	� �
 %	
�� 
�
 �����
� 
� 
	 ���	


H = (tN − t1) =
N∑

n=2

hn,


� 2�� � �
��	 2�� 
�� ��
�� 	
�����	
�� �����	���� �	�	 ����
%�� �
 ����
� 	
�������
	����� �� 	� 
�� %	
����

tN+1 = t1 + H,

tN+2 = t2 + H,

t0 = tN −H,

t−1 = tN−1 −H.

7��	
 ����" 0	����
� ��� 
� 
	� �3��������� 
� :6�J4;" ��
� ����	 ����
%�� �

����� 	 
� ���	������ �� #�� 	  	�����	
 2�� �� 
���%	 
� :6�JH;

B · c = x, :6�J6;


��
�

c = [c[1], c[2], . . . , c[N ]]T ,

x = [x(t1), x(t2), . . . , x(tN )]T ;

'

B =

⎡
⎢⎢⎢⎢⎢⎢⎢⎣

β1,α (t1) β2,α (t1) 0 . . . 0 βN,α (tN )
β1,α (t2) β2,α (t2) β3,α (t2) . . . 0 0

0 β2,α (t3) β3,α (t3) . . . 0 0
���

���
���

� � �
���

���
0 0 0 . . . βN−1,α (tN−1) βN,α (tN−1)

β1,α (t1) 0 0 . . . βN−1,α (tN ) βN,α (tN )

⎤
⎥⎥⎥⎥⎥⎥⎥⎦

.



6�HH �� �
	������ H5J

�� ���
� �����%	� �
 ���	
 �	�	
�
�� � ����� ���� ����� 	 ' �
 �������	
� ��
:6�4H; ���������
����� 	
 �	�� 
�  ������� ���#�� ��
�� �� 
���	 ������� ��	 ��
����� sα(t) 2�� ����	 �� ����	 ������
	� �� 
��

�3��� �� 
�
 �����%	
�" �� ������� #���	� 
�� ��
�� 	
�����	
�� 
� 
	 ���������
 	���	"

tN+1 = tN + (tN − tN−1),
tN+2 = tN + (tN − tN−2),

t0 = t1 − (t2 − t1),
t−1 = t1 − (t3 − t1);

' ����
%�� �
 ����� 	 
� ���	������ 
	
� ��� :6�J6; ���
��	�
�" �� ���	 ��	����"
��	  	����" B" 
� 
	 #�� 	

B =

⎡
⎢⎢⎢⎢⎢⎢⎢⎣

β1,α (t1) 2β2,α (t1) 0 . . . 0 0
β1,α (t2) β2,α (t2) β3,α (t2) . . . 0 0

0 β2,α (t3) β3,α (t3) . . . 0 0
���

���
���

� � �
���

���
0 0 0 . . . βN−1,α (tN−1) βN,α (tN−1)
0 0 0 . . . 2βN−1,α (tN ) βN,α (tN )

⎤
⎥⎥⎥⎥⎥⎥⎥⎦

;

����
�	�
� �� ����� 	 
� ���	������ �2��%	
���� 	
 
������� �� :6�44; �	�	 ��=
��
%�� �
 �	�� ���#�� � ��� �� ����	 ������
	��
���%���� ���	
�	� 2�� �� �� �����
� ������� �3��������� ����	
	� 
� 
	 ��	=

%�
	
" 
	 %	��	��	 ' �
 ���	 ����
�	
 
� 
	 �������
	���� α=��
��� �	�	 �
 �	�� 
�
 ������� �� ���#�� �� ��� � �	���" �� 
����� ����	� 2�� �
 �� ����	 ����� 
�

��0	� �	�	���������	� ���� �� �
	� 	
 �	�� ���#�� �" �� 
����" 2�� 
	 %	��	��	" �

���	 ����
�	
 ' 
	 ��	%�
	
 ������ ���#�� � ����� �
 �	�� ���� α�

!���� /	���
�	�
��

)� ���� 	�	��	
� �� ��	
��	� �� �
	������ ��� �
 !� 
� %	
�
	� 
�� ����
�	
��
' ����
������� �������	
�� �� 	��������� ����������

������� /��
��������� α&
����
 �
 ����


8	 %���!�	���� 
� 
	� �3��������� 
� ��	%�
	
 :6�6O;" %	��	��	 :6�LM; ' ���	
����
�	
 :6�M6; 
� 
	 �������
	���� α=��
��� 
��	���

	
	� �� ���� �	����
� �� 0	


�%	
� 	 �	��  �
�	��� �� �
	������� �  �
� 
� �1� �
�" �� 0	 �����	
� ��	
��������	" x[n]" 
� N = 512  �����	� 
� ��	 ���	
  �
������ ' �� 0	 ��	
��	
�

	 �������
	���� α=��
���� �	�	 
�������� %	
���� 
�
 �	�� ���� 
� ��	%�
	
 α�

�$� (�
 ����E�
�� �

����
����
��� �� ����
� �
������������ ��������� 
�
� ��� B4�-�C " ��
����
� 
� %����
� 
�
� ��� �� ��������� B4�=�C�



H5O �	����
� 6� α=��
����

��� �
 !� 
� ���� 	� 
	 ��	%�
	
" 
	 %	��	��	 ' �
 ���	 ����
�	
 
� 
	 ���	
 
�
��� �� ��������" �� ���
��	 �� #	���� 
� �� �������  �' �
�%	
�" �� ���� �	��
R = 1000" �� 
����" �� ������� ��	 ��������	 �������
	
	 
� L = N ·R = 512000
 �����	�� )� 
	 7����	 6�HL �� �����%	 �� ��� ���� 
� 
	 ���	
 �������
	
	 ' 
�
�� �����
	 
���%	
	 �	�	 
�� %	
���� 
�
 �	�� ���� 
� ��	%�
	
 :�� ��������
α = 0,3 ' α = 0,8;" ����
�	�
� �%�
���� 
	  	'�� ��	%�
	
 
� 
	 �������
	����
��	�
� α = 0,8 #����� 	 ��	 �����
	 
���%	
	  �� �
�%	
	 �	�	 α = 0,3�
���
� �� ����� 
� %���	 ��	����	��%�" 
�� %	
���� 
� 
	 %	��	��	" 
	 �������	


� �������" ' �
 ���	 ����
�	
 
� 
	 ���	
 �������
	
	 :�%	
�	
��" ��������%	=
 ����" �� � 
	  �
�	 
�
 ��	
�	
� 
� 
	�  �����	� 
� 
	 ���	
" 
� �� �����
	

���%	
	 ' 
� 
	 
�#������	 ����� 
	 ���	
 ' 
	 �������
	���� 
���	
; ������
�� 
�
#�� 	 �3	��	 ��� 
�� ������
�� ���  �
�� 
� 
	� �3��������� 	�	
����	�" �	
 '
�� �  �����	 
	 �	�
	 6�4�

α = 0,3 α = 0,8
������	� ��	�
� :6�6M; 17,66708 13,29942

� ����	�� �� �
	
	 17,66698 13,29940
3��	��!� ��	�
� :6�LM; 0,8131709 0,9070321

�� �
	
	 0,8131709 0,9070321
 ��� ��	�
� :6�M6; 0,005138431 0,02285829

���	
��� �� �
	
	 0,005138431 0,02285829

����� '�$� <	
���� �� �
	
�� ' 	�	
������ 
� 
	 �������	 
� �������" %	��	��	
' ���	 ����
�	
 
� 
	 �������
	���� α=��
��� 
� ��	 ���	
  �
������ �	�	 
��
%	
���� 
� α�

��� �
 !� 
� �� ����	� �
 �� ����	 ����� 
� 
�� ���� �	�� ����� 
� �����9�
:��	%�
	
" %	��	��	 ' ���	 ����
�	
; ��� �������� 	 α �� 0	 

�%	
� 	 �	�� ��	
�	����	 
� �� �
	������ �� �
	��� 	 
	� ��	
��	
	� 	������� ���� :���	
  �
����=
�� 
� 
������
 N = 512" #	���� 
� �� ������� R = 1000; %	��	�
�" �	�	 �	
	
���	
" �
 �	�� ���� 
� ��	%�
	
 ����� α = 0 ' α = 1 ��� �	�� 
� 0,01� �	�	 �	
	
%	
�� 
� α �� �	
��
	� 
�� ���� %	
����" �	��� 	�	
����	 ���� �� � ��� �� �
	=
����" �� ������
��� 2��" 	
� �� 
� 
	 ���#���	 ������
����	 ����� 
�� %	
����
�	
��
	
�� ������	 ���� ' 
�� ������
�� ��� �� �
	����" �� �� ����	 ����� ��
 ������� ��� �������� 	 α�
�� � �1� �
�" 
	 7����	 6�HM  �����	 
�� ����
�	
�� 
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��� 
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	� #������	� 
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 ���	��� 
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	 ��	�������
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	 #������ �� ��	
��	 �������
� 
	� �	�	���������	� 
� 
�� 0�����
	��� ���	��	"
�� 
����" ����� 
	 #�� 	 
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	 #������ %	
�� 	���
���" 2�� �� �������	" ���� ��

���%	�
� �� 
�� ������ #������	� )
  �
�
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���	
 	 ��	 �� �� �	�	� 
� ���=
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�	
�  �' ������� ��� �� �� ��� �	1� 
� �	�� �����" ����
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����������
	
 �� 
	 
���%	
	 
� ��	 �� ��� �� 
���� ��	
	� 	�
��	������"
�� �" ��� �1� �
�" �� �
  �
�
	
� 
� 
��������%���

������ #��!�'��� �
 �� ������� !���� �2
�����

��� �
 !� 
� ��
%���	� 
	 
� ��	���� 
� 
	 �� 
���%	��
�
	
" �� ������
�
��������� 
	 	�����	 #������ %	
�� 	���
��� 
� :L�H; ��� ��	 #������ 
���%	=
�
� 2�� ��	%��� 
	� ������� 
� 
�� 0�����
	��� �� 
	� #������	� ��� ����� ���	�
����	���	
 ���� �
 �� ��� 
� �	�� ����� 
� 
	 ��
������ )3����� 
�%���	� ��=
����
�
	
�� 2�� ��� ���� ��	 ��	������� ��	%� ����� ��	 �� 
���	
��" ����
� 
�
���
�
	
 �����
��	� �
 �	�� ���
� ������	
 �� �
 2�� 
	 #������" f : R → R"
�� 	 
	 #�� 	

f(x) = a + Bx +
P∑

i=1

ci|x− βi|, :L�4;


��
� 
�� βi ���������	� 
�� ������ 
� ������	 :=����; 2�� 
���� ��	� 
�� ��=
���%	
�� �� 
�� ��	
�� 
	 #������  �
�
	
��	 �� ��	 ����	� �� #�� 	 �2��%	
����"
:L�4; ���
� ���������� �� �9� ���� 
� 
	 #������ ����� 
� 
	 ���������  	���	�

f(x) = a + Bx +
P∑

i=1

ci(x− βi) sgn (x − βi). :L�I;

����	 
���	�
� 
������� 
� ��	 #	 �
�	 
� #�������� 2�� ����������	�	 ��	
��	������� ��	%� ' ��� �����	 �� ������
 �	�	 9����� 
� 
	 ����2��
	
 
� �	 =
��� �� 
	� ��	���������� )3����� �� 
	 
����	���	 �� ����	� #�������� ��� ���	�
�	�	���������	�@ ��� �1� �
�" �� P?	���JHQ 
	 #������ sgn (x) �� ��� �
	�	
	 ���
��	 #	 �
�	 
� #�������� 	���3� 	
��	�" 
����	
	� ��� ���(x)" 2�� �� �
�� 
	�
���������� ��������������

ĺım
x→±∞(x ���(x) − |x|) = 0,

ĺım
α→∞ ���(x/α) = sgn (x),

���(0) = sgn (0) = 0.

8	 ��� ��	 ���
����� 	�����	 2�� x ���(x) �� 	���3� 	 	 x sgn(x) = |x|
���#�� � x → ∞� 8	 �����
	 � �
��	 2�� �
  �
�
� 
���	
 	 ��	 �� :L�I; ��
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� ��� ��	��������� ��	%��� ��� �
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����� 	�����	 2�� �
  �
�
� ��	%��	
� �	�	 ��� 
�� ������ ����
=
�	���� 
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	 ������������ 
� 
�� ��	 �� 
���	
�� 
� :L�I;� )��	 #	 �
�	 ����� ��
�	�� ����" α" 2�� ������
	 
	 ��	%�
	
 
� 
	� ��	����������  �
�!�	�
� ����
�	�� ���� �� %	��	 
	 ��	%�
	
 �� ����� 	 
�� ������ 
� ������	� �
���	 
� 
	�
#�������� �������������� 	 ���	 #	 �
�	 ��� P�����OKQ�

ftan(x, α) = x tanh (αx), :L�L;

'

fpol(x, α) =

{
1
8α

[
15(αx)2 − (αx)4 + 3(αx)6

]
, |x| ≤ 1

α ;
|x|, |x| > 1

α .
:L�M;

8	 ���%	���	" K" �� �� �	�� ���� ��� 9����� 2�� ����������	 ������ ����=
�� ����� 	����	 
�
 �� ����	 ����� 
� ���	� #��������" ' ��'� %	
�� ��

K =
f (2)(x)

[1 + (f (1)(x))2]3/2
.

)� �
 ����� 
� ������	" �� 
����" ��	�
� x = 0" 
	 ���%	���	 
� :L�L; ' :L�M;
�� 2α ' 15α/4" ��������%	 ����� �� ���
� �� ����	� �� �" ��	���  	'�� ��	 �

%	
�� 
� K" 
	� #�������� ����
��  �� ����
	 ���� 	 
	 #������ %	
�� 	���
����
���  �� �" �� �����%	 2�� 	 �	� #�������� 	
�	��	� %	
����  	'���� 2�� 
	
���
	
 �� �� ��� ��	 
���%	
	 ' 2�� �� 
���%	
	 �����
	 �������	 %	
����
���	��%��" 
� 2�� � �
��	 �����
���	��� 2�� 
�!��
�	� 
	 ��������� 
� ��
�������
��� 
���%	
	� ��	%��� )� �����
� ���
��	� ���	� #�������� 2�� �������'	� 	 |x| '
2�� ��
%����� ���	 ����	����" �� � ��� �1� �
� 
	 ��������	 ��� P>��\�0�JIQ"

hyp(x, α) =
√

x2 + α,

��'	 ���%	���	 �� 	 �
 %	
�� K = 1/
√

α�
,������� ����" �� 0	 ��������� �� � �	�� 
	 #������ P8��	��5H�Q

lch(x, α) =
1
α

ln (cosh (αx)), :L�J;

��'	 ���%	���	 �� K = α" �	�	 
��	���

	� ��  �
�
� 
���	
 	 ��	 �� ��	%��	
�

��� ��	
�  �
�
� 
���	
 	 ��	 �� ��	%��	
� :��G8� 1����.�� @
���8
��

,
����;�
)� ���	 ����� �� ������� ��	 #������ ��	%��	
��	 ��
	����	
	 ���� 	 ����

��� �
 ���
�� α=��
��� �������	
� �� 	��������� �	����
��� ���0	 #������" 2��

����	�� �� ��� ϕ (x, α)" ����� 
	 �3�������

ϕ (x, α) =

{
x2

α − |x|3
3α2 , |x| ≤ α;

|x| − α
3 , |x| > α;

:L�O;
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� α=��
���" ϕ (x, α)" �	�	 
�%����� %	
���� 
�

�	�� ���� 
� ��	%�
	
 α�

' ����� ��	 ���%	���	 K = 2/α� )� 
	 7����	 L�H ���
� 	�����	��� �� #�� 	
�	�	 
�������� %	
���� 
�
 �	�� ���� 
� ��	%�
	
�
8	� 
�� ��� ��	� 
���%	
	� 
� 
	 #������ :L�O; %����� 
	
	� ���

ϕ(1) (x, α) =

{
2x
α − x|x|

α2 , |x| ≤ α;
sgn (x), |x| > α;

:L�K;

'

ϕ(2) (x, α) =

{
2
α − 2|x|

α2 , |x| ≤ α;
0 |x|, > α.

:L�H5;

8	 7����	 L�4  �����	 
	� ����� #�������� 
� ��	%��	
� 	�� �� � ��� 
��
��� ��	� 
���%	
	� �	�	 �� %	
�� 
�
 ��	
� 
� ���%	���	 
� K = 4� �� �����%	
2�� 
	� 
���%	
	� 
� hyp(x, α)" lch(x, α) ' ϕ (x, α) �� �������	� �����
���	��" ��
 ��" �	�	 
	  �� 	 ���%	���	 ���	� ���� #�������� ���  �� ��	%�� 2�� ftan(x, α)
' fpol(x, α)� ���  �� �" �� 0	 �����%	
� 2�� hyp(x, α)" lch(x, α) ' ϕ (x, α) ���=
�������	� ����
�	
��  �' �� �
	��� :' ���������� 	 ftan(x, α) ' fpol(x, α); 	 
	
0��	 
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�
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��������%��" ��� 
� 2�� 
	 �
������ ����� 
��0	� #�������� ��
�� 	 �� #������ 
� ��� �����
�� %���	1	� 
� � �
� ���	����� ���" 
	 #������
ϕ (x, α) ' ��� 
���%	
	�" 	
� �� 
� ������ ��	� �3��������� �����
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�� ��� �%	
�	
	� 
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	� �� tanh (x) ' sech (x)" 
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��
	 ��
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�� ��� ��	� 
���%	
	� �	�	
��	 ���%	���	 K = 4 :α = 0,5;�
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 	 ��	 �� ��	%��	
� �	�	
� �� �
 ���
��
α=��
��� 2�� ��	
��	 ��  	��� f : R

M → R
N �� 
����	 �� � α�G8(M, P, N)

' 	
���	 
	 #�� 	

f(x) = a + Bx +
P∑

i=1

ciϕ (〈νi,x〉 − βi, αi) . :L�HH;

)� ���� �	��" 
	 #������	 i=9�� 	 ���� ������	
	 ��� ϕ (〈νi,x〉 − βi, αi)"
��	 #������ ��	%�" �������	 ' 
���%	�
�" ��� 
� 2��" �� �����������	" �
  �
�
�
�
��	
 �� �	����� ��	�  �� 	� ������
	
��� )� 
	 7����	 L�I ��  �����	 ��
�1� �
� 
� 
��0	 #������ �	�� �	�	 �� ���	��� 
� ����	
	 ��
� ������	
 ' �	�	
ν = [1 0,25]" β = 0 ' α = 2/K = 0,5@ ��
�9�
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.	���� *�&� 7������ �	�� ϕ (〈ν,x〉 − β, α) �� �� ���	��� ��
� ������	
 ' ��	
#������	 
�!��
	 ��� 
	 ����	 x1 − 0,25x2 = 0�

�	�	 �
 �	�� �	�����
	� ���
� ������	
 �� �
 2�� 
	� #������	� �� ����������
�2�����	��	
	�" �
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� ���
��	� 
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 	 ��	 �� �	�����	
��	%��	
	 ��� 
	 #������ ϕ (x, α) �� �2��%	
���� 	 
	 	���3� 	���� α=��
���� ��
0��0�" �3���� ��	 ��
	���� ����� 
	 #������ �	�� α=��
���" βα (x)" ' 
	 #������

� ��	%��	
�" ϕ (x, α)" 
	
	 ��� 
	 �3�������

βα (x) = −ϕ (x, α) +
1
2
ϕ (x− 1, α) +

1
2
ϕ (x + 1, α) . :L�H4;
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E =
∑

i

(f(xi)− yi)2 + λ||Psf(x)||2, :L�HI;
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||Pm
s f ||2 =

n∑
i1,...,im

∫
Rn

(∂i1,...,imf(x))2dx


��
� ∂i1,...,im = ∂m/∂xi1 . . . ∂xim ' m ≥ 1� )��� ���	��
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���
	�	 ������" ���� �
 2�� �� ���
��� �	�	 ������
	� 
	
��	%�
	
 
� �������  �
�
��
��� ���	� ��� ��	�" �� ������
� ������� �� ����� 
� ��������� ����� �


 �
�
� 
���	
 	 ��	 �� ��	%��	
� ' 
	 �����	 
� 
	 ����
	���	����� )� ��������" ��

� ����	�� 2�� 
	 ��
	���� ����� 
	 ��	%�
	
 :�%	
�	
	  �
�	��� 
	 ������	
 
�

	� 
���%	
	� 
� �����
� ��
��; ' �
 �	�� ���� α ��  ������	 ' 2��" ��� �	���"
�� �����
� ������
	� 
	 ��	%�
	
 
�
  �
�
�  �
�	��� ��	 ��
������ 	�����	
	

�
 %	
�� 
� α� �	
	 
	 ������0	 ��
	���� ����� 
	 #������ �	�� ϕ (x, α) ' 
	
�	�� α=��
���" ��
��	� �3��	��
	��� 
�� ����
�	
�� 
� 
	 �������
	���� α=��
���
	
  �
�
� α�G8� ��� � �	���" �� ������
� 	
�	��	� 
��0� ����
�	
� �������
�
�� �	 ��� 
�#�������
�� �� ����	 �����
��	�
� �� �1� �
� ���
� ������	
" �	�	 �
 ��	
 
	 �3=

������� 
�
 ���	��
��	
�� ����� �� �����	 
	 ������	
 
�
 ��	
�	
� 
� 
	 
���%	
	



H4M �	����
� L� ��
�
	
� α=��
���

�����
	 
� 
	 #������� �	
� 2�� 
	 
���%	
	 �����
	 
� 
	 #������ �	�� ���=
�����	 �� 
��	
��	
	 :ϕ(2) (x, α) = 0 �	�	 |x| ≥ α;" �������� 
	 
���%	
	 �����
	

� �	
	 �� ������� ����	 ���� �� ��
	�	 ��� 
	 
� 
	� �� ��������  �� ���=
3� 	�� ��� �9�
�
	 
� �����	
�
	
" �� ������ 2�� �
  �
�
� ���� �� ������ ���

�� �� �������� ���	�	
	� ��� ��	 
���	���	 b ≥ 0" �� 
����"

f(x) = c1ϕ (x, α) + c2ϕ (x− b, α) .

)� ���� �	��" �
 �9� ��� 
� ����
	���	���� %���� 
	
� ��� 
	 �3�������

||P 2
s f ||2 =

⎧⎪⎨
⎪⎩

(c2
1 + c2

2)
8
3α , α ≤ b/2;

(c2
1 + c2

2)
8
3α + c1c2

4(2α−b)3

3α4 , b/2 ≤ α ≤ b;

(c2
1 + c2

2)
8
3α + c1c2

4(3b3+4α3−6b2α)
3α4 , α ≥ b;

:L�H6;

2�� ����
�	  ������	 
���������� �������� 	 α" ��
����
����� ���� 
�
 %	
��
2�� �� � b" �� 
����" 
	 ���	�	���� ����� 
	� 
�� �� ��������" � 
� 
�� �����
c1 ' c2@ ���� �� 
���%	
	 �������� 	 α �� ���	��%	" �� � �� 
� �����	 �� �

��9�
��� )�H�
�
 �3���
�� �
 	������� 	��
���� 	 �� ���	��� 
� ����	
	 ��
� ������	
" �����

�
 ����
� 	 
� 2�� 
	 �����
	 
���%	
	 �� ����� ������� !���� �� 
	 
��������

� 
	� #������	��� ��� � �	���" �� �����
� �%��	� ���� �����%������� ������	�
�
�� ��	 ������ !���	 	�����	
	� �	�	 �� �
�!�	� 
	 �%	
�	���� 
� 
	� 
������	�
������	
��" �� ������ ��	 ������ 
� ������	����" R′ 
�
� ��	
	 ��� 
���	� ������=
�	
�� 	 
	� #������	�" �	
 ' �� �  �����	 
	 7����	 L�6� ��� ���	 �����
��	����"
�
 ���	��
��	
�� 	
���	 
	 ��������� #�� 	�

||P 2
s f ||2 =

∫
R′

[(
∂2f

∂x2
1

)2

+ 2
(

∂2f

∂x1∂x2

)2

+
(

∂2f

∂x2
2

)2
]

dx1dx2.

�� ���%�" �� �����
��	 ��  �
�
� �� ������ ����	 ���� ��� 
�� �� ��=
������" �� 
����"

f(x) =
2∑

i=1

ciϕ (m1ix1 + m2ix2 + ti, α) .

��� �9�
�
	 
� �����	
�
	
" �� �����
� ������� t1 = t2 = 0" 
� 2�� � �
��	
2�� �
 ����� ���������
����� 	 
	 ������������ 
� 
	� 
�� #������	� �� ��������	
�� �
 ������ 
� ����
��	
	�" ' 2�� m11 = 0" m12 = m22 = 1 ' m21 = m� ?	1�

�?�����
��� !��� �
 �
 ��
��� ��
��� � ������ ��
�
��� ��
���
���
��� ��� �����
�� ���#


�������
�� ��� ������ 
�� ���� m1x1 + m2x2 = t !�� ��
�����"�
 ��� �	
��� 
� ������� 
�
��� ���
�� !�� �����
 �� ��
����
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�
� α=��
��� H4J

�

�

��

�


��
�����

.	���� *�'� ,����� 
� ������	���� �	�	 �� ���	��� 
� ����	
	 ��
� ������	
�

���	� ���
�������" �
 �9� ��� 
� ����
	���	���� �� 	 �
 %	
��

||P 2
s f ||2 =

∫
R′

c2
1

[
ϕ(2) (x2, α)

]2
dx1dx2

+
∫

R′
c2
2(m

4 + 2m2 + 1)
[
ϕ(2) (mx1 + x2, α)

]2
dx1dx2

+
∫

R′
2c1c2ϕ

(2) (x2, α)ϕ(2) (mx1 + x2, α) dx1dx2,


��
� 
�� 
�� ��� ���� �9� ���� ���������
�� 	 
	 ������������ 
� �	
	 �� =
������� 
����� 
� 
	 ������ 
� ������	���� R′  �����	� 2�� �
 ������ �9� ���
�����
��	 
	 ������������ 
� 	 �	� �� ��������" 2�� ���� !���	 
	
� �
 �������
�� �	��� 
� 
��0	 ������������� 7��	
 ����" �� �������

||P 2
s f ||2 =

8L

3α
(c2

1 + c2
2(m

2 + 1)2) +
8
m

c1c2,

����
� �� 
���%	
	 ��� �������� 	 α

d||P 2
s f ||2

dα
=
−8L

3α2
(c2

1 + c2
2(m

2 + 1)2) ≤ 0,


� 2�� 
� �����	 
	 
����
����	  ������	 
���������� 
� 
	 ��	%�
	
 
�
  �=

�
� ��� �������� 	 α� )� 
�!����%	" ����� ���	� α ���%��	 2�� 
	� ��	���������
����� 
	� ��������� 
���	
�� 
�
  �
�
� ��	�  �� ��	%��" ��� 
� 2�� 
	 ��	%�
	


�
  �
�
� �
��	
 	� ���	�



H4O �	����
� L� ��
�
	
� α=��
���

������ ����
��	�
��� �
� 	��
��

)
  �
�
� α=��
��� ����� ���� ����� 
�������� 
� �	�� ����� 2�� 
���� ���
���� 	
��� 
�� 2�� 
�!��� 
	� #������	� 2�� �	�������	� �
 ���	��� 
� ����	
	
:νi ' βi;@ 
�� 2�� 
���� ��	� 
	 �� ���	���� 
���	
 
� 
	� 
������	� �� ��������

�
  �
�
� :a" B ' ci;@ ' �
 �	�� ���� 
� ��	%�
	
 α�
)
 	
����� � 
� 	����
��	1� 
�
  �
�
� �� 
� ���� ����	��%�" ' �� �	�	 ��

������%	� 	
	��	������ 
� 
	 �	������� 
�
 ���	��� 
� ����	
	 ' �� 
	 ���� 	

� 
�� ���!������� ���� �� 
�
  �
�
� �	�	 
��0	 �	�������� 8	 	
	��	���� 
�

�� �	�� ����� 2�� 
�!��� 
	� #������	� 
� 
	 �	������� �� ��	
��	 ���
��	�
�
��  9��
� �	�	
� �� �
 ��	
����� 
� �����
� ��
��" �� ��������" �� � �
�	
�
 ��	
����� ' �
 (����	�� 
� 
	 #������ ����� ��� �������� 	 
�� �	�� ������
$�	 %�� 2�� ��� !1	
	� 
	� #������	� 
�
 ���	��� 
� ����	
	" �
 ����� 
� 	���3�=
 	���� 
�
  �
�
� �� ��	 #������ ��	
�����	 
� 
�� �	�� ����� 2�� 
�!��� 
	
�� ���	���� 
���	
 
� 
	� �� ��������" ��� 
� 2�� ��  ��� � �� ��������	 
�
#�� 	  �' �� �
� ����
%���
� �� ����� 	 
���	
 
� ���	������� ��������� ����"
�� %��
%�� 	 	
	��	� 
	� #������	� ' �
 ������� �� ������ ����	��%	 �����
V��� ��" �����	 ����" �
  9��
� ��������� ��� 8� �0�	 �	�	 ���� ��	� 
��

�	�� ����� 
�
  �
�
� �	������ 
���	
 	 ��	 �� P�0�	OMQ" �	
%� ��� �
 0��0�

� 2�� 
	 #������ 
� 	���%	���� ��" �� ������� �	��" ϕ (x, α) :L�O; �� 
��	�

� 
	 #������ %	
�� 	���
���� ��� �

�" �� ������� ������� 
	� �3��������� 2��
������
��	� �
 ������	 ����� 
�
  �
�
� α=��
����
�� �����
��	 �
 �	�� �����	
 
� 
	 	���3� 	���� 
� ��  	��� (f : R

M →
R

N ) ��	�
� �� ���1���� 
� L 
	��� 
� ����	
	=�	
�
	 
�
 ���� (x[l],y[l]) ���
l = 1, . . . , L" ����
� x[l] = [x[l]

1 , x
[l]
2 , . . . , x

[l]
M ]T �
 %����� l=9�� � 
� 
�� 
	��� 
�

����	
	 :
� 
� ������ M;@ � y[l] = [y[l]
1 , y

[l]
2 , . . . , y

[l]
N ]T �
 %����� l=9�� � 
� 
��


	��� 
� �	
�
	 :
� 
� ������ N;�
)� �����
� �
� ��	� �� ���!������ 
� �	
	 #������	 �����������
� 〈νi,x〉−βi

�� :L�HH; �� �

di(x) = mi,1x1 + mi,2x2 + · · ·+ mi,M−1xM−1 − xM + ti,


��
� di(x) 
����	 
	 i=9�� 	 #������	 �%	
�	
	 �� x� ��� ���	 �����
��	����"
�
  �
�
� α=��
��� :L�HH; ��� P #������	� ���
� ����������

y = f(x) = a + Bx +
P∑

i=1

ciϕ (di(x), α) .

8�� �	�� ����� 
� ����  �
�
� ���
�� 	����	��� �� �� %�����" zf " 
� 
��=
����
 PM 2�� 
�!�� 
	� P #������	� 2�� �	�������	� �
 ���	��� 
� ����	
	

zf = [m1,1, . . . , m1,M−1, . . . , mP,1, . . . , mP,M−1, t1, . . . , tP ]T ;



L�4 ��
�
� α=��
��� H4K

' ��	  	����" Zc" 
� 
� ������ N × (M + 1 + P ) 2�� ����� 
�� ���!�������
	����	
�� 	 
	 �� ���	���� 
���	
 
� 
	� #�������� �	�� 
�
  �
�
�

Zc =

⎡
⎢⎢⎢⎣

a1 b1,1 . . . b1,M c1,1 . . . c1,P

a2 b2,1 . . . b2,M c2,1 . . . c2,P

���
���

���
���

���
aN bN,1 . . . bN,M cN,1 . . . cN,P

⎤
⎥⎥⎥⎦ .

)
  �
�
� 
���  ��� ��	� 
	 #������ 
� ����� 
	
	 ��� �
 ����� ��	
������
����� 
	 �	
�
	 ��	
 ' 
	 ����������	
	 ��� �
  �
�
�

E(Zc, zf ) =
L∑

l=1

∥∥∥∥∥y[l] −
(

a + Bx[l] +
P∑

i=1

ciϕ
(
di(x[l]), α

))∥∥∥∥∥
2

. :L�HL;

�	�	 

�%	� 	 �	�� 
	 	
	��	���� 
� 
�� 
�������� �	�� �����" �
 	
����� �
�� �����	 !1	�
� ��	� #������	� �����	
��" �� 
����" �
 %����� zf � (	����	
 ����"
���	 �	������� �����	
 �� ��	
��	 
� #�� 	 	
�	����	 ��� 
	 ����������� 
� 2�� 
	�
#������	� ���������	� 	
 
� ���� 
� 
�� 
	��� 
� ����	
	� $�	 %�� !1	
� zf " 
	
#������ 
� ����� :L�HL; �� ��	 #������ ��	
�����	 �� Zc" ��� 
� 2�� ��  ��� �
�� �������  �
�	��� ����
���%���	

Zc = (AT A)−1AT Y, :L�HM;


��
� Y = [y[1], . . . ,y[L]]T �� 
	  	���� L ×N 
� 
�� 
	��� 
� �	
�
	" ' A ��
��	  	���� 
� 
� ������ (M + P + 1)× L 
� 
	 #�� 	

A =

⎡
⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

1 1 . . . 1
x

[1]
1 x

[2]
1 . . . x

[L]
1

���
���

���
x

[1]
M x

[2]
M . . . x

[L]
M

u
[1]
1 u

[2]
1 . . . u

[L]
1

���
���

���
u

[1]
P u

[2]
P . . . u

[L]
P

⎤
⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦

,

����
� u
[l]
i �
 %	
�� 
� 
	 i=9�� 	 #������ �	�� �	�	 �
 %����� 
� ����	
	 l=9�� �"

�� 
����" u[l]
i = ϕ

(
di(x[l]), α

)
�

$�	 %�� ������
�� 
�� �	�� ����� Zc ���� �� �	�	 
	 �	������� �����	
" �

	
����� � 
��� ���� 	� ��	 ���%	 �	�������" �	�	 
� ��	
 �� �%	
�	 �
 ��	
�����"
g" ' �
 (����	��" H" 
� :L�HL; ��� �������� 	 zf " 
� 2�� ��� ��� 
���� ��	� 
	

�������� ���� 	" s" �� 2�� �� 
���  �
�!�	� 
	 �	������� zf " ' 2�� %���� 
	
	
��� 
	 �3�������

s = −H−1g. :L�HJ;



HI5 �	����
� L� ��
�
	
� α=��
���

)
 ��	
����� �� �	
��
	 �� � 
	 
���%	
	 �	���	
 
� 
	 �3������� 
� ����� ���
�������� 	 �	
	 ��� 
� 
�� �	�� ������ zf " ' ������ 2�� 
	 #������ 
� �	
�
	
:'" ��� �	���" �
 �����; �� N =
� ������	
" �� �%	
�	 �� � �� �� 	����� �� 
	�
N 
� ��������

g = ∇zf
E(Zc, zf ) =

[
∂E(Zc, zf )

∂zf1
, . . . ,

∂E(Zc, zf )
∂zfPM

]T

= 2
N∑

n=1

KnGen,

 �����	� 2�� �
 (����	�� %���� 
	
� ���

H = ∇2
zf

E(Zc, zf ) = ∇zf
g = 2

N∑
n=1

(
Kn∇zf

G en + KnGGT KT
n

)
, :L�HO;


��
� en �� �
 %����� 
� ����� 
�
  �
�
� ����� 
	 
� ������ n=9�� 	 
� �	
�
	"

�� 
����" en =
[
e
[1]
n , . . . , e

[L]
n

]T
@ Kn �� 
	  	���� MP ×MP

Kn = 
�	�(cn,1, . . . , cn,1︸ ︷︷ ︸
M−1 veces

, cn,2, . . . , cn,2︸ ︷︷ ︸
M−1 veces

, . . . , cn,P , . . . , cn,P︸ ︷︷ ︸
M−1 veces

, cn,1, cn,2, . . . , cn,P );

' G 
	  	���� MP × L

G =

⎡
⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

x
[1]
1 p

[1]
1 x

[2]
1 p

[2]
1 . . . x

[L]
1 p

[L]
1

���
���

���
x

[1]
M−1p

[1]
1 x

[2]
M−1p

[2]
1 . . . x

[L]
M−1p

[L]
1

���
���

���
x

[1]
1 p

[1]
P x

[2]
1 p

[2]
P . . . x

[L]
1 p

[L]
P

���
���

���
x

[1]
M−1p

[1]
P x

[2]
M−1p

[2]
P . . . x

[L]
M−1p

[L]
P

p
[1]
P p

[2]
P . . . p

[L]
P

���
���

���
p
[1]
P p

[2]
P . . . p

[L]
P

⎤
⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦

,

����
� p
[l]
i �
 %	
�� 
� 
	 ��� ��	 
���%	
	 
� 
	 #������ �	�� i=9�� 	 �	�	 �


%����� 
� ����	
	 l=9�� � :L�K;" �� 
����" p[l]
i = ϕ(1)

(
di(x[l]), α

)
�

)� �����	���  ������	� 2�� �
 ��� �� �9� ��� 
�
 (����	�� �� :L�HO; ��=
������	 
	 �����
	 
���%	
	 
� 
	� #�������� �	�� 
�
  �
�
� α�G8" ��'�
%	
�� %���� 
	
� ��� :L�H5;� �� ��	�	 
� ��	 #������ 
��	
��	
	 �� 
	� #������	�

�
 
� ����" ��� 
� 2�� ����	 ���� 	2��

�� 
	��� 
� ����	
	 ���3� �� 	 
	�
#������	� ��������'�� 	 
��0� �9� ���� )� 
	 �������	 �� 0	 �����%	
� 2�� ��



L�4 ��
�
� α=��
��� HIH

�� 	�����	 
���	
	���� �� 
	� �����	������ 
�
 	
����� � �� �� �������
� 
� ��=
�� #	����" ������9�
���" ��� �����	" �� � ����	��� 	0���� �� ���	����	
� ���
�

�" 
	 �%	
�	���� 
�
 (����	�� �� 

�%	�� 	 �	�� ���
��	�
� 
	 �3�������

H = 2
N∑

n=1

KnGGT KT
n .

$�	 %�� �	
��
	
	 
	 
�������� 
� ���2��
	 :L�HJ;" 
	� #������	� 
� 
	 ��=
������� ����	���� �� �������� 	�
��	�
�

z′f = zf + µs,


��
� µ = 	�� �� (E(Zc, zf + µs))�
�� ���	 #�� 	 �� ������� ��	 ���%	 �	�������" zf " 
�
 
� ���� 
� ����	
	

�	�	 
	 ��	
 �� 
���� �	
��
	� 
�� ���!������� ���� ��" Zc" ���
��	�
� :L�HM;�
)
 ������� �� �
��� �� ������ 
� #�� 	 ����	��%	" 	
	��	�
� ������%	 ���� 
	
�	������� ' 
�� ���!������� 0	��	 2�� �� 	
�	��	 �� 
���� ��	
� ��%�
 
� �����
� 0	��	 2�� �� ������	�	 �� �� ���  �3� � 
� ����	�������

����$� �
��	����� �
� ����	
��� �
 
��!����

)
 �	�� ���� α ����
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dIds

dVds

�4"9
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dIds

dVgs

�4"9
1:

�8�:L"L"H; IM 25,50 14,00 14,40
��G8:L"L"H; IM 30,62 9,52 13,04
��G8:L"L"H; IJ 31,41 18,94 16,28
α�G8:L"L"H; IJ 30,32 15,76 16,41
�8�:L"K"H; M6 27,17 12,62 14,75
��G8:L"H5"H; MM 32,44 10,44 12,96
��G8:L"H5"H; MJ 33,14 18,69 17,67
α�G8:L"H5"H; MJ 32,02 18,20 17,53
�8�:L"HH"H; JO 28,09 13,71 14,66
��G8:L"H4"H; JO 33,04 11,51 14,34
��G8:L"H4"H; JK 33,71 18,87 17,42
α�G8:L"H4"H; JK 32,66 17,44 18,19
>,?7:L"O"H; OO 28,84 10,09 13,79
��	
����� KO 32,92 −0,8674 16,53
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�
s[n]

d+
α [n] � ���%�

�T�
� β0

(
t
T

) ∗ pα

(
t
T

) �
sT (t)

β0

(
t
T

) ∗ pα

(
t
T

) �
�

�
 �
� 

T

� d−α [n] �
sR[n]

������� �
ŝ[n]

hT (t) hR(t)
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� �� α=��
�����

#�� 	
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d+
α [n] = (1− z1)z1

nu[n],
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(
t

T

)
∗ pα

(
t

T

)
,
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�
 !
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hT (t) =
∑
n∈Z

d+
α [n]p(t− nT ).
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	 �� ����	 
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	 ��������	 	
 � ��
��
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��� �������� ��

hR(t) =
∑
k∈Z

d−α [n]p(t−NT ),

����
�
d−α [n] = (1− z1)z1

−nu[−n],

' :6�4M;

z1 =
α− 3 +

√
9− 6α

α
.
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HT (Ω) = TF {hT (t)} =
1− z1

1− z1e−jΩT
sinc

(
ΩT

2π

)
sinc

(
αΩT

2π

)
,
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	 ��

ST (f) =
3 sinc 2(fT ) sinc 2(αfT )
3− α + α cos (2πfT )

.
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	 �3�������

sT (t) =
∑
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s[n]p(t− nT ).
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sR(t) =
∑
k∈Z
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�T�

�
sd(t) 7�
���

��	�� ����
p(t)

�
sT (t) 7�
���

,�������
p(−t)

sR(t)
�

�
�
 �

� 

T

�
sR[n]

������� �
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sR(t) =
∑
n∈Z

(∑
k∈Z

s[k]d[n− k]

)
ϕp(t− nT ) =

=
∑
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s[n]

(∑
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d[k]ϕp(t− kT − nT )

)
=
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s[n]h(t− nT ),
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h(t) =
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s[n] =
∑
k∈Z

sd[k]ϕp[n− k] = sd[n] ∗ ϕp[n].
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����"

d[n] = ϕ−1
p [n] z←→ D(z) =

1
Φp(z)
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D(z) =
1

Φp(z)
=

1

ϕp[0] +
∑N

n=1 ϕp[n] (zn + z−n)
. :M�HH;
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� ��� #	������	
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D(z) = c0

N∏
i=1

−zi

(1− ziz−1)(1− ziz)
= c0

N∏
i=1

Qzi(z), :M�H4;
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�
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(zi, z

−1
i ) / Qzi(zi) =∞, |zi| < 1

}
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D(z) = c0

(
N∏

i=1

−zi

)
D+(z)D−(z), :M�HI	;
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�

d+[n] = zn
1 u[−n] ∗ · · · ∗ zn

Nu[−n] z←→ D+(z) =
1

1− ziz−1
, :M�HI�;

d−[n] = z−n
1 u[n] ∗ · · · ∗ z−n

N u[n] z←→ D−(z) =
1

1− ziz−1
= D+(1/z).

:M�HI�;
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����"

G(ω) ≥ 0, |ω| ≤ π. :M�HL;

?	1� ���	 ���
�����" �� ���
�� ������� �� �	� 
� !
���� 	
	��	
��  �
�	���
#	������	���� �������	
 G(z) = R(z)R(1/z).� 8�� #	������ 
� #	��  �3� 	 ' #	��
 ��� 	 ���
�� ��� 	����	
�� 	�����	��	 ���� 	
 !
��� ��	�� ���� � 	
 !
���
���������
� ��	 �	��1	 ���������	
 ���� 7�, 2�� �� �
� :M�HL; 
	 
��� ��	�� ��

�� ���	 ����� �	��1	 ���������	
 �� �
�!��
	 ������%	 ���� :?�=���;� �� �
�� 
� ����	��  �� �	�
�" �
 
����� 
� ?�=��� ���
� ��� #�� �
	
� �� � ��
����
� 	 
� �����	 	���� �� �
�!��
	 ���%�3	 :���; 2�� ���
� ��� �����
=
�� �!������ ���� ���
��	�
�  9��
�� 
� ����� �������� PA�KJQ" 
�������
�� ��

������	� 
� �	�
	� �� � ������ P���� KOQ�
8	 �
�	 
� #�� �
	� �
 
����� 
� !
���� ���#�� 	
���� �� � �� ����
� 	

��� �� �� ���%	" ���� 0	 ��
� �3����	 ���� ���
��	
	 ��� �� +� �	%�
��� '
����� 	������ P�	%�
���55" �	%�
���5H" �	%�
���54" G�KMQ� )� 
��0�� ��	�	=
1��" �����	� ������������� :�	
�� �� � 
	 ������
	
 +'2����:M;"  ���	�	� ��=
�����	
�� � #�������� 
� ����� � �����	� �	�	 ����� ���	� 
	 �� ���
	
 #�����
	
 �
����; ��� ��	��#�� 	
	� �� ������������� 
���	
�� ' �� ������������� 
� 
���=
��	

	
�� 
���	
��  	�����	
�� :8��� ,
���� ?���
" �������
��; 2�� ���
�� ���
�����
�	�  �
�	��� ���� )
 ����
� 	 �� P�	%�
���55" �	%�
���5HQ �	 ��9� ��
�	�	 �����	
� �� �9� ���� 
� 
	 #������ 	��������
	���� 2�� ����
�	 
� 
	 ���=
%�
����� 
� 
�� !
���� 	
	��	
��� 8	 �������	
 
�#������	 ����� ����� ��	�	1��
' �
 2�� ��� ����	 �� 2�� �
 �����
� ����� 
� 
����� �� �����	 
��
� �� !
���
H(z) 
� �	���
	"  �����	� 2�� �	%�
��� ' ��	������ 	��	��	� .
��
� ����/�
)�����!�	�
� ��� 	
�
	��	
� H(z) �� 
������ 
� �����	� %���	1	� �� �" ���
�1� �
�" �
 0��0� 
� 2�� �� �����
� 	�
��	� 
	 �����	 
� �	��1	� ���������	
�� '
�3�
��	� ������� ����
�	
�� ���
�� ��
	��%�� 	 
	 �3�������	 
� ��	 � �
� ���	=
���� 7�, ' 
���� 
� ���� )�  ��" ������ 2�� 
	 ��
����� !�	
 �� #���	
	 	 �� ���
G(z) = H(z)F (z)" �
 ����
�	
� 0���
	�� 
�
 !
��� �����	
 
� 
�����" H(z)" ����=
�	� �	�	���������	� :��
	��%	� 	
 	��0� 
� �	�
	" ��� �1� �
�;� )� 
����" ��� 
	

�$��� �� ��
��
���
 �!�	 %����� ��
 ���%���
��� �������
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 ���
�
���	 ��������	 �� ������	 ��	� �����	� �	�	���������	� 
�
 
����� ���=
��	
 :��� �1� �
� #	�� 
���	
 
� 
�� !
���� ��	�� ������ ' ����������; ��� ���	�
���%	� :��� �1� �
� ��� ��
	;  	�������
�" 	
  �� � ��� ��" 	
���	� 
� 
	�
�	�	���������	� 
�
 
����� ������	
 :�� � �
 	��0� 
� �	�
	" � �
� ���	����
7�," ����;�
)� ���� ��" �
 ����
� 	 �
	���	
� �� ���	 ����� ���
� #�� �
	��� 
� 
	

���������  	���	� 
	
� �� !
��� 7�, 	�����	���" H(z)" ' �� #	���� 
� ��=
��� �������" M " �������	� �� !
��� 7�," F (z) �	
 2�� 
	 ��������	 �
��	

G(z) = H(z)F (z) �� �
	 
	� ���
�������

G(z)↓M = 1,

'

G(z) = R(z)R(1/z).

���
� �
 ����� 
� %���	 
� 
	 ���#�� 	���� 
� ��
���" 
	 ��� ��	 ���
�=
���� � �
��	 �������	� ��	 � �
� ���	���� 7�, ' 
���� 
� ���"  �����	� 2��

	 �����
	 ������
��	 ��	 
���� �������� 	
	��	
	 
� 
�� !
���� ��	�� ����
' ��������� ?����	 ���� 
	 �
�	 �������� �� 2�� 
	 ��������	 �
��	
 g[n] 
���
����� #�� 	 
� #������ 
� 	��������
	����" �� 
����" !
��� 7�, 
� ���� � ���
�������� �� �
�!��
� ������%�� )� �
 ��������� 	�	��	
�" �� 
�������� �� � ��=
����� �� �	��1	 
� !
���� ���������	
�� �	
�� 2�� g[n] ��	 �� !
��� 7�, ���� ��
��������� ����" �� �����
����� 
	 ����������� ��� �� �
 �����
� ����� 
� 
������

$�(��� ���
6�
 2�����"����

 �
 ��

 ���
��

)� ���� 	�	��	
� �� �����
��	 �
 ��������� ����
� 	� 
	
� �� !
��� 7�,
	�����	��� H(z) ' �� #	���� 
� ����� ������� M " �������	� ��	 �	��1	 ������=
���	
 7�," F (z)" �	
 2�� 
	 ��������	 �
��	
 ��	 �� !
��� 
� #	�� 
���	
 
� ����
���

��������
� 2�� H(z) ' F (z) ��� !
���� 7�, 
� 
������
 P ' L" ��������=
%	 ����" �������� G(z) �� �� !
��� 7�, 
� 
������
 P + L − 1� $�	 ��� ��	
�������� 	 �����
��	� �� 2�� �	�	 ��������� �� !
��� 
� ���� � ' #	�� 
���	
"
P + L− 1 
��� ��� �� �� ��� � �	�" 
� 2�� � �
��	 2�� P ' L ������ 2�� ���
	 ��� �� ���� �	��� � ���� 	 ��� � �	����
�	�	 ����
%�� �
 ����
� 	 �� �����
��� 
� #�� 	 �� �
	� 	 P<�����
�OMQ ���

�
 !� 
� ������� �� �	��� 
� !
���� 
� �������������� ���#���	 
� ���� 7�,�
)� ��������" 
	 ���%�
����� 
� H(z) ' F (z) �����	 �� ���1���� 
� P + L− 1
���	������ 
���	
�� 
� 
	 #�� 	

��� 
�������� 
������� !�� �� ����
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������� �
 ,;��
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��(�
G��/ 
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��� ����6��
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⎡
⎢⎢⎢⎢⎢⎢⎢⎢⎢⎢⎣

h[0] 0 · · · 0 0
h[1] h[0] · · · 0 0
h[2] h[1] · · · 0 0
���

���
� � �

���
���

0 0 · · · h[1] h[0]
���

���
���

���
0 0 · · · 0 h[P − 1]

⎤
⎥⎥⎥⎥⎥⎥⎥⎥⎥⎥⎦

⎡
⎢⎢⎢⎣

f [0]
f [1]
���

f [L− 1]

⎤
⎥⎥⎥⎦ =

⎡
⎢⎢⎢⎣

g[0]
g[1]
���

g[L + P − 2]

⎤
⎥⎥⎥⎦ . :M�HM;

�	�	 ������� ��	 ��
����� %�
�
	" 
�� ���!������� 
�
 !
��� g[n] 
���� �� �
��

H� ���
����� +'2����:M;� g[n] 
��� ������ ������ ��� ���� �����
���� ���	=
�	
�� ��� M  �����	� �3������ g[(L + P − 2)/2] = 1�

4� ���
����� 
� �� ����	� g[n] = g[L+P−2−n] �	�	 n = 0, 1, . . . , L+P−2�

8	 ���
����� +'2����:M; #����	 2
⌊

L+P−2
2M

⌋
+1 ���	������ �� :M�HM;" 
��
�

�·� 
����	 
	 �	��� �����	 
�
 	��� ����@  �����	� 2�� 
	 ���
����� 
� �� ����	
#����	 P−1 ���	������� ��� 
� �	���" 
������ �� 
� �� ���	
 
� 2

⌊
L+P−2

2M

⌋
+P

���	������ �	�	 
	� L ��������	� f [0], . . . , f [L−1]� )� #���
 �� ����	� 2��" 
	
��
P ' M " ��� ��� �� �����
� �������	� �� %	
�� 
� L 2�� �	���#	�	

L = 2
⌊

L + P − 2
2M

⌋
+ P, :M�HJ;

��������
�" ��������" �� ����� 	 
���	
 
� L ���	������ ' L ��������	� 2�� ��" ��
�����	
" ����
��
� :�� �� �3������	 ��	 �	��1	 ���������	
 
� ���� 7�," 
	  	����
����	 �����
	� ' �
 ����� 	 �� ���
��	 ��
�����;� )
 %	
�� 
� L ����������	 �
 ?�
 �� ����� 2�� �� �
� 
	� ���
������� 
� �� ����	 ' +'2����:M;� <	
����  ��
��	�
�� 
� L ��� ��� ������ � ����� ���
������� 	
�����	
��" �� � %��� ��
 �� �	�
��
$� �1� �
�  �' �� �
� ���%� �	�	 �
����	� �
 �����
� ����� 
� 
����� 
�

�	��1	� ���������	
�� 
� #	�� 
���	
� �����
9���� �
 !
��� 7�, H(z) = −1 +
2z−1 + 3z−2 ' �� #	���� 
� ����� ������� M = 2� )� ���� �	��" 
� 	����
�
��� :M�HJ; 
	 
������
 
�
 ?�  �� ����� �� L = 5" ��� 
� 2�� �
 ����� 	 :M�HM;
����
�	 ⎡

⎢⎢⎢⎢⎢⎢⎢⎢⎣

−1 0 0 0 0
2 −1 0 0 0
3 2 −1 0 0
0 3 2 −1 0
0 0 3 2 −1
0 0 0 3 2
0 0 0 0 3

⎤
⎥⎥⎥⎥⎥⎥⎥⎥⎦

⎡
⎢⎢⎢⎢⎣
f [0]
f [1]
f [2]
f [3]
f [4]

⎤
⎥⎥⎥⎥⎦ =

⎡
⎢⎢⎢⎢⎢⎢⎢⎢⎣

g[0]
g[1]
g[2]
g[3]
g[4]
g[5]
g[6]

⎤
⎥⎥⎥⎥⎥⎥⎥⎥⎦

.

	>����� !�� �� ����
� �������
�
 
� H(z) " F (z)� �� %���� 
� �"!���� �
���
����# �

������� 
� n0 = (L + P − 2)/2 ��������� �� 
����� (G(z)zno )↓M = 1�
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8	 ���
����� +'2����:4; ��� ����������	 
	� ���������� 2
⌊

L+P−2
2M

⌋
+ 1 = 3

���	������ ⎡
⎣2 −1 0 0 0
0 3 2 −1 0
0 0 0 3 2

⎤
⎦
⎡
⎢⎢⎢⎢⎣
f [0]
f [1]
f [2]
f [3]
f [4]

⎤
⎥⎥⎥⎥⎦ =

⎡
⎣0
1
0

⎤
⎦ ,

2�� ���
�� ��� ��������	� �� �

H1f = d1.

��� ���� 
	
�" 
	� ���
������� 
� �� ����	 ����������	� P−1 = 2 ���	������
	
�����	
�� g[0] = g[6] ' g[2] = g[4]" 2�� ���
�� ������������ �� �

[−1 0 0 0 −3
3 2 −4 −2 1

]
⎡
⎢⎢⎢⎢⎣
f [0]
f [1]
f [2]
f [3]
f [4]

⎤
⎥⎥⎥⎥⎦ =

[
0
0

]
,

�" �� ���	����  	�����	
"
H2f = d2.

7��	
 ����" 
	 ��
����� f �� ������� ����
%���
� �
 ����
� 	 
���	


Htf = dt,


��
� Ht =
[
H1

H2

]
' dt =

[
d1

d2

]
�

)� ���� �1� �
�" Ht �� ��	  	���� 5 × 5 �� �����
	�" 
	 �	��1	 ��������=
�	
 ����
�	��� �� F (z) = 1

80

(
9 + 18z−1 + 14z−2 + 2z−3 − 3z−4

)
" ' 
	 ��������	

�
��	
 %���� 
	
	 ��� G(z) = 1
80

(−9 + 49z−2 + 80z−3 + 49z−4 − 9z−6
)
" 2��

�� �� !
��� 
� #	�� 
���	
 ���� � ' +'2����:4;�
)��� �1� �
� �
����	 �
 �����
� ����� �����	
 	 ������ ��	�
� �
 !
��� 
�

�	���
	H(z) �� ����� #	�� 
���	
� ��� � �	���" �� H(z) ����� #	�� 
���	
" 	
���	�

� 
	� ���
������� ���%�	� ����
�	� ��
��
	���� ' ���
�� ��� �
� ��	
	�� �	�	

�������� �
 �����
� ����� 
� 
����� �� ���� �	��" �� � ����	��� �����
��	� 
	
��������� ������������

/�
� )�# @��� ��� �� �
����� G(z) = H(z)F (z) ��� �� 2
�� � � (��� �
�����
H(z) � F (z) ��%�� ���  ����� ��� �� (��� �
���� ��� �
��� �
�� ���%�� �
�� ��
��� ��� � �>��

������
� �������� ���� 
� 	" ��'	 
� ����	���� �� ���%�	
 ' �� �� ���
�'�
	2��" 
	 �������	
 
�#������	 ��� �������� 	
 �����
� ����� �����	
 �	
��	 �� 2��
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	0��	 ��
� �� �����	��� � ����� 	 
	 ��
����� G(z) 
	 ���
����� +'2����:M;"
�	
 ' �� �  �����	 �
 ��������� �1� �
�� )� 9
 �� �����
��	 �
 !
��� :
� ���� �;
H(z) = −1+2z−1+3z−2 +2z−3−z−4 ' �� ����� �������M = 2� �� 	����
�
��� �
 	������� �	���	 �����" F (z) �	 ��9� 
��� ��� �� !
��� ���� � ��� L
���!������� :�
 �� ��� 
� ��������	� �� ��
��� 	 (L + 1)/2;� ��� ���� 
	
�" �

�� ��� 
� ���
������� � �����	� ��� 
	 ������
	
 +'2����:4; ��

⌊
L+P−2

2M

⌋
+1"

��� 
� 2�� �
  ��� � %	
�� 
� L 2�� ����������	 �� ����� 	 
���� ��	
� ��
L = 2� ⎡

⎢⎢⎢⎢⎢⎢⎢⎢⎣

−1 0 0
2 −1 0
3 2 −1
2 3 2
−1 2 3
0 −1 2
0 0 −1

⎤
⎥⎥⎥⎥⎥⎥⎥⎥⎦

⎡
⎣f [0]
f [1]
f [2]

⎤
⎦ =

⎡
⎢⎢⎢⎢⎢⎢⎢⎢⎣

g[0]
g[1]
g[2]
g[3]
g[4]
g[5]
g[6]

⎤
⎥⎥⎥⎥⎥⎥⎥⎥⎦

.

8	� ������������� +'2����:4; ���" �� ���� �	��" g[3] = 1 ' g[5] = 0"

[
2 3 2
0 −1 2

]⎡⎣f [0]
f [1]
f [2]

⎤
⎦ =

[
1
0

]
;

' 
	 �� ����	 
� ���� � #����	 f [0] = f [2]" ��� 
� 2�� �
 ����� 	 	 ����
%�� ��[
3 4
−1 2

] [
f [1]
f [2]

]
=
[
1
0

]
.

8	 �	��1	 ���������	
 ����
�	��� ��

F (z) =
1
10
(
1 + 2z−1 + z−2

)
,

' 
	 ��������	 �
��	
 
�
 ����� 	 %���� 
	
	 ���

G(z) =
1
10
(−1 + 6z−2 + 10z−3 + 6z−4 − z−6

)
.

$�(��� ���
6�
 2�����"����

 

	��
.����
 ��
���!�


8	 ��������	 ���1���	" G(z)" 
� 
	 �	��1	 ���������	
 ������
	  �
�	��� 
	
�9����	 
������	 �� �
 	������� 	�	��	
� �� ����� �����	��	 ���� �� �������� ��=
����%�� ��� �1� �
�" �
 �������� 
� G(z)z3 = 1

10

(−z3 + 6z + 10 + 6z−1 − z−3
)

�� �� ������%� �	�	 ��
� ω ∈ [0, π]� ��� 
� �	���" �� �	��
� ��� �
 �����=
 	 
� 791��=,���� P,����LLQ 2�� �� �� �����
� ������� �� �	� 
� #	������ ��=
�����	
�� 	
	��	
�� G(z) = R(z)R(1/z)� �	�	 	
�	��	� ���� ��1���%� 
���=
 �� � ����� 
	 ����������� 	
�����	
 G

(
ejω
) ≥ 0 �	�	 ��
� ω ∈ [0, π]" 2��
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� ���� �� �� ��� ��!���� 
� ���
������� �� g[n]� �� � 	
����	��%	" ���
�
���
��	��� �� 
� 	 2�� ��� ��� �	�	������	� 
	�  	������ �� �
�!��
	� ����=
��%	� P��
�����J6Q �	�	 ��	��#�� 	� ���	� ������������� �� ��	 ����������� 
�=
��	
 �� 
	 2�� �����%����� 
�� �
� ����� 
� ��	  	���� �� �
�!��
	 ������%	
P�	%�
���5H" �	%�
���54Q� )� �	�����
	�" ��	 %������ 
�
 
� 	 
������	 �� ��=
��� ��	�	1�� ���	�
��� 2�� g[−(L + P − 2)/2], . . . , g[0], . . . , g[(L + P − 2)/2]
����� �������� ������%� �� ' ��
� �� �3���� ��	  	���� X �� �
�!��
	 ������%	 
�

� ������ (L + P − 2)/2× (L + P − 2)/2 �	
 2��

L+P
2 −n∑
i=1

xi,i+n = g[n], n = 0, . . . ,
L + P

2
− 1; :M�HO;


��
� xi,j 
����	 �
 �
� ���� �� 
	 !
	 i ' ��
� �	 j 
� 
	  	���� X�
8	 ���	���� :M�HO; ���
� ��� ��������	 �� �9� ���� 
� 
	 :
��������
	; �	��1	

���������	
 f [n]" 
� 2�� ��� ��� ��#�� �
	� �
 ����
� 	 
� 
	 ���������  	���	�

	
� h[n] 
� 
������
 P ' �� #	���� 
� ����� ������� M " �������	� f [n] 
�

������
 L ��1��� 	 
	� ���������� ������������� 
���	
���

	:
Htf = dt, :M�HK;

2�� #����	 
	 ���
����� +'2����:�; ' 
	 ������
	
 
� #	�� 
���	
@

		:

L+P
2 −n∑
i=1

xi,i+n =
L−1∑
k=0

f [k]h[n− k], n = 0, . . . ,
L + P

2
− 1; :M�45;
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� ��� �� �
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	 �
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� ��	 �	��1	 ���������	
 �� �
�!��
	
������%	 ���� �� � �� ���1���� 
� ������������� 
���	
�� 
	
	� ��� :M�HK; '
:M�45;" ' ��	 ����������� 
	
	 ��� 
	 
�����	

	
 
���	
  	�����	
 �� :M�4H;� ���
�	���" ��� ��#����	 �� 	 �� ����
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� �����	 	���� �� �
�!��
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2�� ���
� ��� �����
�� �!������ ���� ���
��	�
�  9��
�� 
� ����� ���������
,���
%���
� ���� ����
� 	 ��� �� �����
��" � ���� ��	 �	��1	 ��������=

�	
 f [n] 2�� ���
��� :	
 ���%�
�����	�
� ��� h[n]; ��	 #������ 	��������
	����
	�����	
	" � ���� �� �����!�	
� 
� 2�� �� �3���� ��
����� 2�� �� �
	 
	� ���=
����������� )� ���� �
�� � �	��" �� ���
� ����� ���	� 
	 
������
 
� f [n] 	
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L′ = L + 2 ' ������� �
 �����
� ����� 0	��	 2�� �� ������	 �� ����
�	
� 	���=
��	
�"  � ���� �� �
 ��	
 �� ��
�� 
������� 
� ��	 �	��1	 
� !
���� 	
	��	
��
 �
�	��� #	������	���� �������	
 
� g[n] = r[n]∗r[−n]� )� �
 ��������� 	�	��	
�
�� �������	�" 	 ����
� 
� �1� �
�" 
�� 	�
��	������ 2�� �
����	� �
 �����
� �����
�� �
��� ' �� 	�
��	���� �������	�

$�(��� �6
	���
 �
 ��

*�

)�+�*�#� �	���
� ���	��

)� �
 ��	��	
� M�6 �� 0	 ��������� �� ����� 	 
� �� ����	������ 
����	
��
2�� ���
��	 !
���� ���#�� 	
���� �	�	
�� �� ��
����� ���0� ��2�� 	 ���� 
����

� ���" 	
�	��	 �
 ���
� ����� ���� � �� �9� ���� 
� ?), :���� ���� 	
	�=
�	
�;" ����� ����	� �	�	���������	� �������	
�� ' �� � �
� ���	���� ��  �'
�� �
�" �	��� 
��
� �� ����� 
� %���	 0	�
D	�� �� � ��#�D	��� ��� � �	���"
����	 ���� �� �����
��	 �
 �	�� M = 1@ �� 
����" �
 �������� ��	�	1	 	 ��	
#��������	 
�  ������� 
� ��	  �����	 ��� �� ��
�� )� ���	� ���
�������" �

!
��� ��	�� ���� 
� �	���
	" H(z)" �� �
 !
��� ?=��
���" ��'	 �	��1	 ���������	

�� �� !
��� ��, 2�� 
��� ��� �����	
�� )
 �����
� ����� 
������� �� �
 	�	��	
�
2�� ��� ����	 ��� ��� �����
��	� �
 �	�� �� �
 2�� M > 1" ������
��	�
� ��	
� �
� ���	���� ��� ���" 	
	��	
	 ' 2�� ���
��	 ����	 ���� !
���� 7�,�
�� �����
��	 �
 �1� �
� �� �
 2�� H(z) �� �
 ���
�� ��
��� ������ ����� ���=

���	
� ��� �� #	���� M = 2�

H(z) =
1
48
(
1 + 8z−1 + 23z−2 + 32z−3 + 23z−4 + 8z−5 + z−6

)
;

�� 
����" �� ��	�	 
� �� !
��� ���� � 
� #	�� 
���	
 ' 
������
 P = 7� $��
��	�
�
�
 �����
� ����� 
������� �� ���	 �������" �� �����
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 �� �
�!��
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�����	� ���� ����
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� �����	 	����
�� �
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	 �� ���
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� ��
� � P���� KOQ
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	 ��������� ��
����� �	=
�	 L = 5� F (z) = 1

6

(
1− 8z−1 + 20z−2 − 8z−3 + z−4

)
� 8	 ��������	 �
��	
 ��

G(z) = 1
288

(
1− 21z−2 + 164z−4 + 288z−5 + 164z−6 − 21z−8 + z−10

)
" 2�� ��

�� !
��� +'2����:4; ��� ��������	 #��������	
 ������%	� )� �������	��� 0	��� ��=
�	� 2��" �� ���� �1� �
�" �
 
����� �� �����	 ��� �� !
��� 
� 
������
 L = 5
:2�� �� 
	  ��� 	 
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 2�� ����������	 �� !
��� ���� � 
� #	�� 
���	
 '
+'2����:4;;" 	
�	����
��� 
	 ��
����� �� 
	 ��� ��	 ����	����" 
� ��	
 �����!�	
2��" �� ���� �	��" �
 !
��� g[n] +'2����:4; 
� #	�� 
���	
  �� ����� '	 �����
�������� ������%��
7��	
 ����" 
�� !
���� ��	�� ������ ' ���������� �� �������� �� � #	������

�������	
�� 
�
 ���� G(z) = R(z)R(1/z)� �	�	 �

� �� ���
��	 �� 	
����� � 
�
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��� ���#�� 	
�� ���=?� �	�	
�
�� �
 !
��� ?=��
��� #����� 	 �� !
��� �-,� 
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	  �� 	 
������
� ����� �������
M = 2�

#	������	���� �������	
 
������� �� P��	�O4Q 2�� �� ���	 �
 ������� �� �
�1�

� g[n] ' 
	 �7� ��%���	 
� ln (G(2πk/N���)) ��	�
� 
	 #	�� 
�������

	
	 '
�����
��	�
� 77�W� 
� 
������
 N��� = 214� ��
��	�
� ���� 	
����� �" �
 !
���
��	�� ���� ����
�	��� �� R(z) = 0,4623+0,8369z−1 +0,2584z−2− 0,1373z−3−
0,0136z−4 + 0,0075z−5"  �����	� 2�� �
 !
��� �������� �� 	 
	 #�� 	 R(1/z)�
��� !��� �� �	�	��%��" �� 0	 
����	
� ��� �	�
	�� �� !
��� �	�� ��	
�	
	


� ������ 	
�	
� :�-,�� 1����� ���� ��
���
���
��; 
� L ���!�������" #	����

� ����� ������� M = 2 ' �3���� 
� 	��0� 
� �	�
	 r = 0,25� )
 !
���
����
�	��� �� R����(z) = −0,0454 + 0,4397z−1 + 0,7554z−2 + 0,4397z−3 −
0,0454z−4 ' �� ��������	 �� #��������	 �� ���������	 �� 
	 7����	 M�HJ 1����
��� 
	 
�
 !
��� ��������� R(z)�
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��������� ��� 
� ����" 
�!��
	 �� � P�
	�0	55" ������54Q

P��� =

∑
n�=0 |g[nM ]|
|g[0]| ,
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�" ���
��	�
� �	�
	�
�� �����
� 
����	� �� !
��� �-,� 
� P = 19 ���!�������" �3���� 
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�" ��� 
� 2�� 	 ��� ��� E����
� %�
�
�� �	�	 
	 #�� �
	���� 
�
 ����
� 	
 �
�	��� �<�W��
$�	 
���	 #����	 
� �����9�" ��� �	���" �������� �� 
	 #�� �
	���� 
� 
��  �=


�
�� α=��
��� ���������� �� ���	 ����� 
����� 
�
  	��� 
� 
	� �<�W�� �� ���	
 	���	" ���� �����
� ������� �<�W� 2��" ��� �1� �
�" ��	��������� 
�  	���	
��	%� �����  �
�
�� 
���	
�� 	 ��	 �� '  �
�
�� ��
��� ����@ ��
�����	�
� 	

	 %�� �
 ����
� 	 
� 
	 ��
������ 
� 
�� �������
�� � ��
�� 
�
  �
�
��



�������� �

#��
�� �� ��
���� "������	����
�� $����	��

���� 7	���� �� )���� ��
 ��������
 '�����
�	
�
�(�	�
��
�� ��




)� ���� 	�9�
��� �� 
� �����	 
	 �2��%	
����	 ����� �
 !
��� �������
	�����

� 8	��	��� ' �
 ������
�  �
�	��� 
	 �9����	 
� 
����� �	�	
	 �� �
 ��������

� ��������	 #��������	
  �3� 	 ���� �
	�	 P*��E��JKQ� �� ���
� �����
��	�
:I�45;

y[n] = xi[n−D] =
N∑

k=0

hL[k]x[n− k]

�� � ��	 �3������� �����	
 �	�	 
	 ��������� 
�
 %	
�� 
� ��	 ��������	 x[n]
�� �� ����	��� n − D 	 �	���� 
�
 ���1���� 
�  �����	� ����	
	� �� ����� 	

��0� ����	��� ' ���
��	�
� N + 1 ���!��������
)
 ����� �� ���
� ����� 
	 ���	
 	�� �������
	
	 ' �
 %	
�� ��	
 ���������=


����� 	 
	 ���	
 �������	 x(t) 
����
��� 
� 
	 
�#������	 ����� �
 !
��� �
�	

:I�HO;" h	���
[n]" ' �
 !
��� ���
��	
�" h[n]� )� �����
� �3����	� 
��0� ����� �� �


� ���� #��������	
 �� �

He

(
ejω
)

= e−jωD −
N∑

n=0

h[n]e−jωn. :��H;

�� �� ���	 ��� #���	� ���	 #������ 
� ����� 	 �� ����	��� 
� #�� 	  �3� 	=
 ���� �
	�	 �� ����� 	 ��	 �����	 #��������	" ω0" �������� 
	 �������
	���� ����
�3	��	 �� 
��0	 #��������	 '" �	���� �	���	�
� ����	�"  �' ���3� 	 	
 �
�	
 ��

45J



45O ��9�
��� �� 7�
��� 
� ���	�
� #�	�����	��� 
� 8	��	���

�� ������� #��������	
  �� �  ���� 	 �
��� )��� �����!�	 2�� 
	� 
���%	
	� 
�
:��H; 
���� 	��
	��� �� 
��0� �����" �� 
����"

H(k)
e

(
ejω0

)
=

∂kHe

(
ejω
)

∂ωk

∣∣∣∣∣
ω=ω0

= 0, k = 0, 1, . . . , N. :��4;

V��� �� �
 ������
� �� � �������� 
� ��������	 #��������	
  �3� 	 ����
�
	�	" '	 2�� �
 !
��� ������
� �������	�� ��	 �	�
	 
� �	��  �3� 	 ����
�
	�	 �� ����� 	 ω = ω0 ' ��	 �	�
	 ��	%� #���	 
� �

	 :!
���� 
� ���� ?�����=
D���0;� �������'��
� :��H; �� :��4;" 
���%	�
� ' �	�����
	���	�
� �	�	 ω0 = 0
�� �������

Dk =
N∑

n=0

h[n]nk, k = 0, 1, . . . , N ;

�� 
����" N ���	������ ��� N ��������	� :
�� N ���!������� 
�
 !
��� h[n]; 2��
�� ���
�� �3����	� �� #�� 	  	�����	
 �� �

Vh = v,


��
� �
 %����� v �� 	 
�� %	
���� v = [1, D, D2, . . . , DN ]T " h �� �
 %����� 
�
���!������� 
�
 !
��� ' V �� ��	  	���� 
� <	�
�� ��
� N ×N '" ��� �	���"
�� �����
	� � ��%�����
�@ ��� 
� 2�� �
 ����� 	 ���
�� ��
����� ' 9��	 ���� ����	"
' 
� %	
�� PR������E��KMQ

h[n] = (−1)N−n

(
D

n

)(
D − n− 1

N − n

)
.

�� � �� ���
� �����%	�" ���� ����
�	
� �� �
9����� 	 :I�4H;" ��� 
� 2��
�� ���
� 	!� 	� 2�� �
 !
��� 
� ���	�
� #�	�����	��� 
� 8	��	��� ����� ��	
��������	  �3� 	 ���� �
	�	 	
��
�
�� 
� ω = 0�



�������� �

%��� �� 
���& α�����	�

)� ���� 	�9�
��� �� 
� �����	 2�� �
 ���1���� 
� �	��� α=��
��� #�� 	�
��	 �	�� 
� ,����" ��� ���	�

A =
(

2
π

)2(p+1) [
sinc

(α

2

)]2q

,

B = 1 +
22(p+1)

(
22(p+1) − 1

)
(2(p + 1))!

Bp+1.

.��� ,��
� 8	��� �� �
 %
�� α+���	
�

�	
	 
	 
�!������ 
� �	�� 
� ,���� :��!������ 4�HL; ' 
	 �3������� 
� 
	
��	��#�� 	
	 
� 7������ 
� 
	 �	�� α=��
��� :6�I;" �� ����	 ��	 ���	 �������� �
��#����� 
� 
	 #������

S(Ω) =
∑
k∈Z

[
sinc

(
Ω
2π
− k

)]2(p+1) [
sinc

(
αΩ
2π
− αk

)]2q

. :?�H;

�� � �����
��	���� ���%�	" �� ��%�� 2�� ���	 #������ �� �����
��	 
� �����
�
2π" �� 
����" S(Ω) = S(Ω + 2kπ)" ��� 
� 2�� �� �����
� ���������� �
 ����
�� 
�

	� ���	� 	
 �����%	
� [−π, π]�
,������� 	 
	 ���	 ��#�����" ��
�� 
�� �9� ���� 
� :?�H; ��� ������%��" ���


� 2�� �
 �� 	����� ��� ��� ����  	'�� � ���	
 	 �	
	 ��� 
� ��� �9� ����� )�
�������� �� �� �
�

S(Ω) ≥
[
sinc

(
Ω
2π

)]2(p+1) [
sinc

(
αΩ
2π

)]2q

≥
[
sinc

(
1
2

)]2(p+1) [
sinc

(α

2

)]2q

=
(

2
π

)2(p+1) [
sinc

(α

2

)]2q

,

45K



4H5 ��9�
��� ?� ?	�� 
� ,���� α=��
���


��
� �� 0	 ����
� �� �����	 �
 �� 	�
� ���������
����� 	 k = 0 ' �
 0��0�

� 2�� �� [−π, π] 
	� #�������� sinc2(Ω/2π) ' sinc2(αΩ/2π) ����� 	���	
	�
��#����� ���� ��� �
 %	
�� �� Ω = π�
�	�	 
	 ��������� 
� ��	 ���	 �������� �� ����� �� �����	 �
 0��0� 
� 2�� 
	

#������ sinc2(Ω) ≤ 1" 
� 2�� �� ���
��	 �	�	 	���	� 
	 #������ sinc2(αΩ/2π−αk)

� :?�H;" ����
�	�
�

S(Ω) ≤
∑
k∈Z

[
sinc

(
Ω
2π
− k

)]2(p+1)

≤
∑
k<0

[
sinc

(−1
2
− k

)]2(p+1)

+ 1 +
∑
k>0

[
sinc

(
1
2
− k

)]2(p+1)

= 1 +
22(p+1)

(
22(p+1) − 1

)
(2(p + 1))!

Bp+1,

������ 2�� �� �� �
�

sinc2

(
Ω
2π
− k

)
≤ sinc2

(−1
2
− k

)
, ∀ k < 0, Ω ∈ [−π, π];

sinc2

(
Ω
2π

)
≤ sinc2(0) = 1, ∀ Ω ∈ [−π, π];

sinc2

(
Ω
2π
− k

)
≤ sinc2

(
1
2
− k

)
, ∀ k > 0, Ω ∈ [−π, π];

'

∑
k>0

[
sinc

(
1
2
− k

)]2(p+1)

=
(

2
π

)2(p+1)∑
k>0

(1 − 2k)−2(p+1)

=
22p+1

(
22(p+1) − 1

)
(2p + 2)!

Bp+1,


��
� �
 %	
�� 
� 
	 ����� ' 
�
 n=9�� � �� ��� 
� ?�����

�" Bn" �� ��������	�
��������%	 ���� �� P������
J5" �����	� H5K ' HHLQ�



�������� �

'����	&� � ���(���� �� ��
�	
���������	 α�����	�

)� ���� 	�9�
��� �� �������� 
	� �3��������� 
� 
	 %	��	��	 ' �
 ���	 ����
�	


� 
	 �������
	���� α=��
��� 
� 
�%����� ����� 
� ���	
��" �	��� 
���� �����	�
�� � 	
�	����	�� ���%�	 ����" �� �������	 ��	 ����� 
� �3��������� 	����	
	�
	
 !
��� 
������ α=��
��� �����	��	� �	�	 ��	
��	� ����������� ��
��
���

,��� ����������
�	�
�� ��� )���� �	����� α+���	
�

�	
	 
	 �3������� �������	
	 �� :6�4O; 
�
 !
��� 
������ α=��
����

dα[n] =
(1− z1)
(z1 + 1)

z
|n|
1 ,

�� 	��������
	���� 
���� �����	" 2�� 
����	�� �� �� � ρα[n]" �� ������� �� �

ρα[n] = dα[n] ∗ dα[−n] = dα[n] ∗ dα[n],

����
� �� %	
��

ρα[n] =
(1 − z1)z

|n|
1 (|n|+ 1 + (1 − |n|)z2

1)
(z1 + 1)3

. :��H;

���  �� �" ����
�	 
� �����9� �������	� 
	 
�#������	 �����
	 
�
 !
��� 
�=
����� α=��
��� d

(2)
α "

d(2)
α [n] = dα[n] ∗ (δ[n + 1]− 2δ[n] + δ[n− 1]) =

⎧⎪⎪⎨
⎪⎪⎩
− (z1 − 1)3

(z1 + 1)
z
|n|−1
1 , n �= 0;

−2(z1 − 1)2

(z1 + 1)
, n = 0;

4HH



4H4 ��9�
��� �� <	��	��	 ' ��	%�
	
 
� �������
	���� α=��
���

' �� 	��������
	���� 
���� �����	" ρ(2)
α " 
	
	 ��� 
	 �3�������

ρ(2)
α [n] = d(2)

α [n] ∗ d(2)
α [−n] = d(2)

α [n] ∗ d(2)
α [n], :��4	;

����
� 	
���� 
� ��� %	
���� 
�� ����������

ρ(2)
α [0] =

∞∑
n=−∞

(d(2)
α [n])2 =

2(z1 + 3)(z1 − 1)4

(z1 + 1)3
, :��4�;

ρ(2)
α [1] = ρ(2)

α [−1] =
∞∑

n=−∞
d(2)

α [n]d(2)
α [1− n] =

2(z1 + 2)(z1 − 1)5

(z1 + 1)3
. :��4�;

,��� 0
�	

�
 �� �
 	
������
�	�
 α+���	
� �� ��+
�
��� ������	
	��
� ���	��	�
�

�� �����
��	 
	 �������
	���� 
� N  �����	� �������������� 	 M �����
��

� ��	 ���	
 �����
	
" x[n]" 
� #��������	 
������	 ω0 = 2π/T0 = 2πM/N �

x[n] = A sin (ω0n + Φ0) = A sin
(

2π
M

N
n + Φ0

)
,

��� 0 ≤M ≤ N − 1 ' 0 ≤ ω0 ≤ 2π�
8	 �������
	���� α=��
��� 
� ���	 ��������	 ����������	 ��	 ���	
 �������	

sα(t) ��'	 �������	 :2�� �2��%	
� 	 
	 %	��	��	" ���� �����  �
�	 ��
	; ��
���
� �	
��
	�" �����
	�
� :6�4I;" �� �

<	� (sα(t)) =
1

MT0

∫
MT0

(sα(t))2 dt =
1
N

∫
N

(
N∑

n=1

c[n]βα (t− n)

)2

dt.

�	
� 2�� �� �
 �����%	
� [n, n + 1] ��
	 ���� �� 	� %	
���� �� ��
�� 
	�
�	��� βα (t− n + 1)" βα (t− n)" βα (t− n− 1) ' βα (t− n− 2)" ��������

<	� (sα(t)) =
1
N

N∑
n=1

∫ n+1

n

(c[n− 1]βα (t− n + 1) + c[n]βα (t− n)

+c[n + 1]βα (t− n− 1) + c[n + 2]βα (t− n− 2))2 dt.

��������
� ���
������� 
� �������� �����
��	�" �� 
����" c[n] = c[n + kN ]"



��4 <	��	��	 
� ���	
�� 
���� �����	� �����
��	� 4HI

�� �������	 �� ���
� �������� �� �

<	� (sα(t)) =
1
N

N∑
n=1

c2[n]
∫ ∞

−∞
(βα (t))2 dt

+
2
N

N∑
n=1

c[n]c[n + 1]
∫ ∞

−∞
βα (t)βα (t− 1) dt

+
2
N

N∑
n=1

c[n]c[n + 2]
∫ ∞

−∞
βα (t)βα (t− 2) dt

+
2
N

N∑
n=1

c[n]c[n + 3]
∫ ∞

−∞
βα (t)βα (t− 3) dt.

:��I;

�
 �����
��	� ��	 �������
� �����
��	" ��� ���!������� α=��
��� �� ���
��
�	
��
	� �� �

c[n] = f [n] · Dα(z)|z=ejω0 = A sin (ω0n + Φ0)
3

3 + α(cos ω0 − 1)
,

��� 
� 2�� 
�� �� 	������ 
� :��I; �� 	� �
 %	
��

N∑
n=1

c[n]c[n + k] =
9A2

[3 + α(cos ω0 − 1)]2

N∑
n=1

sin (ω0n + φ0) sin (ω0(n + k) + φ0)

=
A2

2
9N

[3 + α(cos ω0 − 1)]2
cos (ω0k).

7��	
 ����" 
	 %	��	��	 
� 
	 �������
	���� α=��
��� 
� N  �����	� ������=
���
������ 	M �����
�� 
� ��	 ��������	 �����
	
 
� 	 �
���
 A ' #��������	
ω0 ����
�	

<	� (sα(t)) =
A2

2
9 (I0 + 2 cos (ω0)I1 + 2 cos (2ω0)I2 + 2 cos (3ω0)I3)

[3 + α(cos ω0 − 1)]2
, :��6;


��
� 
	 ������	
��

In =
∫ ∞

−∞
βα (t)βα (t− n) dt, :��L;



4H6 ��9�
��� �� <	��	��	 ' ��	%�
	
 
� �������
	���� α=��
���

��� ��
��� ��� 
�
 �	�� ���� 
� ��	%�
	
 α

I0 =

{
31α3−70α2+140

210 ,
−35α7+238α6−672α5+980α4−280α3+84α2−14α+1

630α4 ,

0 ≤ α ≤ 1
2 ;

1
2 ≤ α ≤ 1;

I1 =

{
−62α3+105α2+105

630 ,
400α7−2296α6+4704α5−3080α4+1960α3−588α2+98α−7

5040α4 ,

0 ≤ α ≤ 1
2 ;

1
2 ≤ α ≤ 1;

I2 =

{
31α3

1260 ,
−97α7+448α6−672α5+560α4−280α3+84α2−14α+1

1260α4 ,

0 ≤ α ≤ 1
2 ;

1
2 ≤ α ≤ 1;

I3 =

{
0,
(2α−1)7

5040α4 ,

0 ≤ α ≤ 1
2 ;

1
2 ≤ α ≤ 1;

��
�	��� :��6; �� �����
� �	
��
	� 
	 %	��	��	 
� 
	 �������
	���� α=��
���

� ��	 ��������	 �����
	
 
� 	 �
���
 ���
	
 �� #������ 
� �� #��������	" ω"
' 
�
 �	�� ���� 
� ��	%�
	
" α" �� �

<	� (α, ω) =
9 (I0 + 2 cos (ω)I1 + 2 cos (2ω)I2 + 2 cos (3ω)I3)

[3 + α(cosω − 1)]2

' 
�� %	
���� 
� 
	� ������	
�� 
� :��L;�

)%	
�	�
� 
	 	������� �3�������" �� �� �����	 2�� 
	 %	��	��	 
� �������=

	���� α=��
��� �����  ������	 ���� ���#�� � 	� ���	 �
 %	
�� 
�
 �	�� �=
��� α �	�	 ��	
2���� %	
�� 
� 
	 #��������	 ω" �3����� �� ��	 ��2���	 ������
:0,7 < α < 1 ' ω > 0,9π ���������	
	 �� 
	 7����	 6�H4;" 
��
� 
	 %	��	��	
�� �������	 ���� �����	���� )� 
	 �������	" ��	�
� 
	 ���	
 	 �������
	� ����
#�� 	
	 ���  �
���
�� �� �������� #��������	
��" 
	 %	��	��	 
� 
	 �������
	=
���� ������� ���#�� � ����� �
 �	�� ���� α� )� ���� �	��" �� �����
� �%	
�	�

	 %	��	��	 
� 
	 �������
	���� α=��
��� � ��
��
 :�� 
����" 	���� 
� ��	
��	� 
	
�������
	����;" 	 �	���� 
� 
	 �7�" X [k]" 
� 
	�  �����	� 	 �������
	�" x[n]"
���
��	�
� 
	 �3�������

<	� (sα(t)) =
1

N2

N−1∑
k=1

|X [k]|2<	� (α, ω = 2πk/N) ,

�� 
	 2�� �� �� ���
�'� �
 �9� ��� 
� �������	 
� 
	 ���	
 :k = 0 �� 
	 �7�;
���� �� ��������'� 	 
	 %	��	��	 
� 
	 �������
	����" '	 2�� 
	 �������
	����
α=��
��� �� �	�	� 
� ��������	� �3	��	 ���� 
��0	 ���	
 �����	���" 
	 ��	
 �����
��	 %	��	��	 ��
	�
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�� 	
�	����	� 4HL

,��� 0
�	

�
 �� �
 	
������
�	�
 α+���	
� �� ��+
�
��� 
��
���	
�

�	�	 �
 ��
��
� 
� 
	 %	��	��	 
� 
	 �������
	���� α=��
���" <	� (Sα)" ��
�����
� 
� #�� 	 �� �
	� 	
 ��	��	
� 6�M�I" ��������
� ���%�	 ���� 
	 	���=
�����
	���� 
�
 ������� ����������� �������
	
�

RSα(τ) =
∞∑

n=−∞
RC[n]

∫ ∞

−∞
βα (t− n + τ)βα (t) dt.

8	 %	��	��	  �
�	 
� 
	 �������
	���� α=��
��� �� ������� �	�����
	���	�
�

	 	������� �3������� �� τ = 0

<	� (Sα) =
∞∑

n=−∞
RC[n]

∫ ∞

−∞
βα (t− n)βα (t) dt.

������
� �� �����	 �
 ������� �� �	��� 
� 
	� #�������� �	�� α=��
���" 
	�
������	
�� 2�� �����%�����" ��'� %	
�� %���� 
	
� ��� :��L;" ��� ��
	� �	�	
|n| > 3

<	� (Sα) = RC[0]I0 + (RC[1] + RC[−1]) I1

+ (RC[2] + RC[−2]) I2 + (RC[3] + RC[−3]) I3,

'" 
	
� 2�� 
	 	��������
	���� RC[n] �� �� 9����	 :�� ���� ��������
� ��������
������������ ��	
��;" �������� 
	 �3�������

<	� (Sα) = RC[0]I0 + 2RC[1]I1 + 2RC[2]I2 + 2RC[3]I3, :��M;

��� ��� ������� �
 %	
�� 
� 
	 %	��	��	 
� 
	 �������
	���� α=��
��� �%	
�	�
�

	� ������	
�� :��L; ' ��������
� 
	 	��������
	���� 
�
 ������� 
� ����	
	"
���� RC[n] �� �	
��
	  �
�	���

RC[n] = RX[n] ∗ ρα[n], :��J;


��
� 
�� %	
���� 
� ρα[n] %����� 
	
�� ��� :��H;�
)� �
 
� ���� #��������	
" 
	 %	��	��	 
� 
	 �������
	���� �� ���
� �	
��
	�

�� #������ 
� 
	 
����
	
 �������	
 
� �������	" SX(ω)" 
�
 ������� 
� ����	
	
' 
� 
	 ��������	 �� #��������	 
� 
	 �������
	���� α=��
��� :6�IJ;

<	� (Sα) =
1
2π

∫ +∞

−∞
SSα(Ω)dΩ =

1
2π

∫ +∞

−∞
SX(Ω) |Hα(Ω)|2 dΩ

=
1
2π

∫ +∞

−∞
SX(Ω)

9 sinc4(Ω/2π) sinc4(αΩ/2π)
[3 + α(cosΩ− 1)]2

dΩ,

	��2�� �%	
�	� ���	 ������	
 ����
�	 �� �
��	
� �� 
	  	'���	 
� 
�� �	����
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� �������
	���� α=��
���

+����� 8�����'� �
 �� ���
��������� α&
����
 �
 

*��


2�����


�� �
 ������� X[n] �� �
	��� 
�  �
�	 ��
	" �������� 
	 	��������
	����

� 
�� ���!������� α=��
��� �� RC[n] = σ2

Xρ[n]" ��� 
� 2�� 
	 %	��	��	 
� 
	
�������
	����" 0	����
� ��� 
� :��M; ' :��H;" ����
�	

<	� (Sα) = σ2
X

(1− z1)
(z1 + 1)3

[
(1 + z2

1)I0 + 4z1I1 + 2z2
1(3 − z2

1)I2 + 4z3
1(2− z2

1)I3

]
.

���	���

	�
� ���	 �3������� �� ��������

�� 0 ≤ α ≤ 1
2 " ��������

<	� (Sα) = −2σ2
X

35z5
1 + 488z4

1 + 1079z3
1 + 595z2

1 + 70z1 − 35
105(z1 − 1)2(z1 + 1)3

. :��O	;

�� 1
2 ≤ α ≤ 1" ��������

<	� (Sα) =
−σ2

X

1632960z4
1(z1 − 1)2(z1 + 1)3

[
z16
1 + 71z15

1 + 2175z14
1

+ 37387z13
1 + 391727z12

1 + 2530731z11
1 + 9591043z10

1

+ 19088975z9
1 + 21519117z8

1 + 15050501z7
1 + 4966381z6

1

−1908879z5
1 − 1772155z4

1 − 68663z3
1 − 4143z2

1 − 139z1 − 2
]
.

:��O�;

)� 
	 7����	 ��H �� �����%	 
	 
����
����	 
� 
	 %	��	��	 
� 
	 �������
	����
α=��
��� 
� ���	
�� 	
�	����	� �
	��	� ��� �
 �	�� ���� α� ?��� ��	 	 �	���� 
�

��0	� ���!�	�" � 
� 
	� �3��������� 	���������" �� �� �����	 2��

d<	� (Sα)
dz1

≤ 0, ∀z1 ∈ [−2 +
√

3, 0],

��� 
� 2��
d<	� (Sα)

dα
≥ 0, ∀α ∈ [0, 1].

)� 
����" 
	 %	��	��	 
� 
	 �������
	���� α=��
��� 
� �� ������� �����������
�
	��� �����  ������	 ���� ���#�� � �� ����� ���	 �
 �	�� ���� α�

+����� 8�����'� �
 �� ���
��������� α&
����
 �
 

*��


��
������
 

������



�� �
 ������� ����������� 	 �������
	� �� �����
	
 
� #��������	 ω0" �� 	���=
�����
	���� �� ���
� �������� �� �

RX[n] = σ2
X cos (ω0n), ∀n ∈ Z, 0 ≤ ω0 ≤ π,



��6 &��	 ����
�	
 
� ���	
�� 
���� �����	� �����
��	� 4HJ
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V
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 / 
dα

.	���� ��#� <	��	��	 
� 
	 �������
	���� α=��
��� 
� ���	
�� �
	��	� :��2����=

	; ' �� 
���%	
	 �������� 	 α :
����0	;�

'" �����
��	�
� :��J; ' :6�IM;" 
	 
� 
�� ���!������� α=��
��� �� �

RC[n] = σ2
X cos(ω0n) |Hdα(ω)|2 ,

��� 
� 2�� 
	 %	��	��	  �
�	 
� 
	 �������
	����" 
	
	 ��� :��M;" �� 	 �
 %	
��

<	� (Sα) = σ2
X

9 (I0 + 2 cos (ω0)I1 + 2 cos (2ω0)I2 + 2 cos (3ω0)I3)
[3 + α(cos ω0 − 1)]2

.

�� ���%�" ���	 �3������� �� �2��%	
���� 	 
	 ���������
����� 	 
	 %	��	��	

� ���	
�� 
���� �����	� �����
	
��" ��� 
� 2�� �� �� ����	 ����� �������� 	

�	�� ���� α ����
�	 �
9�����" �� 
����" 
	 %	��	��	 ����� ���#�� � 	� ���	 α
�	�	 ��	
2���� %	
�� 
� α ' 
� #��������	" ω" �����
��	
��" �	
%� �� 
	 ������
���������	
	 �� 7����	 6�H4" 
��
� 
������ 
�%� �����

,�!� 2��
 ���	��
� �� �
 	
������
�	�
 α+���	
�
�� ���
��� ������	
	��
� ���	��	�
�

+��%	 ����" �� �����
��	 
	 �������
	���� α=��
��� 
� N  �����	� �����=
��������� 	 M �����
�� 
� ��	 ���	
 �����
	
" x[n]" ��� #��������	 
������	
ω0 = 2π/T0 = 2πM/N �

x[n] = A sin (ω0n + Φ0) = A sin
(

2π
N

M
n + Φ0

)
,

����
� 0 ≤M ≤ N − 1 ' 0 ≤ ω0 ≤ 2π�



4HO ��9�
��� �� <	��	��	 ' ��	%�
	
 
� �������
	���� α=��
���

�
x(t) ���%�

�T�

x[n]

�
7�
���
�������
dα[n]

� ���%�
�T�

�
7�
���
��
������

βα (t)

sα(t)

�

� ���%�
�T�

�
�������
8���	

∆ (t)

L(t)

�
��
��^

=

�
J(t)

.	���� ��$� )�2�� 	 
� ��
��
� 
�
 ���	 ����
�	
 α=��
����

�	�	 �
 ��
��
� 
�
 ���	 ����
�	
 
� ��	 #������ �� 
�!�� 
	 ���	
 J(t) :%��
7����	 ��4; �� � 
	 
�#������	 ����� 
	 ���	
 �������
	
	 α=��
���" sα(t)" ' 
	
�������
	���� 
���	
" L(t)" �� 
����"

J(t) = sα(t)− L(t),


� #�� 	 2�� �
 ���	 ����
�	
 
� 
	 �������
	���� α=��
��� ���� ���	
 	 
	 �������	

� 
	 ���	
 J(t)" ������ 2�� �����
��	 �� ���	
�� �����
��	�" �� 
����"

�r (sα(t)) =
1

MT0

∫
MT0

[sα(t)− L(t)]2 dt

= <	� (sα(t)) +<	� (L(t))− 2
MT0

∫
MT0

sα(t)L(t)dt.

:��K;

)� 
	 	������� �3�������" 
�� 
�� ��� ���� �9� ���� ���
�� ��� �%	
�	
��
���
��	�
� :��6;�� ,������� 	
 �
�� � �9� ���" �� �����
� �� ��
��
� ���
��	�
�
:6�4I; ' �
 0��0� 
� 2�� 
	 �������
	���� 
���	
 �� ��  �� 2�� 
	 ���%�
����� 
�

	�  �����	� 
� 
	 ���	
 ��� 
	 #������ ∆ (t) = βα (t) |α=0� �� ���	 #�� 	" ��
�������

IA =
1

MT0

∫
MT0

sα(t)L(t)dt

=
1
N

∫
N

(
N∑

n=1

c[n]βα (t− n)

)(
N∑

n=1

x[n]∆ (t− n)

)
dt.

(	����
� ��� 
�
 ������� �� �	��� 
� 
	� #�������� ∆ (t) ' βα (t)" ' 
� 
	
�����
���
	
 �	��� 
� 
	 ��������	 x[n] �� � 
� 
�� ���!������� α=��
��� c[n]"

�2�
� !�� �� �
����������
 ��
��� � ������ �� �
 ���� ���������� 
� �� �
����������
 α7����
�
B���

� α = 0C� �� �����
E�� ���

� B'�4C� ������� ;�� (L(t)) = A2(2 + cos ω0)/6�
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�	
 
� ���	
�� 
���� �����	� �����
��	� 4HK

����
�	

IA =
1
N

N∑
k=1

c[k]

⎛
⎝ 2∑

j=−2

f [k + j]
∫ ∞

−∞
βα (x− k)∆ (x− k + j) dx

⎞
⎠

=
IA0

N

N∑
k=1

c[k]f [k] +
2IA1

N

N∑
k=1

c[k]f [k + 1] +
2IA2

N

N∑
k=1

c[k]f [k + 2],

:��H5;


��
�

IAn =
∫ ∞

−∞
βα (x) ∆ (x− n) dx = IA−n, :��HH;

��'�� %	
���� �� ��
�� ���

IA0 =
3α3 − 10α2 + 40

60
,

IA1 =
−2α3 + 5α2 + 10

60
,

IA2 =
α3

120
.

8�� ���!������� α=��
��� 
� ��	 �������
� �����
��	 %����� 
	
�� ���

c[n] = x[n] · Dα(z)|z=ejω0 = A sin (ω0n + Φ0)
3

3 + α(cos ω0 − 1)
,

��� 
� 2�� 
�� �� 	������ 
� :��H5; �� 	� �
 %	
��

N∑
n=1

c[n]x[n + k] =
3A2

3 + α(cos ω0 − 1)

N∑
n=1

sin (ω0n + φ0) sin (ω0(n + k) + φ0)

=
A2N

2
3 cos (ω0k)

3 + α(cos ω0 − 1)
.

7��	
 ����" :��H5; �� ��������� �� �

IA =
A2

2
3

3 + α(cosω0 − 1)
(IA0 + 2 cos (ω0)IA1 + 2 cos (2ω0)IA2) . :��H4;

��� 
� �	���" �������'��
� :��H4; ' :��6; �� :��K;" �
 ���	 ����
�	
 
� 
	
�������
	���� α=��
��� 
� ��	 ���	
 �����
	
 
� 	 �
���
 A ' #��������	 ω0

�� 	 �
 %	
��

�r (sα(t)) =
A2

2
9 (I0 + 2 cos (ω0)I1 + 2 cos (2ω0)I2 + 2 cos (3ω0)I3)

[3 + α(cos ω0 − 1)]2

+
A2

2
2 + cosω0

3

− A2

2
6 (IA0 + 2 cos (ω0)IA1 + 2 cos (2ω0)IA2)

3 + α(cos ω0 − 1)
,

:��HI;
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� �������
	���� α=��
���


��
� 
	� ������	
�� 
����	
	� ��� In � IAn ��� ��
��� ��� �� α ��� %	
�� 
	
�
��� :��L; ' :��HH;" ��������%	 �����
)� 
�!����%	" �
 ���	 ����
�	
 
� 
	 �������
	���� α=��
��� 
� �� ���	
 �����=


	
 
� 	 �
���
 ����	��	 
����
�" �3�
���%	 ����" 
� �� #��������	 
������	 ω
' 
�
 %	
�� 
�
 �	�� ���� 
� ��	%�
	
 α" ����� 
	 �3�������

�r (α, ω) =
9 (I0 + 2 cos (ω)I1 + 2 cos (2ω)I2 + 2 cos (3ω)I3)

[3 + α(cos ω − 1)]2

− 6 (IA0 + 2 cos (ω)IA1 + 2 cos (2ω)IA2)
3 + α(cos ω − 1)

+
2 + cosω0

3
,

:��H6;

�
 ���	
 2�� ������	 ��� 
	 %	��	��	 ' 
	 ��	%�
	
 
� 
	 �������
	����
α=��
���" �
 ���	 ����
�	
 
	
	 ��� 
	 	������� �3������� �� ��	 #������  �=
�����	 ��������� 
�
 �	�� ���� 
� ��	%�
	
 α �	�	 ��	
2���� #��������	" ω"
�����
��	
	� [���	 ���� �3���� ��	 ��2���	 ������ ���3� 	 	 
	 #��������	 
�
+'2���� ' �	�	 %	
���� 
� α ���3� �� 	 ��� :%�� 
	 7����	 6�H4; �� 
��
� �

���	 ����
�	
 �� �������	 ���� �����	���" 	��2�� 
���������� ��� �������� 	 α�
�� 
	 ���	
 	 �������
	� #���	 ��	 ��������	 	�����	��	" x[n]" �
 ���	 ����
�	



� 
	 �������
	���� α=��
��� �� ��
��	 �	
��
	� 	 �	���� 
� �� �7�" X [k]" ' 
	
#������ :��H6;�

�r (sα(t)) =
1

N2

N−1∑
k=1

|X [k]|2�r (α, ω = 2πk/N) ,

,�"� 2��
 ���	��
� �� �
 	
������
�	�
 α+���	
�
�� ���
��� 
��
���	
�

)� �
 �	�� 
� �����
��	� 
	 �������
	���� α=��
��� 
� ��	 ���	
 	
�	����	"
X[n]" ��� 	��������
	���� RX[n] ' 
����
	
 �������	
 
� �������	 |SX(ω)|2"
�
 �������� 
�
 ���	 ����
�	
 �� ���
� ���	�
���� �� � 
	 �������	 
� 
	 ���	

	
�	����	 J(t) ���������	
	 �� 
	 7����	 ��4� �� 
��0	 !���	 ��
� �� ����
���
2�� �
 ����� 	 2�� �	
��
	 �
 ���	 ����
�	
 
� 
	 �������
	���� α=��
��� �����
��	 ��������	 	
 � ��
��

hJ(t) = ηα(t)−∆ (t) ,

' ��	 ��������	 �� #��������	

HJ (Ω) = Hα(Ω)−H∆ (Ω) = sinc 2(Ω/2π)
(

3 sinc 2(αΩ/2π)
3− α(1− cosΩ)

− 1
)

.

��� 
� �	���" 
	 	��������
	���� 
� 
	 �	
�
	" RJ(τ)" ����

RJ(τ) = RX[n] ∗ (hJ(τ) ∗ hJ(−τ)) ,



��L &��	 ����
�	
 
� ���	
�� 	
�	����	� 44H

'" �����
��	�
� :��L; ' 
	 �� ����	 
� 
	� #�������� ηα(x) ' ∆ (x) 2�� �����%��=
���" �� �����
� ��������

RJ(τ) = RX[n] ∗ [ηα(τ) ∗ ηα(τ) + ∆ (τ) ∗∆ (τ)− 2ηα(τ) ∗∆ (τ)] . :��HL;

7��	
 ����" �	�����
	���	�
� ���	 �
�� 	 �3������� �	�	 τ = 0" �� �������
�
 ���	 ����
�	
 
� 
	 �������
	���� α=��
����

+����� #
*��

 2�����


�� �
 ������� 	 �������
	� �� �
	��� ' 
�  �
�	 ��
	" �� 
����" RX[n] =
σ2
Xδ[n]" ��������" 0	����
� ��� 
� :��HL;" 
	 �������	 
�
 ���	 ����
�	
 
� 
	
�������
	���� α=��
��� �� ���
� �������� �� �

�r (Sα) = σ2
XRJ(0) = <	� (Sα) + <	� (Sα)|α=0 − 2σ2

X

∫ ∞

−∞
ηα(τ)∆ (τ) dτ,


��
� <	� (Xα) �� 
	 %	��	��	 
� 
	 �������
	���� α=��
��� ' <	� (Xα)|α=0 
	
%	��	��	 
� 
	 �������
	���� 
���	
@ ��'�� %	
���� %���� 
	
�� ��� :��O;� )�
��	��� 	 
	 ������	
" 9��	 �� ���
� �	
��
	� �� �∫ ∞

−∞
ηα(t)∆ (t) dt = 2

∫ 1

0

(∑
n∈Z

dα[n]βα (t− n)

)
(1− n)dx

= 2
∑
n∈Z

dα[n]
∫ 1

0

(1 − t)βα (t− n) dx,


��
�" 
���
� 	
 ������� 
��	
 
� 
	 #������ βα (t) " 
	 ������	
 ����	 ����
�� 	 %	
���� �� ��
�� �	�	 n = −1, 0, 1, 2� ��	� �����	� ����	������ 	
����	��	�
�� ������� 
	 �������	 
�
 ���	 ����
�	
 
� 
	 �������
	���� α=��
��� �� #������

�
 ��
� z1 
�
 !
��� 
������ α=��
����

�� 0 ≤ α ≤ 1
2 " ��������

�r (Sα) = 2σ2
Xz2

1

35z6
1 − 35z5

1 − 376z4
1 + 380z3

1 + 1985z2
1 + 895z1 + 140

105(z1 − 1)4(z1 + 1)3
.

�� 1
2 ≤ α ≤ 1" ��������

�r (Sα) =
−σ2

X

1632960z4
1(z1 − 1)4(z1 + 1)3

[
z18
1 + 69z17

1 + 2034z16
1

+ 33108z15
1 + 319128z14

1 + 1784664z13
1 + 3832668z12

1

+ 2437620z11
1 − 8374158z10

1 − 25010630z9
1 − 31920144z8

1

− 23353956z7
1 − 10406256z6

1 − 2787792z5
1 − 550332z4

1

−60516z3
1 − 3867z2

1 − 135z1 − 2
]
;
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	 �������
	���� α=��
��� 
� ���	
�� �
	��	� :��=
2����
	; ' �� 
���%	
	 �������� 	 α :
����0	;�

#������ 2��" �� � �� �����	�	 ' �� �����%	 �� 
	 7����	 ��I" 
������  ������	=
 ���� ��� z1" ��� 
� 2�� �����  ������	 ���� ��� �������� 	 α" �� 
����" �	�	
�� ������� �
	���" �
 ���	 ����
�	
 
� 
	 �������
	���� α=��
��� ����� ���#�� �
	� ���	 �� �
 �	�� ���� 
� ��	%�
	
 α�

+����� #
*��

 ��
������
 

������



�������
� �
 �	���	 ����� ���%�	 ���� 
��	���

	
� �	�	 �
 ��
��
� 
� 
	
��	%�
	
 ' 
	 %	��	��	 
� 
	 �������
	���� α=��
��� 
� ���	
�� 	
�	����	� �����=

	
��" �
 ���	 ����
�	
 
� �� ������� ����������� 
� #��������	 ω0 ' %	��	��	 σ2

X

���
�� ��	 �3������� �� �
	� 	 :��HI;� )� ���������

�r (Sα) = σ2
X

9 (I0 + 2 cos (ω0)I1 + 2 cos (2ω0)I2 + 2 cos (3ω0)I3)
[3 + α(cos ω0 − 1)]2

+ σ2
F

2 + cosω0

3

− σ2
F

6 (IA0 + 2 cos (ω0)IA1 + 2 cos (2ω0)IA2)
3 + α(cosω0 − 1)

.



�������� �

)*������	�� �� �� ����
α�����	� 	� �	�"����

7��� ������	�
�� �� �
 %
�� α+���	
� 
� �
	'����

8	� �3��������� 
� 
	 �	�� α=��
��� �� ���#�� �" βα (t)" ���������
����� 	

%����� �� 
���������� 
� ��
�� [t0, t1, t2, t3, t4] ' �����
��	�
� �
 %����� 
��=
�	���	 ����� ��
�� [h1, h2, h3, h4]" �� �������� ������	�
� ���� %���� :6�MO; �
�����
�����
� 
�� %	
���� 
� :6�J5;�

)� �
 �	�� 
� 2�� 0 ≤ α ≤ 0,5�

• �� t1 − αh1 < t < t1"

βα (t) =
(t− t1 + αh1)3

α2h1(h1 + h2)(αh1 + (3− 2α)h2 + αh3)
.

• �� t = t1"

βα (t) =
αh2

1

(h1 + h2)(αh1 + (3− 2α)h2 + αh3)
.

• �� t1 < t < t1 + αh2"

βα (t) =
α3h2

1h2 + 3α2h1h2(t− t1) + 3αh2(t− t1)2 − (t− t1)3

α2h2(h1 + h2)(αh1 + (3− 2α)h2 + αh3)
.
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• �� t = t1 + αh2"

βα (t) =
αh1 + 2αh2

(αh1 + (3 − 2α)h2 + αh3)
.

• �� t1 + αh2 < t < t2 − αh2"

βα (t) =
αh1 + 2αh2 + 3(t− t1 − αh2)

(αh1 + (3 − 2α)h2 + αh3)
.

• �� t = t2 − αh2"

βα (t) =
αh1 + (3 − 4α)h2

(αh1 + (3 − 2α)h2 + αh3)
.

• �� t2 − αh2 < t < t2"

βα (t) =
αh1 + 2αh2 + 3(t− t1 − αh2)

(αh1 + (3 − 2α)h2 + αh3)

− [αh1 + (3− α)h2 + (3− α)h3 + αh4](t− t2 + αh2)3

α2h2(h2 + h3)(αh1 + (3− 2α)h2 + αh3)(αh2 + (3− 2α)h3 + αh4)
.

• �� t = t2"

βα (t) =
αh1 + (3− α)h2

(αh1 + (3 − 2α)h2 + αh3)

− αh1 + (3− α)h2 + (3− α)h3 + αh4

(h2 + h3)(αh1 + (3− 2α)h2 + αh3)(αh2 + (3− 2α)h3 + αh4)
αh2

2.

• �� t2 < t < t2 + αh3"

βα (t) =
αh4 + 2αh3 + 3(−t + t3 − αh3)

(αh4 + (3− 2α)h3 + αh2)

− [αh4 + (3 − α)h3 + (3− α)h2 + αh1](−t + t2 + αh3)3

α2h3(h3 + h2)(αh4 + (3− 2α)h3 + αh2)(αh3 + (3− 2α)h2 + αh1)
.

• �� t = t2 + αh3"

βα (t) =
αh4 + (3 − 4α)h3

(αh4 + (3 − 2α)h3 + αh2)
.

• �� t2 + αh3 < t < t3 − αh3"

βα (t) =
αh4 + 2αh3 + 3(−t + t3 − αh3)

(αh4 + (3− 2α)h3 + αh2)
.
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• �� t = t3 − αh3"

βα (t) =
αh4 + 2h3

(αh4 + (3− 2α)h3 + αh2)
.

• �� t3 − αh3 < t < t3"

βα (t) =
α3h2

4h3 + 3α2h4h3(−t + t3) + 3α(−t + t3)2 − (−t + t3)3

α2h3(h4 + h3)(αh4 + (3− 2α)h3 + αh2)
.

• �� t = t3"

βα (t) =
αh2

4

(h4 + h3)(αh4 + (3− 2α)h3 + αh2)
.

• �� t3 < t < t3 + αh4"

βα (t) =
(−t + t3 + αh4)3

α2h4(h4 + h3)(αh4 + (3− 2α)h3 + αh2)
.

• �� t ≤ t1 − αh1 � t ≥ t3 + αh4"

βα (t) =0.

�� �� �����
��	 0,5 ≤ α ≤ 1�

• �� t1 − αh1 < t < t1"

βα (t) =
(t− t1 + αh1)3

α2h1(h1 + h2)(αh1 + (3− 2α)h2 + αh3)
.

• �� t = t1"

βα (t) =
αh2

1

(h1 + h2)(αh1 + (3− 2α)h2 + αh3)
.

• �� t1 < t < t2 − αh2"

βα (t) =
α3h2

1h2 + 3α2h1h2(t− t1) + 3αh2(t− t1)2 − (t− t1)3

α2h2(h1 + h2)(αh1 + (3− 2α)h2 + αh3)
.
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• �� t = t2 − αh2"

βα (t) =
α3h2

1 + (1 − α)h2(3α2h1 + (1 − α)(4α− 1)h2)
α2(h1 + h2)(αh1 + (3 − 2α)h2 + αh3)

.

• �� t2 − αh2 < t < t1 + αh2"

βα (t) =
α3h2

1h2 + (1 − α)h2
2(3α2h1 + (1− α)(4α− 1)h2)

α2h2(h1 + h2)(αh1 + (3 − 2α)h2 + αh3)

+
3h2(α2h1 + (1− α)(3α− 1)h2)(t− t2 + αh2)

α2h2(h1 + h2)(αh1 + (3− 2α)h2 + αh3)

+
3h2(2α− 1)(t− t2 + αh2)2 − (t− t2 + αh2)3

α2h2(h1 + h2)(αh1 + (3− 2α)h2 + αh3)

− [αh1 + (3− α)h2 + (3− α)h3 + αh4](t− t2 + αh2)3

α2h2(h2 + h3)(αh1 + (3− 2α)h2 + αh3)(αh2 + (3− 2α)h3 + αh4)
.

• �� t = t1 + αh2"

βα (t) =
αh1 + 2αh2

(αh1 + (3 − 2α)h2 + αh3)

+
[αh1 + (3− α)h2 + (3 − α)h3 + αh4](1 − 2α)3h2

2

α2(h2 + h3)(αh1 + (3− 2α)h2 + αh3)(αh2 + (3− 2α)h3 + αh4)
.

• �� t1 + αh2 < t < t2"

βα (t) =
αh1 + 2αh2 + 3(t− t1 − αh2)

(αh1 + (3 − 2α)h2 + αh3)

− [αh1 + (3− α)h2 + (3− α)h3 + αh4](t− t2 + αh2)3

α2h2(h2 + h3)(αh1 + (3− 2α)h2 + αh3)(αh2 + (3− 2α)h3 + αh4)
.

• �� t = t2"

βα (t) =
αh1 + (3− α)h2

(αh1 + (3 − 2α)h2 + αh3)

− [αh1 + (3− α)h2 + (3 − α)h3 + αh4]αh2
2

(h2 + h3)(αh1 + (3− 2α)h2 + αh3)(αh2 + (3− 2α)h3 + αh4)
.

• �� t2 < t < t3 − αh3"

βα (t) =
αh4 + 2αh3 + 3(−t + t3 − αh3)

(αh4 + (3− 2α)h3 + αh2)

− [αh4 + (3 − α)h3 + (3− α)h2 + αh1](−t + t2 + αh3)3

α2h3(h3 + h2)(αh4 + (3− 2α)h3 + αh2)(αh3 + (3− 2α)h2 + αh1)
.
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• �� t = t3 − αh3"

βα (t) =
αh4 + 2αh3

(αh4 + (3− 2α)h3 + αh2)

+
[αh4 + (3 − α)h3 + (3− α)h2 + αh1](1− 2α)3h2

3

α2(h3 + h2)(αh4 + (3− 2α)h3 + αh2)(αh3 + (3− 2α)h2 + αh1)
.

• �� t3 − αh3 < t < t2 + αh3"

βα (t) =
α3h2

4h3 + (1− α)h2
3(3α2h4 + (1− α)(4α− 1)h3)

α2(h4 + h3)(αh4 + (3− 2α)h3 + αh4)

+
3h3(α2h4 + (1− α)(3α − 1)h3)(t− t2 − αh3)

α2(h4 + h3)(αh4 + (3− 2α)h3 + αh4)

+
3h3(2α− 1)(t− t2 − αh3)2 − (t− t2 − αh3)3

α2(h4 + h3)(αh4 + (3 − 2α)h3 + αh4)

− [αh4 + (3− α)h3 + (3 − α)h2 + αh1](t− t2 + αh3)3

α2h3(h3 + h2)(αh4 + (3− 2α)h3 + αh2)(αh3 + (3− 2α)h2 + αh1)
.

• �� t = t2 + αh3"

βα (t) =
α3h2

4 + (1− α)h3(3α2h4 + (1− α)(4α− 1)h3)
α2(h4 + h3)(αh4 + (3− 2α)h3 + αh2)

.

• �� t2 + αh3 < t < t3"

βα (t) =
α3h2

4h3 + 3α2h4h3(−t + t3) + 3α(−t + t3)2 − (−t + t3)3

α2h3(h4 + h3)(αh4 + (3− 2α)h3 + αh2)
.

• �� t = t3"

βα (t) =
αh2

4

(h4 + h3)(αh4 + (3− 2α)h3 + αh2)
.

• �� t3 < t < t3 + αh4"

βα (t) =
(−t + t3 + αh4)3

α2h4(h4 + h3)(αh4 + (3− 2α)h3 + αh2)
.

• �� t ≤ t1 − αh1 � t ≥ t3 + αh4"

βα (t) =0.
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�������� �

�������� α�����	�

���� ,������
�	�
�� ��� �9��	
� �� �����
�	�
+
�	�


)� ���� 	�9�
��� �� 
� �����	 2�� �
 �9� ��� 
� ����
	���	���� :L�H6;"
���������
����� 	 
�� �	��� 
�
  �
�
� α�G8 ���	�	
	� ��	 
���	���	 b ≥ 0"
����� �� �� ����	 �����  ������� 
���������� ��� �������� 	
 �	�� ���� 
�
��	%�
	
 α ≥ 0 �	�	 ��	
2���� %	
�� 
� b ' 
� 
	� �����	���� c1 ' c2� ����%	�
�

	 �3������� :L�H6; ��� �������� 	 α �� �������

d||P 2
s f ||2

dα
=

⎧⎪⎪⎨
⎪⎪⎩

−8
3α2 (c2

1 + c2
2), α ≤ b/2;

−8
3α2

(
c2
1 + c2

2 + 2c1c2
(2α−b)2

α2

(
2α−b

α − 3
2

))
, b/2 ≤ α ≤ b;

−8
3α2

(
c2
1 + c2

2 + 2c1c2
2(3b3+4α3−6b2α)

3α4

)
, α ≥ b.

:)�H;
)� �%�
���� 2�� 
	 	������� �3������� �� ���	��%	 �	�	 α ≤ b/2� )� �
 �	��


� 2�� b/2 ≤ α ≤ b" �� ���
� ���������� :)�H; �� �

d||P 2
s f ||2

dα
=
−8
3α2

[
c2
1 + c2

2 + 2c1c2θ1

(
2α− b

α

)]
, :)�4;

����
� θ1(x) = x2(x− 3/2)� ,����
	�
� 2�� �
 �	�� ���� 
� ��	%�
	
 ��� ���
�� ������%� ' 2��" �� ���� �	��" b/2 ≤ α ≤ b" �������� 0 ≤ 2α−b

α ≤ 1" ��� 
� 2��∣∣∣∣θ1

(
2α− b

α

)∣∣∣∣ ≤ 1;

����
�	�
� 2�� :)�4; �� �� ������%	" 
	
� 2�� ��� ��� �� �� �
� 2�� c2
1 + c2

2 +
2kc1c2 ≥ 0 �� |k| ≥ 0�
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 #�� 	" ��	�
� α ≥ b" �� �����
� �3����	� :)�H; �����

d||P 2
s f ||2

dα
=
−8
3α2

[
c2
1 + c2

2 + 2c1c2θ2

(
b

α

)]
, :)�I;

����
� θ2(x) = (6x3 − 9x2 + 2)/2� ������ 2�� α ≥ 0" b ≥ 0 ' α ≥ b" ��������
0 ≤ b

α ≤ 1� 7��	
 ����" �� 
� �����	 2��∣∣∣∣θ2

(
b

α

)∣∣∣∣ ≤ 1,

��� 
� 2��" 0	����
� ��� 
� 
	 
�����	
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